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REVISION

—— o - - -

PROGRAM HISTORY
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SUPPORT CODE.
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ABSTRA(CT

- - - - -

THE TWO PROGRAMS:
C(JKDCB, CJKDDB

ARE DESIGN TO DETECT AND REPORT LOGIC FAULTS IN THE
F=11 MMy AND FLOATING POINT CHIP SET. THE

DESIGN IS AN ATTEMPT TO REACH ALL MIRCO-CODE LOCATIONS.
TESTS ARE PARTITIONED INTO TWO STAND-ALONE PROGRAMS
DESCRIBED BELOW.

NOTE THAT ERROR REPORTS IN THESE PROGRAMS ARE BASED

UPON THE KNOWIEDGE THAT ALL PREVIOUS TESTS (CPU, "WMU) HAVE
BEEN UN AND IN MOST CASE THAT THERE IS ONLY A SINGLE
POINT FAULT EXISTS. IF THE PROGRAMS OR TESTS

IA\?ELRMA)&RLN IN ORDER THEN ERROR MESSAGES MAY NOT BE

A. CJKD(B

CJKDCB TESTS: (FLOATING POINT TEST 1)
LDFPS
STFPS
CFCC
ggg;. SETD, SETI AND SETL
LDF AND LDD (ALL SOURCE MODES)
STD (MODE O AND 1)
ADDF, ADDD AND SUBD (MOST CONDITIONS)
ADDF, ADDD AND SUBD (ALL CONDITIONS NOT
TESTED IN DFIPA)
CMPD AND CMPF

DIVD AND DIVF
MULD AND MULF
MODD AND MODF

B. CJKDDA

CJKDDA TESTS: (FLOATING POINT TEST 2)
STF AND STD (ALL MODES)
STCFD AND  STCDF
CLRD AND CLRF
NEGF AND NEGD
ABSF AND ABSD
TSTF AND TSTD
NEGF, ABSF AND TSTF (ALL SOURCE MODES)
NEGF, ABSF AND TSTF (ALL SOURCE MODES)
LDFPS (ALL SOURCE MODES)
LDCIF AND LDCLF
LDCID AND LDCLD
LDEXP
STFPS (ALL DESTINATION MODES)
STCFL AND STCFI
STCDL AND STCDI
STEXP
STST

2 0004




2.2

2.3

4.2

W)
.

REQUIREMENTS

- - -~ - -

EQUIPMENT

A PROCESSOR WITH THE DCF11-AA, KTF11~AA AND KEF11-A CHIP SET.

STORAGE

BOTH PROGRAMS REQUIRE A MEMORY SYSTEM OF AT
LEAST 16K TO LOAD AND RUN.

PREL IF INARY PROGRAMS
THESE TWO DIAGNOSTICS WILL ASSUME THAT THE
BASIC CENTRAL PROCESSOR IS FAULTLESS, THEREFORE

WHEN IN DOUBT RUN THE DCF11-AA PROCESSOR DIAG-
NOSTICS BEFORE THESE FLOATING POINT DIAGNOSTICS.

LOADING PROCEDURE

THE PROGRAMS WILL BE SUPPLIED ON THE 11/23
DIAGNOSTIC MEDIA. REFER TO THE XXDP OPERATING
MANUAL FOR FURTHER INFORMATION,

STARTING PROCEDURE

CONTROL SWITCH SETTINGS
SEE SECTION 5.1
PROGRAM AND OPERATOR ACTION

LOAD PROGRAM INTO MEMORY

LOAD ADDRESS 200

SET CONSOLE SWITCHES (IF CONSOLE IS PRESENT)
PRESS START

ON FIRST PASS THE PROGRAM

WILL IDENTIFY ITSELF. NOTE THAT IF THERE 1S
NO PHYSICAL CONSOLE THE PROGRAM WILL REQUEST
THE OPERATOR FOR INITIAL VALUE FOR THE
SOF TWARE SWITCH REGISTER (SEE SECTION 8.5).
IF RUNNING UNDER ACT, APT OR CHAIN THIS DOES
NOl APPLY.

5. THE PROGRAM WILL .OOP AND AN END OF PASS WILL
BE TYPED AT THE END OF EVERY PASS.

OPERATING PROCEDURE

Ny —
s s s

OPERATIONAL SWITCH SETTINGS

SEQ 0005




6.2

8.1

THE SWITCH SETTING ARE:
OCTAL

Sw<15>=1..,. 100000 HALT ON ERROR
Sw<14>=1_ ., 40000 LOOP ON CURRENT TEST
Sw<13>=1... 20000 INMIBIT ERROR TYPE QUTS
Sw<12>=1. .. 10000 INHIBIT T-BIT TRAPPING
SW<11>=1, .. 4000 INHIBIT ITERATIONS
SW<10>=1., .. 2000 RING TTY BELL ON ERROR
Sw<od=1, ... 1000 LOOP ON ERROR
Sw<8>=1.... 400 LOOP ON TEST SPECIFIED IN SW<t>

THROUGH Sw<0>

ERRORS

SUMMARIES

WHEN AN ERROR IS ENCOUNTERED, AN ERROR MESSAGE ACCOMPANIED

8Y THE ERROR PC ARE TYPED,

THERE ARE FOUR STANDARD ERROR MESSAGES USED, DESCRIBING

THL PROBABLE CAUSE OF FAJLURE, SUCH AS: PROBABLY BAD MMU (HIP;
BAD FP1 CHIP; BAD HYBRID FP CHIP: FLOATING POINT ERROR.

ERROR RECOVERY

SW<15:9>=0... MOST ERRORS WILL CAUSE EXECUTION TO
GO TO THE START OF THE NEXT TEST
AFTER THE MESSAGE IS TYPED. A FEW
TESTS ARE IN SECTIONS. IN THESE
TESTS AN ERROR WILL CAUSE EXECUTION
TO GO TO THE NEXT SECTION AFTER THE
MESSAGE IS TYPED.

SwW<15>=1_ . THE PROGRAM WILL HALT AFTER TYPING
THE ERROR MESSAGE. PRESSING THE
CONSOLE (ONTINUE WILL CAUSE  THE
PROGRAM TO CONTINUE AS IF Sw<15>=0,

RESTRICTIONS

—— o - —— -

MISCELLANEOUS

EXECUTION TIMES
LESS THAN 2 SECONDS FOR EACH PROGRAM ON ANY PASS.

SEQ 000¢




o a

8.2

8.3

8.4

8.5

8.6

STACK PQOINTER

TIHE STACK POINTER IS INITIALIZED TO 1100 IN EACH OF
THE TWO PROGRAMS.

PASS COUNT

THE PROGRAM MAKES ONE PASS FOR EACH END OF PASS
MESSAGE TYPED THE END OF PASS MESSAGE DESCRIBES
THE TOTAL NUMBER OF PASSES COMPLETED.

T-BIT TRAPPING

IF Sw<12>=0 EACH PROGRAM WILL RUN WITH TRACE TRAPS
ON EVERY OTHER PASS,  FIRST PASS WILL NOT ENABLE
TRACE TRAPS. NOTE SW<12>=1 DISABLES T-BIT TRAPS.

SOF TWARE SWITCH REGISTER

EACH OF THE TWO PROGRAMS WILL RUN WITH DR WITHOUT

A CONSOLE SWITCH REGISTER. IF A PHYSICAL CONSOLE
SWITCH REGISTER 1S PRESENT ON THE SYSTEM, THEN THESE
PROGRAMS WILL GO AHEAD AND USE IT FOR THE SWITCH
FUNCTIONS DESCRIBED IN 5.1 ABOVE. IF HOWEVER THERE
IS NO C(ONSOLE SWITCH REGISTER ON THE SYSTEM A
SOFTWARE SWITCH REGISTER WILL BE  USED. THIS
SOF TWARE SWITCH REGISTER CAN BE EXAMINED OR MODIF JED
AT ANY TIME BY THE USER IF HE TYPES CONTROL G WHILE
THE PROGRAM IS RUNNING. THIS CONTROL G WiLL CAUSE
THE CONTENTS OF THE SOFTWARE SWITCH REGISTER TO BE
TYPED ON THE TTY AND ASK THE USER FOR A NEW VALUE.
WHEN THE USER TYPES A VALUE AND CARRIAGE RETURN THEN
THE PROGRAM WILL RESUME TESTING AT THE SAME POINT AT
WHICH IT LEFT OFF WHEN THE USER TYPED C(ONTROL G.
NOTE THAT WHEN NOT RUNNING UNDER ACT, APT OR CHAIN
THE USER WILL BE ASKED FOR A SOFTWARE SWIT(H
REGISTFR  VALUE  AFTER LOADING ADDRESS 200 AND
STARTING THE PROGRAM THE FIRST TIME THE PROGRAM IS
RUN AFTER LOADING (ONLY IF NO C(ONSOLE SWITCH
REGISTER IS ON THE SYSTEM).

ACT, APT AND XXDP COMPATIBILTY
THESE PR%F;_AMS ARE FULLY COMPATIBLE WITH:

ACT
XXDP MONITOR AND CHAIN PROGRAMS.

PROGRAM DESCRIPTION

SEQ i 7




-t on - -

TEST 2

- o ——

TEST 3

TEST 4

TEST 5

LDFPS, STFPS AND DATA PATHS TEST

THIS IS A TEST OF THE LDFPS (LOAD FLOATING PQINT
STATUS., AND STFPS (STORE FLOATING POINT STATUS)
INSTRUCTIONS. VARIOUS PATTERN ARE USED AND RUN
THROUGH THE FLOATING POINT STATUS REGISTER.

ONLY DMO AND SMO ARE USED. NOTE THAT A

MASK MUST BE USED BECAUSE SOME OF THE FPS BITS
CANNOT BE SET.

CFCC TEST

- - - - -

THIS IS A TEST OF 7THE COPY (CONDITION  CODES
INSTRUCTION, CFCC.

SETF, SETD, SET] AND SETL TEST

THIS IS A TEST OF THE SETF, SETD, SET] AND SETL
INSTRUCTIONS. EACH INSTRUCTION 1S EXECUTED WITH THE
FPS CONTAINING ALL ONES AND ALSO WITH THE FPS CLEAR.
THE RESULT OF EACH SITUATION IS CHECKED.

ILLEGAL FPP OP CODES AND STST TEST

THIS IS A TEST OF THE FPP OPERATION CODES:

170003
170004

170010
170013
170014

170077

THESE ARE ILLEGAL INSTRUCTIONS AND WITH INTERRUPTS
ENABLED SHOULD CAUSE A TRAP TO 244. ALSO TESTED
HERE IS THE INSTRUCTION: STST R1, WHICH SHOULD PUT
THE FEC CODE 2 IN R1, AFTER ANY OF THE ABOVE OP
(ODES 1S EXECUTED.

FID, INTERRUPT DISABLE, BIT TEST

THIS IS A TEST OF FPS BIT 14 (FID) OR FLOATING
INTERRUPT  DISABLE. AN ILLEGAL INSTRUCTION 1S
EXECUTED WITH FID-1. NO INTERRUPT SHOULD OCCUR.

SEQ 0008




TEST 6 LDD AND STD, WITH SRC AND DST MODE 1, TEST SEQ 000°

THIS IS A TEST Of BOTH THE INSTRUCTION:

LDD (RO) ,ACO
AND THE INSTRUCTION:

STD ACO, (RO) MOST OF THE
FAILURES ARE ISOLATED TO THE SRC OR DST FLOWS. NOTE
THAT THE INTEGRITY OF ACO HAS NOT BEEN ASSURED.
THIS MEANS THAT IN SOME CASES IT WILL BE IMPOSSIBLE
TO ISOLATE CERTAIN DATA PATTERN FAILURES TO EITHER
THE FLOWS OR THIS ACCUMULATOR.

TEST 7 FSRC MODE O TEST

THIS IS A TEST OF FSRC MODE ZERO USING THE LDD AND
LDF INSTRUCTIONS.

TEST 10 FDST MODE O TEST

-

THIS IS A TEST OF THE STORE INSTRUCTIONS, STD AND
STF, WITH FDST MODE C.

TEST N ACCUMULATORS DATA PATTERNS TEST

THIS IS A TEST OF THE FLOATING POINT PROCESSOR
ACCUMULATORS.

EACH ACCUMULATOR IS TESTED IN TWO WAYS:
1 TEST PATTERN GENERATED BY FLOATING A
ONE ACROSS A FIELD OF ZEROES.
2 TEST PATTERN GENERATED BY FLOATING A
ZERO ACROSS A FELD OF ONES.
EACH OF ACCUMULATORS ACO THROUGH ACS5 IS TESTED.
TEST 12 FPP ACCUMULATORS DUAL ADDRESS TEST

——— —————

THIS TEST PERFORMS A DUAL ADDRESSING TEST ON THE
FLOATING ACCUMULATORS. NOTE THAT ACCUMULATOR ZERO
IS USED TO ACCESS ALL THE OTHERS.

TEST 13 FSRC MODE O WITH ILLEGAL ACCUMULATOR TEST

——— ———— -

THIS IS A TEST OF FSRC MODE O WITH ACCUMULATORS 6
AND 7. USE OF EITHER OF THESE NON~EXISTENT
ACCUMULATORS SHOULD RESULT IN A TRAP TC 244 WITH
FEC=2 (ILLEGAL FPP INSTRUCTION).




TEST 14

o - ——

- - - o

- - -

TEST 20

TEST 21

TEST 22

TEST 23

TEST 24

e o ————

FSRC MODE 2 TEST

THIS IS A TEST OF FSRC MODE 2, AUTO INCREMENT MODE.
FSRC MODE & TEST

THIS IS A TEST OF FSRC MODE &, AUTO DECREMENT MODE.
FSRC MODE 2. WITH FD=0, TEST

THIS IS A TEST OF FSRC MODE 2 WITH FD=0. (AJTO
INCREMENT)

FSRC MODE 2 WITH GR7, IMMEDIATE MODE, TEST

THIS IS A TEST OF FSRC MODE 2 USING GR7 (THE PO).
THIS IS IMMEDIATE MODE.

FSRC MODE 3 TEST

THIS IS A TEST OF FSRC MODE 3, AUTO INCREMENT
DEFERRED

FSRC MODE 5 TEST

THIS IS A TEST OF FSRC MODE 5, AUTO DECREMENT
DEFERRED.

FSRC MODE 6 TEST

THIS IS A TEST OF FSRC MODE 6, INDEX MODE
FSRC MODE 7 TEST

THIS IS A TEST OF FSRC MODE 7, INDEX DEFERRED MODE.
(BUT EZBT Y8),(BUT ENBT) AND (BUT FIUV) TEST

THIS IS A TEST OF THE (BUT EZBT YB8) FORK, THE (BUT
ENBT) FORK AND (BUT FJIUV) FORK IN THE LOAD
INSTRUCTION FLOWS.

EACH OF THE PATTERNS:

0
+NUM
=NUM
-0

SFC 0010




TEST 25

TEST 26

—— - -

TEST 27

TEST 30

TEST 31

- ot

TEST 34

IS LOADED “WICE, ONCE WITH AC>0 THEN WITH A(C=0,

AFTER EACH LOAD THE FPS IS (HECK TO INSURE THAT

CONTROL WAS PASSED THROUGH WITH THE FORKS PROPERLY.
ADDF ,ADDD, SUBF AND SUBD WITH FSR(=A(=0 TEST

THIS IS A TEST OF ADD AND SUB W1TH FSRC=AC=0
ADDD AND SUB WITH FSRC=0

THIS IS A TEST OF ADD AND SUB WITH FSR(=0.
SUBD WITH AC=0 TEST

THIS IS A TEST OF SUBD WITH AC=0. BOTH POSITIVE AND
NEGATIVE FSRC'S ARE TRIED.

ADDD WITH AC=0 TEST

POSITIVE AND NEGATIVE FSRC'S ARE TRIED.
ADDF AND ADDD WITH E(AC)=E(FSRC) AND (BUT FT) TEST

THIS IS A TEST OF THE ADD INSTRUCTION WITH THE
OPERANDS HAVING EQUAL EXPONENTS. THE (BUF FT) FORK
IN THE ROUND/TRUNK FLOWS IS ALSO TESTED.

ADDF AND ADDD WITH E(AC) LESS THAN E(FSRC) TEST

THIS IS ATEST OF THE ADDD AND ADDF INSTRUCTIONS AND
THE ALIGN AC ALGORITHM FLOWS. THE CONSTANT (25 FOR
FLOATING, 57 FOR DOUBLE) USED IS CHECKED. THEN
SIMPLE AND WORST CASE ALIGNMENT SITUATIONS ARE
TRIED. NOTE E(AC) IS LESS THEN E(FSR(C)

ADDF AND ADDD WITH E(AC) GREATER THAN E(FSRC) TEST

THIS IS A TEST OF THE ADDD AND ADDF INSTRUCTIONS AND
THE ALIGN FSRC ALGORITHM FLOWS. FIRST THE CONSTANT
USED IS CHECKED. THEN SIMPLE AND WORST  (CASE
ALIGNMENT SITUATIONS ARE TRIED. NOTE E(AC) IS
GREATER THAN E(FSRC).

ADDD WITH NEGATVE OPRANDS TEST

THIS IS A TEST OF THE ADDD INSTRUCTION WITH NEGATIVE
(T];?QSM)S. EVERY COMBINATION OF OPERAND SIGNS IS

suBD TEST

- - - ———

SEQ O




TEST 37

TEST 40

TEST 41

TEST 42

TEST 43

TEST 44

THIS IS A TEST OF THE SUBD INSTRUCTION. BOTH A
g’gLSFITI‘JE AND A NEGATIVE NUMBER [S SUBTRACTED FROM [T

NORMAL IZE ALGORITHM TEST

THIS IS A TEST OF THE NORMALIZE FLOW ALGORITHM. TWwO
PATTERNS ARE USED, FIRST THE MINIMUM SITUATION
REQUIRING ONE LEFT_ SHIFT AND THEN THE MAXIMUM
SITUATION REQUIRING 56 SHIFTS,

ROUND\TRUNK TEST

THIS IS A TEST OF THE ROUND\TRUNK FLOWS. IN
PARTICULAR TWO THINGS ARE TESTED: FJRST A CONDITION
IN WHICH ROUNDING RESULTS IN THE NEED FOR
RENORMALIZATION, AND SECOND THE PSW CONDITION CODES
N AND 7 BIT COMMBINATIONS

OVER\UNDER TEST

THIS IS A PARTIAL TEST OF THE OVER\UNDER FLOWS. ONE
OVERFLOW AND TWO UNDERFLOW CONDITIONS ARE CHECKED.
THE REMAINING UNDERFLOW COND. AND THE REMAINING
OVERFLOW COND. WILL BE CHECKED LATER USING THE XXX
INSTRUCTION. HERE EACH CONDITION TESTED IS CHECKED
BOTH WITH TRAPS ENABLED (FIU=1 QR FIv=1) AND ALSO
WITH TRAPS DISABLED (FIU=0 OR Flv=0).

LDCFD AND LDCDF TEST

THIS IS A TEST OF LDCFD AND LDCDF.
CMPD TEST

THIS 1S A TEST OF THE CMPD INSTRUCTION. NOTE THAT A
SUBROUTINE IS USED TO SET UP OPERANDS, EXECUTE THE
INSTRUCTION AND CHECK THE RESULTS

DIVD WITH (FSRC=0) AND (BUT FD) TEST

THIS IS A TEST OF THE DIVD INSTRUCTION WITH A ZERO
DIVISOR.  THE CONDITION IS CHECKED WITH BOTH TRAP
ENABLED AND TRAPS DSABLED.

DIVF TEST

THIS IS A TEST OF THE DIVF INSTRUCTION. NOTE THAT A
SUBROUTINE IS USED TO SET UP THE OPERANDS, EXECUTE
THE INSTRUCTION AND CHECK THE RESULTS.

SEQ 0012




TEST 46

TEST 47

TEST SO

TEST 51

TEST S2

TEST 53

DIVD TEST

- - - - -

THIS [S A TEST OF THE DIVD INSTRUCTION. NOTE THAT A
SUBROUTINE IS USED TO SET UP THE OPERANDS, EXECUTE
THE INSTRUCTION AND CHECK THE RESULTS.

MULF TEST

THIS IS A TEST OF THE MULF INSTRUCTION, IT_ MAKES
USE OF A SUBROUTINE TO SET UP THE OPERANDS, EXECUTE
THE MULF INSTRUCTION AND CHECK THE RESULTS.

MULD TEST

THIS IS A TEST OF THE MULD INSTRUCTION. NOTE THAT A
SUBROUTINE IS USED TO SET UP THE OPERANDS, EXECUTE
THE MULD INSTRUCTION AND CHECK THE RESULTS.

UNDER\OVER FLOW, USING MULF WITH TRAPS DISABLED, TEST

THIS IS A TEST OF THE OVERFLOW AND UNDERFLOW
CONDITIONS USING THE MULF INSTRUCTION WITH TRAPS
DISABLED. NOTE THAT A SUBROUTINE IS USED TO SET P
THE OPERANDS, EXECUTE THE MULF INSTRUCTION AND CHECK
THE RESULTS.

UNDER\OVER FLOW, USING MULD WITH TRAPS DISABLED, TEST

THIS IS A TEST OF THE OVERFLOW AND UNDERFLOW
CONDITIONS THAT  CAN  ARRISE USING THE MULD
INSTRUCTION WITH TRAPS DISABLED. A SUBROUTINE IS
USED TO SET UP THE OPERANDS, EXECUTE THE MULD
INSTRUCTION AND CHECK THE RESULTS.

UNDER\OVER FLOW, USING MULF WITH TRAPS ENABLED., TEST

THIS IS A TEST OF THE UNDERFLOW AND OVERFLOW
CONDITIONS THAT CAN OCCUR USING THE MULF
INSTRUCTION. A SUBROUTINE IS CALLED TO SET UP THE
OPERANDS, EXECUTE THE MULF INSTRUCTION AND CHECK THE
RESULTS. HERE THE PARTICULAR INTERRUPT, EITHER
8\C/EG’F?LOU OR UNDERFLOW, 1S ENABLED SO A TRAP SHOULD

UNDER\OVER FLOW, JSING MULD WI"H TRAPS ENABLED, TEST

THIS IS A TEST OF THE OVER FLOW AND UNDER FLOW
CONDITIONS USING THE MULD INSTRUCTION WITH TRAPS
ENABLED. A SUBROUTINE IS USED TO SET UP THE
g‘gg{'\;ﬂgs EXECUTE THE MULD INSTRUCTION AND CHECK THE

SEQ 0077




TEST 54

- - -

- -

e -

°0.

MODF TEST

- oomeaae

THIS 1S A TEST OF THE MODF INSTRUCTION, WHICH MAKES
USE OF A SUBROUTINE TO SET UP THE OPERANDS, EXECUTE
THE MODF INSTRUCTION AND CHECK THE RESULTS.

MODD TEST

——— - -

THIS IS A TEST OF THE MODD INSTRUCTION. IT MAKES
USE OF A SUBROUTINE TO SET UP THE ARGUMENTS, EXECUTE
THE INSTRUCTION AND CHECK THE RESULTS.

UNDER\OVER FLOW, USING MODF WITH TRAPS DISABLED, TEST

THIS IS A TEST OF THE MODF OVERFLOW AND UNDERFLOW
CONDITIONS.  IT MAKES USE OF A SUBROUTINE TO SETUP
THE OPERANDS, EXECUTE THE MODF INSTRUCTION AND CHECK
THE RESULTS. TRAPS ARE DISABLED DURING THIS TEST.

UNDER\OVER FLOW, USING MODD WITH TRAPS DISABLED, TEST

MORE MICROCODES COVERAGE, TEST

LISTING

SEQ 0014
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CJKDCB~A KEF11-A FP DIAG gAgg 1 MACYT1 30A(1052) 12-MAR-80 15:31 PAGE 1

CJKD(CB.Pi1

OO NN NN 2O 000 NN S NN —

PNONIN) =4 d —d b b oed ) b b

12-MAR-80 1

000001
160000

000244
177400

000011
000015

001100

LIST ME
-NLIST MD,MC,CND

.ENABL ABS

LTITLE CJKD(B-A KEF11-A FP DIAG PART 1
;*COPYRIGHT (C) NOV 1979

;*DIGITAL EQUIPMENT CORP.

:'HAYNARD MASS. 01754

Enmocnm BY DIAGNOSTIC ENGINEERING

tTHIS PROGRAM WAS ASSEMBLED USING THE PDP-~11 MAINDEC SYSMAC
:*PACKAGE (MAINDEC-11-DZQAC-C3). JAN 19, 1977.

bR
°

$TN=1
$SWR=160000 o sHALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT

FPVECT=244
$SWR=177400
$SWRMSK=200
TAB=11
CRLF=15

.SBTTL BASIC DEFINITIONS

:*INITIAL ADDRESS OF THE STACK POINTER #a* 1100 ==
STACK= 1100

.EQUIV  EMT,ERROR ;;BASIC DEFINITION OF ERROR CALL
.EQUIV [0T,SCOPE ;:BASIC DEFINITION OF SCOPE CALL

SEQ 0015




CJKDCB-A KEF11-A FP DIAG PART 1 MACY11 30A(1052)
BASIC DEF INITIONS

CJKDCB.P11 12-MAR-80 15:26

57
58

59 000011
60 000012
61 000015
62 000200
63 177776
64

65 177774
66 127772
67 127570
68 177570
69

70

71 000000
72 000001
73 000002
74 000003
75 000004
76 000005
77 000006
78 000007
79 000006
80 000007
81

82

83 000000
84 000040
85 000100
86 000140
87 000200
88 000240
89 000300
90 000340
91

92

93 100000
% 040000
95 020000
% 010000
97 004000
98 002000
99 001000
100 000400
101 000200
102 000100
103 000040
104 000020
105 000010
106 000004
107 000002
108 000001
109

110

111

112

;MISCELLANEOUS DEFINITIONS
H

11 ;CODE FOR HORIZONTAL TAB

LF= 12 ,.CODE FOR LINE FEED
CR= 15 ::CODE FOR CARRJAGE RETURN
CRLF= 200
PS= 177776 ; ;PROCESSOR STATUS WORD
.EQUIV PS PSW
STKLMT= 177774 ;o STACK LIMIT REGISTER
PIRQ= 177772
DSWR= 177570 ; cHARDWARE SWITCH REGISTER
DDISP= 177570 ; HARDWARE DISPLAY REGISTER
: *GENERAL PURPQOSE REGISTER DEF INITIONS
RO= %0 ..GENERAL REGISTER
R1= X1 ;GENERAL REGISTER
R2= X2 ::GENERAL REGISTER
R3= %3 : ;GENERAL REGISTER
R4= X4 ; ;GENERAL REGISTER
R5= x5 : sGENERAL REGISTER
Ré= X6 : ;GENERAL REGISTER
R7= X7 ;;GENERAL REGISTER
SP= X6 ..STACK POINTER
PC= X7 : :PROGRAM COUNTER
:*FRIORITY LEVEL DEFINITIONS
PRO= 0 ;;PRIORITY LEVEL O
PR1= 40 ;:PRIORITY LEVEL 1
PR2= 100 ; :PRIORITY LEVEL 2
PR3= 140 ;sPRIORITY LEVEL 3
PR&4= 200 ;:PRIORITY LEVEL 4
PR5= 240 ;;PRIORITY LEVEL 5
PR6= 300 ;sPRIORITY LEVEL 6
PR7= 340 ;;PRIORITY LEVEL 7

v 'SWITCH REGISTER'' SWITCH DEF INITIONS
SW15= 100000

Swi4= 40000
SW13= 20000

Sw12= 10000

SWi1= 4000

SW10= 2000

Sw09= 1000

Swo8= 400

sSwo7= 200

Swo6= 100

SWO5= 40

Swo4= 20

Swo3= 10

SW02= 4

SWo1= 2

Swoo= 1

.EQUIV SW09,SwW9

.EQUIV SW08,Sw8

EQUIV SWO7,Sw7

EQUIV SWO06, SWé

12-MAR-80

D 2
15:31 PAGE 2

;;CODE FOR CARRJAGE RETURN-LINE FEED

; .PROGRAM INTERRUPT REQUEST REGISTER

SEQ 0016




E 2
CJKDCB=A KEF11-A FP DIAG PART 1 MACY11 30A(1052) 12-MAR-80 15:31 PAGE 3
CJKD(B.P11 12-MAR-80 15:26 BASIC DEFINITIONS SEQ 0017

.EQUIV  SWOS,Sw5

-
-
W

114 LEQUIV  SWO4, Swé

115 .EQUIV SWO3,Sw3

116 LEQUIV SWO2,Sw2

17 .EQUIV SWO1,sw1i

Hg .EQUIV SWO0,SW0

120 ;*DATA BT DEFINITIONS (BITO0 TO BIT15)

121 100000 BIT15= 100000

122 040000 BIT14= 40000

123 020000 BIT13= 20000

124 010000 BIT12= 10000

125 000 BIT11= 4000

126 002000 BIT10= 2000

127 001000 B81T09= 1000

128 000400 BIT08= 400

129 000200 B8IT07= 200

130 000100 BIT06= 100

131 000040 BITOS= 40

132 000020 B8IT04= 20

133 000010 BIT03= 10

134 000004 BIT02= &

135 000002 BITO1= 2

136 000001 BIT00= 1

137 .EQUIV BIT09.BIT9

138 .EQulv BJT08.8178

139 .EQUIV BIT07,BIT7

140 .EQUIV BIT06.BIT6

141 .EQUIV BIT05.BIT5

162 .EQUIV BIT04,BIT4

143 .EQUIV BIT03,BIT3

144 .EQUIV BIT02.8IT2

145 .EQUIv BIT01,BIT1

}29 .EQUIV BIT00,BITO

148 :«BASIC ‘'CPU'" TRAP VECTOR ADDRESSES

149 000004 ERRVEC= 4 :;TIME OUT AND OTHER ERRORS
150 000010 RESVEC= 10 :JRESERVED AND ILLEGAL INSTRUCTIONS
151 000014 TBITVEC=14 T elT

152 000014 TRTVEC= 14 :;TRACE TRAP

153 000014 BPTVEC= 14 ; ;BREAKPOINT TRAP (BPT)
154 000020 I0TVEC= 20 ;2 INPUT/OUTPUT TRAP (IOT) =«SCOPE**
155 000024 PWRVE(C= 24 ;s POMWER FAIL

156 000030 EMTVEC= 30 ;s EMULATOR TRAP (EMT) *«ERROR®
157 000034 TRAPVE (=34 ::""TRAP"' TRAP

158 000060 TKVEC= 60 ;;TTY KEYBOARD VECTOR
159 000064 TPVEC= 64 . 2. TTY PRINTER VECTOR
160 000240 PIRQVE (=240 ; : PROGRAM INTERRUPT REQUEST VECTOR
161 .SBTTL FPP REGISTER DEFINITIONS

162 000000 ACO =20

163 000001 AC1 =X1

164 000002 AC2 =%2

165 000003 AC3 =%3

166 000004 AC4 =24

167 000005 ACS =25

158 000006 ACé =%6
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000174
000176

000200

000007

000000

000174

000137

001466

FPP REGISTER DEF INITIONS
AC7 -X7
.SBTTL TRAP (AT{ R

.=0
J*ALL UNUSED LOCATIONS FROM 4 - 776 CONTAIN A ‘', +2,HALT"'
. *SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
:‘LOCATIO§194CONTAINS O TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD O ;s SOFTWARE DISPLAY REGISTER
SWREG: WORD O :;SOF TWARE SWITCH REGISTER
.SBTTL STARTING ADDRESS(ES)

JMP O4START ;;JUMP TO STARTING ADDRESS OF PROGRAM

SEQ 0018
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.SBTTL COMMON TAGS

"""ﬁﬁ'ﬁﬁt"t"*Q"'t'tltttttttt"tttttttittttlttttttttttﬁttttntnt

s*THIS TABLE CONTAINS VARIOUS (OMMON STORAGE LOCATIONS
;*USED IN THE PROGRAM.

6_2
A(1052) 12-MAR-80 15:31 PAGE 5
OMMON TAGS

SEQ 00°9

001100 .=1100

001100 $CMTAG: ;o START OF COMMON TAGS

001100 000000 .WORD 0

001102 000 $TSTNM: .BYTE 0 ;. CONTAINS THE TEST NUMBER

001103 000 $ERFLG: .BYTE O ;s CONTAINS ERROF FLAG

001104 000000 $ICNT: .WORD 0 ;o CONTAINS SUBTEST ITERATION COUNT
194 001106 000000 SLPADR: .WORD O .. CONTAINS SCOPE LOOP ADDRESS
195 001110 000000 SLPERR: .WORD O ;s CONTAINS SCOPE RETURN FOR ERRORS
196 001112 000000 $ERTTL: .WORD O ;s CONTAINS TOTAL ERRORS DETECTED
197 001114 000 $ITEMB: .BYTE O 2 CONTAINS ITEM CONTROL BYTE
198 001115 001 $SERMAX: .BYTF 1 ;. CONTAINS MAX. ERRORS PER TEST
199 001116 000000 $ERRPC: .WORD 0 s CONTAINS PC OF LAST ERROR INSTRUCTION
200 001120 000000 $GDADR: .WORD O ;. CONTAINS ADDRESS OF °'GOCD' DATA
201 001122 000000 $BDADR: .WORD 0 ;s CONTAINS ADDRESS OF ‘'BAD' DATA
202 001124 000000 $GDDAT: .WORD O s CONTAINS °*GOOD* DATA
203 001126 000000 $8DDAT: .WORD 0 ;s CONTAINS 'BAD' DATA
204 001130 000000 .WORD O ; ;RESERVED~-NOT TO BE USED
205 001132 000000 .WORD 0
206 001134 000 $AUTOB: .BYTE 0 ;;AUTOMATIC MODE INDICATOR
207 001135 000 $INTAG: .BYTE O ;o INTERRUPT MODE INDICATOR
208 001136 000000 .WORD O
209 001140 177570 SWR: .WORD  DSWR ;;ADDRESS QF SWITCH REGISTER
210 001142 177570 DISPLAY: .WORD DDISP ;.ADDRESS OF DISPLAY REGISTER
211 001144 177560 $TKS: 177560 ;:TTY KBD STATUS
212 001146 177562 $TKB: 177562 ;:TTY KBD BUFFER
213 001150 177564 $TPS: 177564 ;. TTY PRINTER STATUS REG. ADDRESS
214 001152 177566 $TPB: 177566 ;. TTY PRINTER BUFFER REG. ADDRESS
215 001154 000 $ANULL: .BYTE O s CONTAINS NULL CHARACTER FOR FILLS
216 001155 002 $FILLS: .BYTE 2 s :CONTAINS # OF FILLER CHARACTERS REQUIRED
217 001156 012 $FILLC: .BYTE 12 ;. INSERT FILL CHARS. AFTER A 'LINE FEED"
218 001157 000 $TPFLG: .BYTE 0 ;" TERMINAL AVAILABLE'' FLAG (BIT<07> 0 YES?
219 001160 000000 SREGAD: .WORD O ;- CONTAINS THE ADDRESS FROM
220 JoWHICH (SREGO) WAS OBTAINED
221 001162 000000 $REGO: WOk 0 ; s CONTAINS ((SREGAD)+0)
222 001164 000000 SREG]1: .WORD O ;s CONTAINS ((SREGAD) +2)
223 001166 000000 SREG2: .WORD O ;. CONTAINS ((SREGAD)+4)
224 001170 000000 SREG3: .WORD 0 ;;CONTAINS ((SREGAD)+6)
225 001172 000000 $REG4: .WORD O s CONTAINS ((SREGAD)+10)
226 001174 000000 $REGS: .WORD O 2. CONTAINS ((SREGAD)+12)
227 001176 000000 SREG6: .WORD O ::CONTAINS ((SREGAD) +14)
228 001200 000000 $REG7: .WORD O ;;CONTAINS ((SREGAD)+16)
229 001202 000000 $REG10: .WORD O ;s CONTAINS ((SREGAD)+20)
230 001204 000000 $REG11: .WORD O 2 CONTAINS ((SREGAD)+22)
231 001206 000000 $REG1I2: .WORD O ;;CONTAINS ((SREGAD)+24)

001210 000000 $REG13: .WORD 0 :;CONTAINS ((SREGAD) +26)
233 001212 000000 $REG14: .WORD O :;CONTAINS ((SREGAD) +30)

001214 000000 $REG1S5: .WORD 0 ; ;CONTAINS ((SREGAD)+32)
235 001216 000000 $REG16: .WORD O ;s CONTAINS ((SREGAD) +34)

001220 000000 $REG]17: .WORD O ;;CONTAINS ((SREGAD) +36¢)
237 001222 000000 $REG20: .WORD O :;CONTAINS ((SREGAD) +40)
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SEQ 00201
::CONTAINS ((SREGAD) +42)

;. CONTAINS ((SREGAD)+46)

;s USER
; sUSER
; JUSER
; JUSER
: sUSER
; JUSER
;JUSER
; ;USER
2 ;JUSER
;JUSER
,.USER

USER

DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED
DEF INED

;;CONTAINS ((SREGAD) +44) ‘

i USER
NUMBER OF ITERATIONS
ESCAPE ON ERROR ADDRESS

<207><377><377> ,,CODE FOR BELL

cQUESTION MARK
: :CARRIAGE RETURN
;. LINE FEED

X 3222233332233 3 3223333323323 2232332323223332223232023023c8d8RRRRRRRRRRRZAD)

:.'t!titt.t‘.itll'tttttﬁ't‘Qt.'ltﬁl'ﬁtttlt.'!ttﬁtttttt"ti'tlttt"

;;APT MAILBOX
: ;MESSAGE TYPE CODE
:FATAL ERROR NUMBER
s :TEST NUMBER
; :PASS COUNT
::DEVICE COUNT
:: 170 UN]JT NUMBER
:.'lESSAGE ADDRESS
JMESSAGE LENGTH
..APT ENVIRONMENT TABLE
..ENVIRMNT BYTE
;ENVIRONMENT MODE BITS
:.'APT SWITCH REGISTER
;;USER SWITCHES
::CPU TYPE ,OPTIONS
BITS 15-11=CPU TYPE
11/04=01,11705=02,11/20=03,11/40=04,11/45=05
11/70—06 PDQ=07, 0210
REAL TIME CLOCK
FLOATING POINT PROCESSOR

1

(JKDCB-A KEF11-A FP D]AG PART 1 MACYN 30A(1052) 12-MAR-80
(JkDCB.PI 12-MAR-80 15:26 COMMON TAGS

238 001224 000000 $REG21: .WORD O

239 001226 000000 S$REG22: .WORD O

240 001230 000000 $REGZ23: .WORD O

261 001232 000000 $TMPO: .WORD O

2642 001234 000000 $TMP1: _WORD O

2643 001236 000000 $STMP2: WORD O

2644 001240 000000 $STMP3: _WORD O

2645 001242 000000 $TMP4L: _WORD O

246 001244 000000 $TMPS5: _WORD O

247 001246 000000 $TMP6: .WORD O

2648 001250 000000 $TMP7: .WORD O

249 001252 000000 $TMP10: .WORD O

250 001254 000000 $TMP11: WORD O

251 001256 000000 $TMP12: WORD O

252 1 000000 $TMP13: WORD O

253 001262 000000 $TMP14: WORD O

254 001264 000000 $TMP1S: .WORD O

255 001266 000000 $TMP16: WORD O

256 001270 000000 $TMP17: WORD O

257 001272 000000 $TMP20: .WORD 0

258 001274 000000 $TMP21: .WORD O

259 001276 000000 $TMP22: .WORD 0

260 001300 000000 $TMP23: WORD O

261 001302 000000 STIMES: O

262 001304 000000 SESCAPE:0

263 001306 177607 000377 $BELL: .ASCIZ

264 001312 077 $QUES: LASCII /%

265 001313 015 S$CRLF: .ASCI] <15

2229 001314 000012 SLF: LASCIZ <12

Sgg "SBTTL APT MAILBOX-ETABLE

270

271 .EVEN

272 001316 SMAIL :

273 001316 000000 SMSGTY: .WORD  AMSGTY

274 001320 000000 SFATAL: .WORD  AFATAL

275 001322 000000 STESTN: .WORD  ATESTN

276 001324 000000 $PASS: .WORD  APASS

277 001326 000000 SDEVCT: .WORD  ADEVCT

278 001330 000000 SUNIT: .WORD AWNIT

< 001332 000000 SMSGAD: .WORD  AMSGAD

280 001334 000000 SMSGLG: .WORD  AMSGLG

281 001336 SETABLE:

282 001336 000 SENV:  _BYTE  AENV

283 001337 000 SENVM: _BYTE  AENV*

284 001340 000000 SSWREG: .WORD  ASWREG

285 001342 000000 SUSWR: .WORD  AUSWR

ggg 001344 000000 $CPUOP: .WORD  ACPUOP
* &

288 i

289 i

290 i

29N o

292 ;%

293 001346 000 $MAMST: .BYTE  AMAMS]

8IT 10
BIT 9
BIT 8=MEMORY MANAGEMENT
;sHIGH ADDRESS.,M.S. BYTE
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CJkDIB

PN
001347

12-MAR-80 15:26
000

000000

g

000

B

000000

-

APT MAILBOX-ETABLE
$MTYP1: _BYTE  AMTYP]
R

‘W
»
.

w
$MADR1: .WORD  AMADR1
. w

$DDW14: .WORD  ADDWI4
$DDW15: .WORD  ADDW1S

$ETEND:

I 2
31 PAGE 7
SEQ 0021

::MEM. TYPE ,BLKA
MEM,TYPE BYTE -~ (HIGH BYTE)
900 NSEC CORE=001
300 NSEC BIPOLAR=002
SO0 NSEC MOS=003
; sHIGH ADDRESS,BLKA#1
MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF ‘‘TYPE'' ABOVE
;sHIGH ADDRESS M.S. BYTE
I IMEM.TYPE ,BLK#?2
2 sMEM_ LAST ADDRESS.,BLk#?
;sHIGH ADDRESS . M.S.BYTE
; sMEM,TYPE ,BLK#3
2JMEM_LAST ADDRESS .,BLK#3
;:HIGH ADDRESS.M.S.BYTE
: :MEM. TYPE ,BLKNG
2 JMEM,_ LAST ADDRESS,BLKA#4
: :INTERRUPT VECTOR#1,BUS PRIORITY#
;s INTERRUPT VECTORNZBUS PRIORITYH?2
: ;BASE ADDRESS OF EQUIPMENT UNDER TEST
;:DEVICE MAP
s ;CONTROLLER DESCRIPTION WORD#1
;;CONTROLLER DESCRIPTION WORD#?
;:DEVICE DESCRIPTOR WORD#0
::DEVICE DESCRIPTOR WORDA#1
::DEVICE DESCRIPTOR WORDN?
;:DEVICE DESCRIPTOR WORD#3
s :DEVICE DESCRIPTOR WORD#4
::DEVICE DESCRIPTOR WORDAS
s :DEVICE DESCRIPTOR WORD#6
2 :DEVICE DESCRIPTOR WORDN?
2 :DEVICE DESCRIPTOR WORDAS8
s :DEVICE DESCRIPTOR WORD#9
::DEVICE DESCRIPTOR WORD#10
::DEVICE DESCRIPTOR WORD#11
::DEVICE DESCRIPTOR WORDA12
::DEVICE DESCRIPTOR WORD#13
2 :DEVICE DESCRIPTOR WORD#14
J:DEVICE DESCRIPTOR WORD#15
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(JKDCB.F 1! 12-MAR-80 15:26 ERROR POINTER TABLE SEQ 0022
%_}_6 .SBTTL ERROR POINTER TABLE
4
758 ;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
339 ;*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
%0 ;*LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE [S PERTINENT.
341 ;=NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRP(C).
%% ;*NOTEZ: EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:
344 . EM ;:POINTS TO THE ERROR MESSAGE
345 » DH :sPOINTS TO THE DATA HEADER
346 o DT ;sPOINTS TO THE DATA
%7 i DF ;;POINTS TO THE DATA FORMAT
348
349
350 001442 $ERRTB:
351 :ITEM NUMBER
352 001442 062743 .WORD  EM]
353 0014446 062771 .WORD  EM2
356 0014466 063025 .WORD  EM3
355 001450 063053 .WORD  EM&
35¢
357
ggg .SBTTL  ACT11 HOOKS
360 IR AR R AR AR A AN NN A PN AR AN AN RN AR AN AN AN AR ANNANRRANN NN RN R
i ;HOOKS REQUIRED BY ACT11
362 001652 $SVP(=. s SAVE PC
363 000046 .46
364 000046 057322 SENDAD :s1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
365 000052 .=32
366 000052 000000 WORD O ::2)SET LOC.52 TO ZERO
367 001452 .=$SVPC ;s RESTORE PC
3328 .SBTTL APT PARAMETER BLOCK
370 RN AN AR R RN R AN AR AR R E TR AR A AN AN AR NN AR IR A NN AR N AN N AN RANNRANNRRNY
n SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
372 NN AAR RN AR R AR AR R AR AR TR AR AN A A RS AN AR AN N RN NN N RN RN AN RRNRNN NN
373 001452 .$X=.  ;;SAVE CURRENT LOCATION
374 000024 .=24 ;:SET PCMER FAIL TO POINT TO START OF PROGRAM
375 000024 000200 200 ;:FOR APT START UP
376 000044 .=b4 ;:PCINT TO APT INDIRECT ADDRESS PNTR.
377 000044 001452 $APTHDR ;.POINT TO APT HEADER BLOCK
378 001652 .=.8X RESET LOCATION COUNTER
379 RN AN AN AN A A AN A N AN AR AN AN AL ANA N AN KN AN RA AR RN NN AR IR
380 :SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
: s INTERFACE SPEC.
382
383 001452 $APTHD :
384 001452 000000 $HIBTS: .WORD O ;:TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
385 001454 001316 SMBADR: .WORD  SMAIL  ;;ADDRESS OF APT MAILBOX (BITS 0~15)
386 001456 000010 $TSTM:  _WORD 10 J;RUN TIM OF LONGEST TEST
387 001460 000040 $PASTM: _WORD 40 :RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUiCK VERICY)
388 001462 000000 SUNITM: .WORD O ;ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
ggg 001464 000052 .WORD  SETEND-$MAIL/¢Z ;;LENGTH MAILBOX~ETABLE (WORDS)
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392
393
394
395

P
001466
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883338328338
28

012706
005026
022706
001374
012706

012737
012737
012737
012737
012737
012737

112767

012737

012767
012767

013746
012737
012767
012767

000403
012716
000002
012767

012767
012637

005067
132767
001403

001100
001140
001100
057454

00034

062156
000340
055466
177502
177500
000001

057424
000340
000002
001662

001652

000010
0000

177777

001762

000176
000174
000004

177316
000200

000020
000022
000030
000032
000034
000036
000024
000026
055456

177303

000014
000016
055570
000010

055544

000010

177200
177174

177170

177150
177144

177323
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APT PARAMETER BLOCK

START:
JSBTTL INITIALIZE THE COMMON TAGS
;SCLEAR THE COMMON TAGS (SCMTAG) AREA

MOV #SCMTAG,R6 ;oFIRST LOCATION TO BE CLEARED
CLR (R6) + ;sCLEAR MEMORY LOCATION

CMP #SWR,R6 ; ;DONE?

BNE .=6 :;LOOP BACK IF NO

MOV #STACK,SP ;;SETUP THE STACK POINTER

SINITIALIZE A FEW VECTORS
MOV #$SCOPE ,a#10TVEC ..1or VECTOR FOR SCOPE ROUTINE
MOV #340, a4 10TVEC+2 ;+LEVEL 7
MOV #SERROR , aEMTVEC *;EMT VECTOR FOR ERPOR ROUT INE
MOV #340, MMEMTVEC+2 ;:LEVEL 7
MOV #STRAP, S¥TRAPVEC +; TRAP VECTCR FOR TRAP CALLS
MOV #3640, @#TRAPVEC+2; LEVEL 7
MOV #SPURDN , 3#PWRVEC  ; ;POWER FAILURE VECTOR
MOV #3640, aPURVEC+2 ;:LEVEL 7
MGV SENDCT,SEOPCT - :SETUP END-OF-PROGRAM COUNTER
CLR STIMES S INITIALIZE NUMBER OF [TERATIONS
CLR SESCAPE ..CLEAR THE ESCAPE ON ERROR ADDRESS
MOVEB A1 SERMAX ALLOW ONE ERROR PER TEST
INITIALIZE THE *T-BIT'' TRAP VECTOR. THEN LGAD LOCATION 'SRTRN'', IN
“ITHE END-OF~PASS"® (SEOP) ROUTINE, WITH A "RTI'* OR “RTT"".
MOV #SRTRN,MFTBITVEC ;:SET *T'* BIT VECTOR TO SRTRN

MOV #340, ananvec+2 SSLEVEL 7
MOV #RT].SRIRN *SET SRTRN TO A RTI
MOV #6538 SRESVEC ..mv TO DO A RTT
CLR -(SP) ‘DUMMY PS
MOV #64S, - (SP) SSAND PC
RTT 2:TRY THE RTT
648 @v zg;r LSRTRN “IRTT IS LEGAL=-~SET SRTRN TO A RTT

65%: ADD 710,S SRTT ILLEGAL—CLEAN OFF THE STACK
668 MOV IRESVEC*Z NRESVEC ; ;RESTORE TRAP CATCHER
CLR S BIT JCLEAR *T'° BIT SWITCH
MOV . SLPADR ..INITIALIZ( THE LOOP ADDRESS FOR SCOPE
MOV #..SLPERR ;SETUP THE ERROR LOOP ADDRESS
;:SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
;;EQUAL TO A "-1"’, SETUP FOR A SOFTWARE SWITCH REGISTER.
MOV @FERRVEC -(SP) ;:SAVE ERROR VECTOR
MOV #678, QFERRVEC  ::SET UP ERROR VECTOR

MOV #DSWR, SWR ..SETlP FOR A HARDWARE SWICH REGISTER
MOV #DDISP,DISPLAY ;AND A HARDWARE DISPLAY REGISTER
M #-1,3SWR ..TRY TO REFERENCE HARDWARE SWR
BNE 698 ;BRANCH IF NO TIMEOUT TRAP OCCURRED
(IAND THE HARDWARE SWR IS NOT = -1

B8R 68% ..BRANCH IF NO TIMEQUT

67%: ;?\1/ #68$, (SP) :SET UP FOR TRAP RETURN

68s: MOV #SWREG, SWR :;POINT TQ SOF TWARE SWR

MOV #DISPREG,DISPLAY
69%: MoV (SP)+ ,a#ERRVEC ;;RESTORE ERROR VECTOR

CLR $PASS sCLEAR PASS COUNT
8I18 KAPTSIZE ,SENVM ..TEST USER SIZE UNDER APT
708 2. YES,USE NON-APT SWITCH

SEQ 0023
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CJkDCB.PN 12-MAR-80 15:26 INITIALIZE THE COMMON TAGS SEQ 0024
448 002016 012767 001340 177114 MOV #$SWREG, SWR JsNO,USE APT SWITCH REGISTER
449 002024 70$:
450 .SBTTL TYPE PROGRAM NAME
451 ::TYPE THE NAME OF THE PROGRAM IF FIRST PASS
452 002026 005227 177777 INC -1 .,FIRST TIME?
453 002030 001053 BNE 718 JBRANCH [F NO
454 002032 022737 057322 000042 (MP #SENDAD , a6 2 TIACT=112
455 002040 001447 BEQ 718 :;BRANCH [F YES
456 002042 104401 002110 TYPE ,72% J:TYPE ASCIZ STRING
457 LSBITL  GETY VALUE FOR SOFTWARE SWITCH REGISTER
458 002046 005737 000042 TST ana’ .':ARE WE RUNNING UNDER XXDP/ACT?
459 002052 001012 BNE 73% ;BRANCH IF YES
460 002054 126727 177256 000001 CMPB $ENV. M :.ARE WE RUNNING UNDER APT?
461 002062 001406 BEQ 73% ::BRANCH IF YES
462 002064 026727 177050 000176 CMP SWR ,#SWREG ::SOF TWARE SWITCH RES SELECTED?
463 002072 001005 BNE 748 ¢ sBRANCH IF NO
464 0020746 104406 GTSWR :2GET SOFT=-SWR SETTINGS
465 002076 000403 B8R 743
466 002100 112767 000001 177026 73S$: MOvB #1,8AUTOB :2SET AUTO-MODE INDICATOR
467 002106 74%:
468 002106 000424 8R 718 ::GET OVER THE ASC1Z
469 ::72%:  .ASCIZ <CRLF>~(CJKD(B, E F11-A FP DJAGNOSTIC PART 1+<(RLF>
2;? 002160 71s:
472 002160 LOOP:
&7 002160 012706 001100 MOV #STACK ,SP 2SET UP STACK POINTER
424 002164 (012737 002220 000004 MOV 7S anh SSET UP FOR TIMEOUT IF NO MULTI-TESTER
475 002172 012737 000340 000006 MOV #340,ax6
476 002200 012737 000002 164000 MOV #2,a8164000 JSET 'GO"* ON MULTI-TESTEP
477 002206 012732 000006 000004 MOV 86,384 ;RESTORE TRAP CATCHER
478 002214 005037 000006 CLR a6
479 002220 1%:
480
481
482
483
484
485 AR AR AN R T AR AR AR AN AR R AN TR AR R VR RRI RN TR AN
% 'TEST 1 LDFPS., STFPS AND DATA PATHS TEST
488 tTHIS IS A TEST OF THE LDFPS (LOAD FLOATING POINT STATUS) AND STFPS
489 '(ST(RE FLOATING POINT STATUS) INSTRUCTIONS. A (OUNT PATTERN IS GENERATED
490 ;*AND RUN THROUGH THE FLOATING POINT STATUS REGISTER.
4N S«DMO AND SMO ARE USED.
492 'MJTE THAT A MASK HJST BE USED BECAUSE SOME OF THE FPS BITS CANNOT
232 'BE SET.
495 : ntnntntntttnntnnttnntt-nnttntt-nntnttn-nnnnnnt:nnnnnntnnnnnnn
496 002220 000004 TST1 SCOPE
497 002222 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
498 002224 012700 177777 MOV #-1,R0 ;INITIALIZE THE COUNT PATTERN.
499 002230 012737 002336 000244 MOV #A[Rm aWFPVECT SET UP FOR UNABLE TO DECODE
500 002236 012737 002350 000010 MOV #AERRZ ,a#10 FPP INSTRUCTION TRAP TO 244 OR 10.
501 002244 012737 002402 000004 MOv lAERR3.a#ERRVECT :1F EITHER INSTRUCTION
502 FAILS TO GO THROUGM THE

503 *CORRECT SRC OR DST MODE AN
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010004
042704
170104

012701
170201
012737
010004
042704
012737
012737
020401

001601
104004

012700
077031
000443

011637

022626
104004
000436

021627
001405
021627
001402
000137

011637
022626
104004
000421

021627
001405
021627
001407
000137

011637
022626
104004
000404

030020

177777
062524 000244
030020

062556 000004
062574 000010

000001

00123¢

002254
002270
062574

001236

002254
002270
062556

001236

M2
30A(1052) 12-MAR-80 15:31 PAGE 11
1 LDFPS, STFPS AND DATA PATHS TEST

Al:

All: MoV RO R4
BIC #30020,R4
LDFPS  Ré&

MOV #-1,R1

Al2: STFPS  R1

MOV #FPSPUR ,a#FPVECT
RO R4

BIC #30020,R4
MOV #CPSPUR, B#ERRVECT
MOV #CPTWO, 3410

20DD ADDRESS TRAP WILL O(CUR.

;TEST INSTRUCTION.

JTEST INSTRUCTION.
JSET UP FOR UNEXPECTED TRAPS.
;MASK OFF UNSETTABLE BITS.

;COMPARE DATA EXPECTED WITH
; THE DATA READ.
;IF NOT EQUAL GO REPORT ERROR.

JNEXT PATTERN WILL BE ALL ZERO
;DECREMENT COUNT PATTERN
JUNTIL IT IS ZERO.

;SAVE PC OF TRAP.

oy o R4 ,R1

8EQ A2

ERROR 4
A2: MOV #1,R0

S0B RO,A1

B8R ADONE
sUNABLE TO DECODE FPP INSTRUCTION. TRAPPED TO 244.
AERR1: MOV (SP) ,ar8TMP?

™ (SP)+,(SP)+
1%: ERROR 4

B8R ADONE

.\% ABLE TO DECODE INSTRUCTétN TRAPFPED TO 10.

ACLR2: (CMP (SP) ,#A11+
8E0 18
P (SP) ,#A12+2
8EQ 1$

JP a#CPTWO

1%: MOV (SP) ,a48TMP2
P (SP)+,(SP)+
2%: ERROR &
B8R ADONE

;TRAP TO & HANDLER:

AERR3: (MP (SP) ,#A11+2
BEQ 18
c™wP (SP) ,#A12+42
BEQ 23

JMP a#CPSPUR

1%: MoV (SP) ,aNsTMP2
M (SP)+,(SP)+
15%: ERROR &
BR ADONE

:DID TRAP OCCUR OF FPP INSTRUCTION?

:IF NOT FPP INSTRUCTION THEN
SREPORT SPURIOUS TRAP TO 10.

;OTHERWISE REPORT IR DECODE ERRCR.

;DID THE TRAP OCCUR ON THE
sLDFPS INSTRUCTION?
;OR THE STFPS INSTRUCTION?

s IF NE]JTHER THEN REPORT
JUNEXPECTED TRAP T0 4.

SEQ 0025




CJKDCB-A KEF11-A FP DJAG PAR™ 1 MACY 30A(1052)

CJKD(B.

560
561
562
563
564
565

P11

002434
002440
002442

002444
002444

12-MAR-80 15:26

011637
022626
104004

104413

000004
104414
012700

170100

170000
013703

077011
000422

170201
012737

020001
001006

010337
010037

106413

001236

000017

177776

177760

002460

001240
001242

001240
001242

001236

2%:
25%:

ADONE :

12-MAR-80 15:31

N 2
PAGE 12

LDFPS, STFPS AND DATA PATHS TEST

MOV
cMP
ERROR

RSETUP

(SP) ,aNsTMP?
£SP)+,(SP)*

;GO INITIALIZE THE FPS AND STACK. AND
;SEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOF TWARE
sVIRTUAL CONSOLE SWITCH REGISTER (HAS
sTHE USER TYPED CONTROL G?).

SRR AR RN RN R AR AR AR NN AR AR T AR RN AN R RN AN RN R AR RRR RN AR AR A& w

tTEST 2
'THIS IS A TEST OF THE COPY CONDITION CODES INSTRUCTION, CFCC.

TST2:

81:

82:

83:

BERR:

1%:

BERR1:

1%:

BDONE :

SCOPE
LPERR
MOV

LDFPS

CFCC

MOV
BIC
(0
BNE

S08
B8R

STFPS
MOV

cMP
BNE

MOV
MOV
ERROR
BR

MOV
MOV
ERROR
BR

RSETUP

CFCC TEST

#17.R0

RO

aAPSW,R3
#177760,R3
RO,R3
BERR

RO.81
B8DONE

R1
#B2,3x8TMP2

RO,R1
BERR1

R3,NSTMP3
?O.i’iTﬂPé

83
RO, a¥STMP3
?1.3#5THP4
83

'
.tttttttttttttt'ttttttttttttttttttttttttttttttt't‘tttt'tttttttti

;SET UP THE LOOP ON ERROR ADDRESS.

JRO CONTAINS TO TEST PATTERN.

;LOAD THE TEST PATTERN

;COPY CONDITION CODES.
;SEE IF PATTERN TRANSFERED.

;WAS FPS MODIFIED BY CFCC?

:GO INITIALIZE THE FPS AND STACK: AND

SEQ 0026




CJKDCB~A KEF11-A FP DIAG PART 1 MACY1?
12-MAR-80 15:26

(JkDCB.P1

000004
104414
012737
012737
005000

170100
012737
170001

170201

104414
012700

170100
012737
170001

170201
012702

104414
012737
012700

170100

000760
000202

002602

001126

147757

002640

147557

001126

000203
147757

001244
001250

001236

001236

30A(1052)
T2

12-MAR-80
CFCC TEST

15:31

8 3
PAGE 13

;SEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOF TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
. THE USER TYPED CONTROL G?).

2222223232228 232382322322332323233232232332232023080320033323333 33320 RtRll ]

'TEST 3

SETF,

tTHIS IS A TEST OF THE SETF,
*~EACH INSTRUCTION IS EXECUTED WITH THE FPS CONTAINING
;*ALL ONES AND ALSO WITH THE FPS CLEAR. THE RESULT OF EACH
s~ SITUATION IS CHECKED.
$«$TEMP2 CONTAINS INSTRUCTION TRIED TO PERFORM
:«$8DDAT CONTAINS BAD FPS CONTAIN.

SETD, SETI AND SETL TEST
SETD, SETI AND SETL INSTRUCTIONS.

B2 231222232 3233328322232 32282822222 d08f ittt Rl dl

SCOPF
LPERR
MOV
Q1: MOV
CLR

LDFPS
MOV

C15: SETF

TST3:

STFPS

1%:
2: MOV

€e5: SETF

1%:

001250 (3: MOV

4760, NS TMPS
ngZ.SJSTMP7

RO
#C15,aN8TMP?

R1
R2
R2.R1
1%

?1.3#SBDDAT

#147757 ,RO

RO
#C25,N8TMP?

R1
147557 ,R2
R1,R2

1%
?1,3#$BDDAT

#203,a4STMP?
#147757 RO

RO

;SET UP THE LOOP ON ERROR ADDRESS.

;CLEAR THE FPS.

;TEST INSTRUCTION.

JGET RESULT.
;DID AN ERROR OCCUR?

;STORE BAD DATA

;SET UP THE LOOP ON ERROR ADDRESS.

:PUT 147757 1S FPS
;CLEAR FD BIT.
;GET RESULT
JRESULT CORRECT.

;STORE BAD DATA

;SET UP THE LOOP ON ERRCR ADDRESS.

;LOAD 147757 INTO FPS.

SEQ 0027




(JKD(B~A KEF11-A FP DIAG PART 1 MACY11 30%(1052)

CJkpCB.P1

672
673
674
675
676
677
678

002700
002706

002710
002712

12-MAR-80

012737
17001

170201
012702

170100
012737

170011
170201

170100
012737

170002
170201

012737
170002

170201
012702
020102
001403
010137
104001

15:26
002706

147757

001126

002744

000200

001126

000204

003010

001126

147757
003046

147657

001126

001236

001236

001250

001236

001236

C35:

1%:
Ca:

C45:

1$:
CS5:

C55:

1%:
C6:

C65:

c 3
12-MAR-80 15:31 PAGE 14

SETF,

MOV
SETD

#C35,a08TMP2

R1
#147757 ,R2
R1,R2

1%
?1.8#SBDDAT

RO
RO
#C45 ,aNSTMP?

R1

#200,R2
R1,RZ

1%
?1,3#$BDDAT

#204 ,348TMP7
RO
RO
#C55,a08TMP2

R1
R2
R2.R1
13

?1.3#SBDDAT

g647757.R0
#C65,308TMP2

R1
#147657 ,R2
R1.R2

1%
?1.8#SBDDAT

SETD, SETI AND SETL TEST

;SETD FD BIT.

JRESULT CORRECT?

;STORE BAD DATA

;SET UP THE LOOP ON ERROR ADDRESS.

;CLEAR FPS.

;SET FD BIT.
;GET RESULT.
JRESULT CORRECT?

;STORE BAD DATA

;SET UP THE LOOP ON ERROR ADDRESS.

;CLEAR FPS

;CLEAR FL BIT.
sGET RESULT.
sRESULT CORRECT?

:STORE BAD DATA

;SET UP THE LOOP ON ERROR ADDRESS.

;PUT 147757 INTO FPS

;CLEAR FL BIT.
;GET THE RESULT.
JRESULT (ORRECT?

;STORE BAD DATA

SEQ

C)\—( H
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12-MAR-80 15:26 T3

CJKDCB.PI

104414

170100
012737

170012

170201
012702
020102
001403
010137
104001

104413

000205
1647757

003114
147757
001126
003152

000100

001126

001250

001236

001236

SETF, SETD, SETI AND SETL TEST

1%:
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
€7: MOV #205 ,aNSTMP?
MOV 2147757 RO
LDFPS RO ;SET FPS TO 147757,
MOV #C7S.,NSTMP?
€75: SETL ;SET FL BIT.
STFPS  R1 ;GET THE RESULT.
MOV #147757,R2
CMP R1.R2 ;RESULT CORRECT?
BEQ 1$
MOV R1,a4$8DDAT :STORE BAD DATA
ERROR 1
1%:
LPERR :SET UP THE LOOP ON ERROR ADDRESS.
(8: CLR RO
LDFPS RO ;CLEAR FPS.
MOV #C85,aNsTMP2
85: SETL ;SET FL BIT.
STFPS  R1
MOV #100,R2
cMP R1.R2 ;RESULT CORRECT.
BEQ 1$
MOV R1,a4#$BDDAT :STORE BAD DATA
ERROR 1
1%:
CDONE :
RSETUP ;GO INITIALIZE THE FPS AND STACK; AND

\-!.!.i.!.\ -

Y
¥ B % » ll

;SEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOF TWARE
sVIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED (NTROL G?).

AR 2222223220222 828 2322282822203 22232222223223 2228222222222

'TEST 4 ILLEGAL FPP OP CODES AND STST TEST
-ruxs IS A TEST OF THE FPP OPERATION CODES:

170003

170004

170010

170013

170014

170077

'THFSE ARE ILLEGAL INSTRUCTIONS AND (WITH INTERRUPTS ENABLED)
«SHOULD (AUSE A TRAP TO 244.

;*ALSO TESTED HERE IS THE INSTRUCTION:

SeEQ 0029




(JKD(B~A KEF11=-A FP D]JAG PART 1 MACY11 302(1052)

CyxkDCB.P1

12-MAR-80 15:26

000004
104414
012705
012737
012737

005000

170201
010137
104001

022705

022705
001001
000452
005205
000742

022716
001402
000137

022626
170201
022701
001406

012737
010137
104001

012704
170304

022704

170003
003412 000004
003316 000244

003246
001244
003246 001236

001240

170010
170013

170077

003250
062524
100000

100000
001242

001240

000001

000002

'UHICH SHOULD PUT THE FEC CODE 2 IN R1,

12-MAR-80

15: 31

E 3
PAGE 16

ILLEGAL FPP OP CODES AND STST TEST

SIST

'OP CODES 1S EXECUTED.

7§14
D1:

D2:
03:

D4:

1%:
D5:

D6:

D7:

DERR1:

1%:

2%:

3%
D8:

SCOPE
LPERR

#170003,R5

#DERR2 , a#ERRVECT

#DERR1 ,Q#FPVECT

RO
RO

R2
RS ,a#D2

RS a#STMPS
goé ISTMP?

R2
R2

R1
q1.ansrn93

#170010,R5

D6
#170013,RS
D1

#170077 ,RS
D7

DOONE

R5

D1

#03, (SP)

18

a#f PSPUR
(SP)+,(SP)+
R1
#100000,R1
3s
#100000,a#$TMP3
?1.30$THP4

#1,R4
R&4

2 R4

AFTER ANY OF THE ABOVE

ttt.t.ttttt'tﬁttt'lttt"ttﬁﬁttttﬁtﬁtttﬁﬁttttttttttttttt'ttttttt

;SET UP THE LOOP ON ERROR ADDRESS.
JINITIAL OP CODE.

:CLEAR FPS.
JSET UP THE ILLEGAL INSTRUCTION.

JREPORT FAILURE. DID NOT TRAP.

;COMPUTE NEXT OP (ODE

;DID TRAP OCCUR ON TEST INSTRUCTION?

sGET THE FPS AND SEE IF IT IS
sSET CORRECTLY.

;GET THE FEC CODE. NOTE THAT

;IF THE DESTINATION MODE IS
:IMPROPERLY DECODED AN OLD
;ADDRESS TRAF TQ 4 SHOULD OCCJR.
;WAS FEC CORRE(CT?

SEQ 0030




CIKD(B~A KEF11~A FP DJAG PART 1 MACYT SOA(1052)

CJKD(B.

P11

003370
003372

003374
003374
003402

003406
003410

003514

12-MAR-B0 15:26

001001
000735

012737
010437

022716
001402
000137

011637
022626
104001
000714

104413

000004
104414
012737

012737
170020
170000

170201
022701
001005

170304
022704
001010
000431

003362 001240
001242

003364
062556

001236

003546

040000

003466

140000

000002

000244

001236

D9:

1%:

DERRZ:

D10:

1%:

DDONE :

F 3
12-MAR-80 15:31 PAGE 17

BNE D9

BR DS

MOV #D8, N TMP3
MOV R4, a#STMP4
ERROR 1

BR DS

MP #DB+2, (SP)
BEQ D10

JMP a#CPSPUR
MoV {SP) ,a#8TMP2
cMP (SP)+,(SP)+
ERROR 1

BR DS.

RSETUP

ILLEGAL FPP OP CODES AND STST TEST SEQ 0031l

;REPORT STST FAILURE l

;DID THE TRAP OCCUR ON THE
;STST INSTRUCTION?

;GO INITIALIZE THE FPS AND STACK. AND
;SEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOF TWARE
JVIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

B 232332322323 20332232332332232322323842323232342232342334322333282432322332223232Z222Z232H"%3.]

FID, INTERRUPT DISABLE, BIT TEST

'TEST 5

,tTHIS IS A TEST OF FPS BIT 14 (FID) OR FLOATING INTERRUPT DISABLE.
;AN ILLEGAL INSTRUCTION IS EXECUTED WITH FID=1. NO INTERRUPT SHOULD

;*0CCUR,
. W

.
;:Itt't*ttlt'ttttttttt"t'ttt't'tttt't"tt"tt'tt'ttt't""'tttt'

TSTS:
E1:

E2:
€3:
Eé:

EERRC:

SCOPE
LPERR
MoV

MOV
LDFPS
MOV

. WORD
CFCC
STFPS

WEERRZ ,a#FPVECT
#40000,RO

RO

NE3Z,NSTMP?
170020

R1
#140000,R1
EERRO

R4

#2 R4
EERR1
EDONE

;SET UP THE LOOP ON ERROR ADDRESS.

;SETUP FOR THE INTERRUPT.
;JSET FID.
;ILLEGAL FPP INSTRUCTION.

<SEE IF ERROR WAS DETECTED.

JSEE IF FEC=?

JREPORT FPS INCORRECTLY SET.




G 3
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CJKD(B.P11 12-MAR-80 15:26 FID., INTERRUPT DISABLE, BIT TEST SEQ 0032
89 003514 010137 001240 MOV R1,34$TMP3
897 003520 012737 140000 001242 MOV #140000,348TMP4
898 003526 104001 18: ERROR 1
388 003530 000422 B8R EDONE l
901 003532 EERR1: :REPORT FEC NOT 2.
902 003532 010537 001240 MOV RS ,a#$TMP3
903 003536 010437 001242 MOV R4 , NS TMPS
003542 104001 1%: ERROR 1
%Z 003544 000414 BR EDONE
907 003546 021627 003470 EERR2: (MP (5P) ,WEG :DID THE ILLEGAL INSTRUCTION TRAP?
908 003552 001402 BEQ 1%
3?3 003554 000137 062524 JMP a#FPSPUR
911 003560 1%:
912 003560 011637 001236 MOV (SP) ,a#8TMP2
913 003564 022626 CMP (SP)+,(5P)+
914 003566 170201 STFPS  R1
915 003570 010137 001240 MOV R1,a#$TMP3
g}g 003574 104001 2s: ERROR 1
918 003576 EDONE :
919 003576 104413 RSETUP ;GO INITIALIZE THE FPS AND STACK; AND
920 :SEE IF THE USER HAS EXPRESSED
921 ©THE DESIRE TO CHANGE THE SOF TWARE
922 SVIRTUAL CONSOLE SWITCH REGISTER (HAS
923 “THE USER TYPED CONTROL G?).
924
925
926 ;'-tttttttttttttttttQtttttttttttttlttttttttttttttttttttttttttttttt
ggg s«TEST 6 LDD AND STD, WITH SRC AND DST MODE 1, TEST
- %
929 :«THIS IS A TEST OF BOTH THE INSTRUCTION:
930 B LDD (RO) ,ACO
931 :~AND THE INSTRUCT]ON:
932 i* STD ACO, (RO)
933 S«MOST OF THE FAILURES ARE ISOLATED TO THE SRC OR DST FLOWS. NOTE
934 “«THAT THE INTEGRITY OF ACO HAS NOT BEEN ASSURED. THIS MEANS THAT
935 S«IN SOME CASES IT WILL BE IMPOSSIBLE TO ISOLATE CERTAIN DATA PATTERN
3%9 S«FAJLURES TO EITHER THE FLOWS OR THIS ACCUMULATOR.
- %
938 :';tttttttttttttttttttttttttttttltttttttnttttttlttttttttttttttttti
gzg 003600 000004 TST6:  SCOPE
941 003602 F1:
942 003602 104414 LPERR :SET UP THE LOOP ON ERROR ADDRESS.
943 003604 012737 003654 001236 MOV NF3, AN TMP?
944 003612 005000 CLR RO
945 003614 170100 LDFPS RO
96 003616 170011 SETD
947 003620 012701 005372 MOV #FDATIO,RI ;SET UP THE LOAD DATA.
948 003624 012702 005636 MOV #FXDATO,R2
ggg 003630 012703 000C10 MOV #10,R3

951 003634 012221 Fe: MOV (R2)+,(R1)+
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gg% 003636 077302
956 003640 012700 005402
955 003644 012737 005072 000004

957 003652 005003

959 003654 172410 F3:
960 003656 005203 Fé&:
961 003660 005203

963 003662 020027 005402
964 003666 001402
%5 003670 000137 004236

967 003674 020327 000002 FS:
968 003700 001402
969 003702 000137 004334

971 003706 012701 005372 1%:
972 003712 012702 005436

973 003716 012703 000010

974 0037.2 022122 2%:
975 003724 001402

976 003726 000137 004200

977 003732 077305 3%:

979 003734 170201
980 003736 022701 000200
981 003742 001402
982 003744 000137 005052

984 003750 F6:
985 003750 104414
986 003752 012737 004014 001236

988 003760 012703 177777

989 003764 012704 000010

990 003770 012705 005414

991 003774 010325 F7:
992 003776 077402

994 004000 012700 005424
995 004004 012737 005232 000004

997 004012 005003
999 004014 174010
1000 004016 005203
1001 004020 005203
1003 004022 020027 005424
1004 004026 001402
1005 004030 000137 004374

1007 004034 020327 000002 F12:

"™

— ok
- QO
av ee

H 3
12-MAR-80 15:31 PAGE 19
LDD AND STD, WITH SRC AND DST MODE 1, TEST

so8 R3,F2

MOV #FDAT]4 RO
MOV #FERR2O,QNERRVECT

CLR R3

LDD (RO) ,ACO

INC R3

INC R3

(MP R).#FDATI4 JWAS RO AFFECTED?

BEQ F5

JMP a#f ERR

(MP R3,#2 JSEE IF THE PC WAS ADVERSELY

8€EQ 18 JAFFECTED DURING THE INSTRUCTION.

JMP a#FERR?

MoV #FDAT10,R1
MOV #FXDATO,R2
MOv #10,R3

™ §§1)*,(R2)0

SNOT AFFECTED.

BEG

JMWP o¥FERRO

so8 R3,2$

STFPS Rl JMAKE SURE THE FPS S CORRECT.
CMP #200,R1

BEQ Fé

JMP SAFERR1

LPERR sSET UP THE LOOP ON ERROR ADDRESS.

MOV #F10,a08TMP2

MOV #-1,R3

MOV #10,R4

MOV #FDATOO,RS
MOV R3,(R5)+
so8 R4 ,F7

MOV #FDATO4 RO
MOV #FERRZS ,aWERRVECT
sADDRESS COULD OCCUR.

CLR R3

STD ACO, (RO) STEST INSTRUCTION.

INC R3

INC R3

M RO, #F DATO4 :WAS RO MODIFIED?

BEQ F13

JMP SNFERR3

CMP R3, 42 :WAS THE PC AFFECTED FORRECTLY’

;SETUP RO FOR THE LDD (RO),ACO.
;1f THE SRC FLOWS FAIL THEN
;AN ODD ADDRESS MAY OCCUR.

sMAKE SURE THE SOURCE DATA WAS

-SET UP THE OUTPUT DATA BUFFER,

;SET UP RO FOR DST MODE 1 REG 0.
sIF THE DST FLOWS FAIL AN ODD

SEQ 0033‘

|
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CJKDCB.P11 12-MAR-80 15:26 16 LDD AND STD, WITH SRC AND DST MODE 1, TEST SEQ 0034
1008 004040 001402 BEQ F135

}8(1)3 004042 000167 060320 WP FERRG

1017 004046 012701 0054164 F135: MOV #FDATOQ,R1

}8}‘% 004052 012702 005436 MOV #FXDATO.R2

10164 004056 022122 cMP (R1)+,(R2)+ ;SEE IF THE DATA WAS QUTPUT
1015 004060 001402 BEQ F13 ;7O THE TARGET AREA CORRECTLY.
?83‘7’ 0046062 000137 004472 MNP SNFERRS

1018 004066 022122 F13: (™ (R1)+,(R2)+

1019 004070 001402 BEQ F14

}85(1) 004072 000137 004472 JMP a#FERRS

1022 004076 022122 Fle:  CMP (R1)+,(R2)+

1023 004100 001402 BEQ F15

}8515' 004102 000137 0046472 NP SNFERRS

1026 004106 022122 F15:  C(MP (R1)+,(R2) +

1027 004110 001402 BEQ F16

}853 004112 000137 004472 MNP NFERRS

1030 004116 022122 F16:  CMP (R1)+,(R2)*

1031 004120 001402 BEQ F17

18%% 004122 000137 005016 JMP MMFERR10

1034 004126 022122 F17: (MP (R1)+, (R2)+

1035 004130 001402 BEw F20

}8% 0046132 000137 004526 Jwp NFERRG

1038 004136 022122 F20:  CMP (R1)+,(R2) +

1039 004140 001402 BEQ F21

}&? 004142 000167 000514 JMP FERR?

1042 004146 022122 F21: C™P (R1)+,(R2) +

1063 004150 001402 BEQ F22

}% 004152 000137 005016 o NFERRIO

1046 004156 005001 F22:  CLR R1

1047 004160 170201 STFPS Rl :MAKE SURE FPS [S CORRECT.
1068 004162 022701 000200 ™ #200,R1

1049 004166 001402 BEQ F23

1050 004170 000137 005052 WP SNFERR11

}825 004174 000137 005456 F23:  UMP aNF DONE

1053 004200 FERRO: :SOURCE DATA AFFECTED BY
1054 004200 012737 005436 001240 MOV #EXDATQ, 34 TMP3 STHE LDD "NSTRUCTION.
1055 004 012737 005450 001242 MOV #FXDATO+12, BNSTMPS

1056 004214 012737 005372 001244 MOV #FDATIO0, 346 TMPS

1057 004222 012737 005404 001246 MOV NFDATIO 12, aNSTMPS

1058 004230 104001 1$: ERROR 1

}823 004232 000137 005456 P a#F DONE

1061 004236 012737 005402 001242 FERR1: MOV NFDAT 14, NS TMPL sFSRC FLOWS FAILURE.
1062 004244 010037 001240 MOV RO, a#$TMP3

1063 004250 012737 000762 001244 MOV #762,348TMPS
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1064
1065
1066
1067
“068
1069
1079
1071
1072
1073
1076
1075
1076
1077
1078
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012737

022700
001004
012737

012701
000762

012737
010037
012737
012737

022700

001004
012737
000412
022700

001004
012737
000403

104001
000137

104001

000321
005372
000324

005412
000322

005456

005456

003656
001242
000004
001240
005456
004010
005424
001240
000527
000641
005414

000644

005434
000642

005456

MACY11 30A(1052)
T6

001250

001246

001246

001242

001244
001250

001246

001246

1%:

2%:

3%:

A ¥
5%:

FERRZ:

FERZ:

1%:

FERRSG:

FERR3:

1%:

2%:

3s:

(%
5%:

3
12-MAR-80 15:31 PAGE 21
LDD AND STD, WITH SRC AND DST MODE 1, TEST

ERROR
JWP

ERROR

#321,348TMP7
1;DATIO.R0
#324 ,H8TMPE
48

#FDAT14+10,R0
#322,48TMPG
4%

1
a#F DONE

1
a#F DONE
HF&,RY
R1,3N48TMPL
#4,R1

R3

R3.R1
?1.3’37HP3
a#F DONE

#11.R
FER2

NFDATOL , mrm
RO, /S THP

2597, mws
2641 . NSTHP7
#FDATO0,RO

13

N64L4 ,INSTMPE
43
sFDAT04*10.RO

$
#6462 ,3XSTMPE
4

1
a#FDONE

1

;FSRC MODE &?

;FSRC MODF 2?

;RO WAS MODIFED, LDD

;RO WAS MODIFED, LDD

;THE PC WAS INCORRECTLY AFFECTED
JDURING THE INSTRUCTION.

SFAJLURE IN THE FDST FLOWS.

;DST MODE &7

;DST MODE 2?

sRO WAS MODIFIED, STD

;RO WAS MODIFIED, STD

SEQ 0035
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CIKDCB.P11 12-MAR-B0 15:26 LDD AND STD, WITH SRC AND DST MODE 1, TEST SEQ 0036
1120

HS% 004466 000137 005456 JMP aWF DONE

1123 006472 FERRS: ;FAJLURE OF STD.

1124 004472 010037 001240 MOV RO, a¥STMP3

1125 006476 012737 005614 001242 MOV #FDATOO , 3#S TMP

1126 006506 012737 005432 001244 MOV #FDATO7 . aWS TMPS

1127 004512 012737 0056436 001246 MOV #FXDATO 3N TMPG

1128 004520 104003 1$: ERROR 3 BAD, STD

H% 004522 000137 005456 JMP 24F DONE

1131 004526 012701 005426 FERR6: MOV #FDATOS ,R1 :DID (BUT GR7) FAIL [N THE FDSTY
1132 004532 012702 177777 MOV #-1,R2 SFLOWS?

1133 004536 012703 000003 MOV #3,R3

113, 004542 020221 1$: CMP R2.(R1)+

1135 004544 001017 BNE 58

H%? 004546 077303 S08 R3,18

1138 :REPORT FAJLURE OF (BUT GR7) IN
1139 004550 010037 001240 MOV RO, a¥STMP3 “THE FDST FLOWS.

1140 004554 012737 000412 001244 MOV #4612, 308TMPS

1141 004562 012737 000147 001246 MOV 2147 .348TMPG

1142 004570 012737 000145 001250 MOV #1465 NSTMP7

1143 004576 104001 28: ERROR 1

Hzg 004600 000137 005456 JMP N7 DONE

1146 004 012701 005426 58: MOV #EDATOS,R1 :DID (BUT GR7) FAIL IN THE SRC FLOWS?
1147 004610 012703 000003 MOV #3 R3

1148 0046146 005721 €$: TST (R1)+

1149 004616 001402 8EQ 78

1150 000137 005016 NP aNFERR10

} }gg 0046264 077305 7%: so8 R3,6$

1153 ;REPORT FAILURE OF (BUT GR7) IN
1154 004626 010037 001240 MoV RO, aVSTMP3 “THE FSRC FLOWS.

1155 004632 012737 000207 0012644 MOV #207 . s TMPS

1156 0046640 012737 000176 001246 MOV #176.08TMPG

ng?a 004646 012737 000176 001250 MOV 74, 388TMP7

1159 004654 104001 108:  ERROR 1

”g? 004656 000137 005456 JMP 4FDONE

1162 004662 012701 005430 FERR7: MOV #FDATO06,R1 :DID (BUT FD) FAIL IN THE FDST FLOWS?
1163 012702 177777 MOV #-1,R2

1164 004672 012703 000002 MOV #2.R3

1165 004676 020221 1$: P R2. (R1)+

1166 004700 001017 BNE 3

”gg 004702 077303 SO8 R3,1$

1169 :REPORT FAILURE OF (BUT FD) IN THE
1170 004704 010037 001240 MOV RO, 3#$TMP3 LFDST FLOWS.

1171 004710 012737 000707 001244 MOV #707 NS TIPS

1172 004716 012737 000244 001246 MOV #2464 348 TMPE

1173 004726 012737 000245 001250 MOV #2LS . INSTMP?

1174 004732 104001 28: ERROR 1

1175 004734 000137 005456 JMP aF DONE
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012701 005430
012703 000002
005016

001240
000441
000076
000077

005456

010137
012737
104001
000137

012737
005037
011637
012737
012737
012737

021627
001424

020027
001006

012737
022626
104001
000536

020027
001402
000137

005404
062556

012737
022626

000323

MACY11 30A(1052)
16

S%:

6%:

7%:

001244
001246
001230~

108:

FERR10:
001242
001244
001246
1%:
FERR11:
001242
1%:

001264 FERR20:

001240
001250
001244

001246
1%:

2%:

3s:
001246

L 3
PAGE

23

LDD AND STD, WITH SRC AND DST MODE 1, TEST

12-MAR-80 15:31
MOV NFDATO06,R1
MOV n2 R3
ST (Rf)+
BEQ 78
JMP NFERR10
SOB R3,6$
MOV RO, NS TMP3
MOV No41 , 48 TMPS
MOV #76, MSIMPE
MOV N77.38STMP7
ERROR 3
JMP aNF DONE
MOV RO, 3NSTMP3
MOV NFDATOL , NS TMPS
MOV NFEDATO7 .a#$ TMPS
MOV #F XDATSL , oS TMPG
ERROR 1
JMP NFDONE
MOV R1,a¥8TMP3
MOV #200, a8 TMPL
ERROR 1
JMP SWF DONE
MOV MNULL , a¥STMP1S
CLR rSTMP10
MOV (SP) ,aNsTMP?
MOV #EDATIS  QNSTMP3
MOV #321 . arbTMP7
MOV #762.08TMPS
c™P (SP) ,#F4+2
BEQ FERR2Y
P RO,#FDATI3
BNE 2%
MOV #325,a08TMP
P (SPY+, (SP)+
ERROR 1
F DONE
™ RO,#FDATIS
8EC 3$
JMP FCPSPUR
MOV #323, 34STMPG
(SP)+,(SP)+

;DID (BUT FD) FAIL IN THE FSRC FLOWS?

SREPORT FAILURE OF (BUT FD) IN THE
;JFSRC FLOWS.

sBAD DATA

;REPORT DATA ERROR.

;REPORT BAD FPS.

s THE EXECUTION OF THE LDD
;CAUSED A TRAP TO &4, BECAUSE
;A FSRC FLOW FAILURE RESULTED
:IN AN 0DD ADDRESS.

;SEE IF FSRC MODE 6 OR 7 WAS
;EXECUTED.

;FSRC MODE 5?
sREPORT FSRC FLOW FAILURE TO
;MODE 5.

;FSRC MODE 3?

SREPORT FSRC
.MODE 3.

FLOW FAJLURE TO

SEQ 0037
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005204
005206
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104001
000523

022626

012737
012737

012737
012737

021627
001424

020027
001006

012737
022626
104001
000456

020027
001402
000137

012737
022626
104001
000443

012737
012737
022626
104001
000432

177777
1772777
177777
1772777
177777
177777
177777
177777
1772777
177777

005422

000645

005426
062556

000643

000646
000647

MACY!

001246
001252

001264

001240

001244
001250

001246

001246

001246
001252

30A(1052)
16
(%

FERRZ21:

1%:

FERRZS:

18:

2s:

3%:
4$:

FERR26:

1%:

FDATIO:
FDATI:
FDATI2:
FDATI3:
FDAT]14:
FDATIS:
FDATI16:
FDATI?7:

FDATOO:

m3
12-MAR-80 15:31 PAGE 24

LDD AND STD, WITH SRC AND DST MODE 1, TEST

ERROR
BR

(MP

1
F DONE

(SP)+,(SP)+

#326,a08TMPE
q327,a#STMP10

F DONE

ANULL ,a¥8TMP1S
NSTMP10
AFDATOL ,ansTMP3
(SP) ,aw$TMP?
#527 . NS TMPS
#641.34STMP7

(SP) ,#F10+2
FERR26

RO,#FDATO3
2%

#64L5 , ANSTMPE
%SP)*.(SP)+
FDONE

gg,#FDATOS
a#CPSPUR
#6463, 3N TMPE
;SP)+.(SP)+
FDONE
#6466, 343 TMP6
#O4LT7 . BNSTMP10
(SP)+,(5P)+

1
FDONE

JREPORT FSRC FLOW FAILURE TO
;MODE 6 OR MODE 7

JTHE EXECUTION OF THE STD INSTRUCTION
s TRAPPED TO 4, BECAUSE A FAILURE

;IN THE FDST FLOWS RESULTED

;IN AN ODD ADDRESS.

;FLOW FAILURE TO FDST MODE € OR 7?2

;DID FDST FLOW FAIL TO MODE 5?

;JREPORT FLOW FAILURE TO FDST

MODE 5

:DID FDST FLOW FAIL TO MODE 3?

;REPORT FDST FLOW FAILED TO MODE 3.

;REPORT FDST FLOW FAILURE 7O MODE

SEQ 0038
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CJKDCB-A KEF11-A FP DIAG PART 1 MACY11 30A(1052) 12-MAR-B0 15:31 PAGE 25

CJxDCB.P11 12-MAR-80 15:26 LOD AND STD, WITH SRC AND DST MODE 1, TEST SEQ 0039
1288 005416 177777 FDATO1: -1
1289 005420 1772777 FDATOZ: =1
1290 005422 177777 FDATO3: =1

1291 005424 177777 FDATOL: -1
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(IKDCB.PI11 12-MAR-80 15:26 16 LDD AND STD, WITH SRC AND DST MODE 1, TEST SEQ "«
1292 005426 177777 FDATOS: -1
1293 005430 177777 FDATO6: -1
005432 177777 FDATO7: <1
005434 177777 -1
005436 177777 FXDATO: -1
005440 177777 FXDAT1: -1
005442 177777 FXDAT2: =1
0054446 177777 FXDAT3: -1
005446 052525 FXDAT4: 052525
005450 031463 FXDATS: 031463
005452 007417 FXDAT6: 007417
005454 000477 FXDAT7: 000477
005456 FDONE :
005456 106413 RSETUP GO INITJALIZE THE FPS AND STACK; AND

;SEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOF TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

CARNA AR AR AR RRRRANR AR AR AR AR RNAN R RRAAR AN AN RRANRAANNRRARRR RN AN AR
*TEST 7 FSRC MODE O TEST
*THIQ IS A TEST OF FSRC MODE ZERO USING THE LDD AND LDF INSTRUCTIONS.

s i2 e sttt ittt ittt ittt st 22 s 222222222 0

005460 000004 TST? SCOPE

NN NN NN MWWWMWWWWWWNWMWWWWW
R K R R e e e S B H S8 B8PV UP VY

._._._‘_;_;_;_;_;_._‘_I—A_;_l_;_.—a_a_‘_A—J_A_A—A_A_A_a_;_l_‘.a—l_a—I—A.J_a-a_a_a—d—d—-l—d—l—d—-l-a-d_a-d-a.a_n

005462 104414 LPERR ;SET UP THE LOOP ON ERRUOR ADDRESS.
005464 I1:
005464 170011 SETD :SET FD.
005466 012700 006274 MOV #IDATIO,RO
005472 012701 006244 MOV #1PAT10.R]
005476 012702 000004 MOV ¥4 ,R2
005502 012120 12: MOV (R1)+,(R0O)+ JSET UP THE INPUT DATA BUFFER.
005504 077202 SOB R2,12
005506 012700 006274 MOV #IDATIO,RO :LOAD AC1
005512 172510 LDD (ROY ,ACT
005514 012700 006254 MOV #1PAT20,R0 :LOAD ACO
33 005520 172410 LDD (RO) ,ACO
337 005522 012701 000001 MOV #1,R1 JIN CASE THE FSRC FLOWS FAIL
338 005526 012737 006044 000004 MOV xxsnao S#ERRVECT *AN ODD ADDRESS TRAP TO 4 MAY OCCUR.
339 005536 012737 005542 001236 MOV 3, ar8TMP2
UC 005542 172401 13: LDD AC1 “ACO STEST INSTRUCTION.
341 005544 000240 14 NOP
%g 005546 000240 15 NOP
344 005550 012700 006264 MOV #1DATO0,RO
gzg 005554 174010 STD ACO, (RO} :GET ACO, THE RESULTS.
347 005556 012700 006264 MOV #1DAT00,RO ©SEE IF DATA IS CORRECT.
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WWW
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012701
012702
022021
001424

012700

000401
077216
000137

077227

104414

012700
012701
012702
012021
077202

012700
172510

012700
172410

012701
012737
170001

172401
000240
000240

170200
022700
001402
000137
170011

012700

006274
000004
006270
000002

006270
000002
177777
006126

006146

006244
006274
000004

006274
006254

000001
005722

000004
006220

006264

001236

16:

17:

1%:

2%:
110:

1106:
1105:

C 4
12-MAR-80 12%31 PAGE 27

FSRC MODE 0 TE
MOV #IDATIO.R1
MOV #4 R2
P (RO)+. (R1)+
BEO 1105
MOV #1DATO2,RO
MOV ”2.R2
ST (RO) +
BEQ 110
MOV #IDATO2,RO
MOV #2,R2
P #-1,(RO)+
BEQ 23
JMP a4 ]ERR1
S08 R2,1$
8rR 1106
S08 R2,17
MP ¥ ERR2
s08 R2,16

;SEE IF (BUT FD) FAILED.

sNOW TEST THE LOAD INSTRUCTION WITH FSRC MODE ZERO AND FD (LEAR.

111:

112:

113:

e g e
— -
[+ 3V, ¥

117:

LPERR

MOV
MOV
MoV
MOV
so8

MOV
LDD

MOV
LDD

MOV
MOV
SETF

LDF
NOP
NOP

STFPS
W
BEQ
JMWP
SETD

MOV

;SET UP THE LOOP ON ERROR ADDRESS.

#1PAT10,R0

#IDATIO R

#4_R2

(RO)+, (R1)+
R2,11%

#IDATIO,RO
(RO) ,ACH

#1PAT20,RO
(RO) ,ACO
#1.R1

#1746, ansTMP?

AC1,ACO

Ao RO
117
¥ IERR3

#1DAT0O0,RO

JSET uP ACT

SSET UP ACO

;CLEAR fD.
;TEST INSTRUCTION.

;SEE IF FPS IS STILL CLEAR.

JRESET TO DOUBLE MODE.

SEQ 004!
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1404
1405
1606
1407
1408
1409
1410
1411
1412
1413
1414
1415
1676

005752
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174010

012737
012737
012730
012701
012702
022021
001414

023737

077217
000520

022716
001413
022716
001410
022716
001405

011637
012737
012737
022626
104001
000467

012737
012737
1046004
000457

012737
012737
012737

104001
000644
012737
012737
012737

177777
177777
006264
006274
000004

006270

006126
006272

006174

005544
005546
005724
005726
062556
001236

000627
000320

000434

006300
006302

006250

006252

001240
001242

001242
001244

001244
001246
001250

001244
001246
001250

D &
12-MAR-80 15:31 PAGE 28

FSRC MODE O TEST

STD ACO, (RO) ;GET ACO
MOV N=1,3#IDAT]?
MOV #-1.3#1DATI3
MOV #1DATO0,RO
MOV :onrxo R1
MOV #4 R2
120: ™ (Rb)* (R1)+ ;SEE IF ACO WAS CORRECT.
BEQ 123
cwP S¥IDATO2 a4 IPAT12 :DID (BUT FD) FAIL?
BEQ 122
121: WP a#IERR1
122: c™P 4 IDATO3, ¥ IPAT13
BNE 121
JMP 34 [ERRG
123:  so8 R2,120
BR IDONE :NO ERRORS.
;1F AN ODD ADDRESS TRAP OCCURS COME HERE TO ANALYZE THE FSRC FAILURE.
1ERRO: CwWP #14,(SP) ;MAKE SURE THE TRAP OCCURRED
BEQ 1% :ON THE INSTRUCTION BEING TESTED.
™ #1S, (SP)
BEQ 1%
c™P #115, (SP)
8EQ 1%
c™P #116, (SP)
BEQ 18
JMP aFCPSPUR
18: MOV (SP) . a#STMP? ;REPORT FAILURE.
MOV #627 . 3NSTMP3
MOV #320. 34 TMPL
W (SP)+, (SP) +
28: ERROR 1
BR IDONE
;REPORT DATA ERROR.
IERR1:
MOV #IDATIO,¥STMPG
MOV #1DATOO . NS TMPS
18: ERROR &
B8R IDONE
:REPORT FAILURE OF (BUT FD)
1ERR2: MOV #153, 3NSTMPS
MOV #4634 SNSTMPG
MOV #L35 . INETMP?
IERR2S :
18: ERROR 1
BR IDONE
IERRG: MOV #153, 3#$TMPS
MOV #435 . INSTMPG
MOV #434 . NS TMPT

SEQ 0OCsc
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CJKDCB.

1460
1661

1462
1463
1464
1465
1666
1467
1468
1469
1470
16471

1672
1473
1474
1475
16476
1477
1478
1479
1480
1481

1482

1507

38

T S N Y
(S JV IV, LV, LV NV, 1V, 1V,]

PN
006216
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000764

5383

000000
000000

104413

000004

104414
170011
012700
012701
012702
012021
077202

012700

005722 001236
001260
000004 001242

007036
007066
000004

007066

sREPQRT
1ERR3:

1%:

E &
12-MAR-80 15:31 PAGE 29
FSRC MODE O TEST

BR 1ERRZS

INCORRECT FPS AFTER LOAD INSTRUCTION.
MGV 114 ,aN8TMP?

MoV RO,aN$TMP3

MOV #4 , NS TMPS

B8R IDONE

m
P2
Pd
b
—

IPAT10: O

IPAT11:
IPAT12:
1PAT13:

IPATZ20:
IPAT?21:
IPAT22:
IPATZ23X:

IDATOO:
IDATO1:
IDATO2:
IDATO3:

IDATIO:
IDATI:
IDAT]2:
IDATI3:

IDONE :

170360
016161
052525

OOO0O0 OOOQO

;GO INITIALIZE THE FPS AND STACK. AND
;SEE IF THE USER HAS EXPRESSED

. ;THE DESIRE TO (HANGE THE SOF TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

P4
wv
m
—
%

3332223233323 23232 3302228221223 2238300322300 200230023220202020dRdRddd]

tTEST 10 FDST MODE O TEST

tTHIS IS A TEST OF THE STORE INSTRUCTIONS, STD AND STF, WITH FDST MODE O.

titiiititittti*t'tttttitttttttittttttttit!ttttttttttttttttttttt

TST10
T:

T2:

SCOPE
LPERR JSET UP THE LOOP ON ERROR ADDRESS.
SETD JSET FD

MOV #TPAT10,RO
Mov #TDATIO.RY

MOV 24 R2

MOV (ROY+, (R1)+ sSET UP THE INPUT DATA BUFFER.
SOB R2,T2

MOV #TDATIO,RO :LOAD ACD

SEQ C




F 4
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CJKDCB.P11 12-MAR-80 15:26 FDST MODE O TEST SEQ 0044
1155119 006340 172410 LDD (RO) ,ACO

1518 006342 012700 007046 MOV #TPAT20,RO ;LOAD ACY

};}3 006346 172510 LDD (RO) ,AC{

1521 006350 012701 000001 MOV ”1,R1 ;IF THE (BUT FDST) FORK FAILS
1522 006354 012737 006644 000004 MOV #TERRO , @#ERRVECT *AN ODD ADDRESS TRAP COULD RESULT.
1523 006352 012737 006370 001236 MOV #13, 348 TMP2

15264 006370 174001 13: STD ACO.AC1

1525 006372 000240 14: NOP

}259 006374 000240 15: NOP

1508 006376 012700 007056 MOV #TDATOO,RO

}22}8 006402 174110 STD AC1,(RO) ;GET THE DATA.

1531 006404 012703 007056 MOV #TDATO0,R3 JSEE IF THE DATA IS CORRECT.
1532 006410 012704 007066 MOV #TDAT10. R4

1533 006414 012705 000004 MOV #4 RS

153 006420 022324 T6: P (R$)+, (R&)+

;ggg 006422 001413 BEQ 1105

1537 006424 012703 007062 MOV #TDAT02,R3 :DID (BUT FD) FAIL?

1538 006430 012705 000002 MOV #2 RS

1539 006434 005723 17: TST (R$)+

1540 006436 001402 BEQ 110

1541 006470 000137 006726 JMP SHTERRT

1542 006444 077505 T10: SOB RS,T7

}22‘3. 006446 000137 006746 MP M TERR2

}222 006452 077516 T105: S08 RS,T6

%gzg sNOW TEST THE STF ACO,AC1 INSTRUCTION.

1549 006454 :

1122? 006454 104414 LPERR SSET UP THE LOOP ON ERROR ADDRESS.
1552 006456 012700 007036 T12: MOV #TPAT10.RO :SET UP THE INPUT DATA BUFFER.
1553 006462 012701 007066 MOV #TDAT10.R1

1554 006466 012702 000004 MOV # R2

1555 006472 012021 T13: MOV (ROY+, (R1)+

}ggg 006474 077202 s08 R2.T15%

1558 006476 012700 007066 MOV #TDATIO,RO :SET UP ACO

}223 006502 172410 LDD (RO) ,ACO

1561 006504 012700 007046 MOV #TPAT20,RO SSET UP ACY

;225 006510 172510 LDD (RO) ,ACi

1564 006512 012701 000001 MOV #1 R

1565 006516 012737 006526 001236 MOV #1ie, ansTMP?

1566 006524 170001 SETF JCLEAR FD

1567 006526 174001 T14: STF ACO,ACT

1568 006530 000240 T1S:  NOP

}ggg 006532 000240 T16:  NOP

1571 006534 005000 (LR RO
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CJKD(B.

1572
1573
1574
1575
1576
1577
1578
1579
1580
1581

1582
1583
1584
1585
1586
1587
1588
1589
1590
1591

1592
1593
1594
1595
1596
1597
1598
1599

P11
006536

170200
022700
001401
000521

170011

012700
174110

012737
012737
012703
012704
012705
022324
001412

023737
001401
000440
023737
001373
000456

077515
000515

022716
001413
022716

011637
022626
012737
012737
104001
000464

012737
012737
104001
000454

000010

007056

177777
177777
007056
007066
000004

007062

007064

006372
006374
006530
006532
062556
001236

000527
000640

007066
007056

007072
007074

007042

007044

001240
001242

001242
001244

FDST MODE O TEST

STFPS RO JSEE IF FPS IS CLEAR.
(M #10,R0
BEQ 117
B8R TERR3
T17:
SETD ;SET FD.
MOV #TDATOO0,RO
STD AC1,(RO) JPICK UP ACY.
MOV #=-1,a#8TDATIZ
MOV #-1,a#TDATIS
MOV #TDATOQ.R3
MOV lTDATIO R4
MOV #4 RS
120: Mp (R3)+ (R4)+ sWAS THE DATA TRANSFERRED (CORRECTLY?
BEQ 123
MpP SNTDATO2, ¥ TPATI2 :DID (BUT FD) FAIL.
BEQ 12¢
121: B8R TERR1
122: cMP a#TDATO3,a#TPAT13
BNE 121
B8R TERRS
123: SOB RS,T720
BR TDONE

: TRAP HERE THROUGH VECTOR 4 IF AN ODD ADDRESS OCCURS.

TERRO: (MP #T4,(SP) sMAKE SURE THE TRAP WAS ON
8EQ 1% AN INSTRUCTION BEING TESTED.
[ #15,(SP)
8EQ 1%
G d #115,(SP)
8EQ 13
P #116,(SP)
8EQ 13
JWP SH#CPSPUR
18: MOV (SP) ,aN$TMP?

M (SP)+,(SP)+
MOV N527 ,aN8TMP3
MOV #6460, IIBTMPS

2%: ERROR 1
BR TDONE
;REPORT DATA FAILURE.
TERR1:
MOV N#TDATIO, a#STMP4
MOV #TDATOO , a#$ TMPS
1%: ERROR 1

BR TDONE

SEQ 0045
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CJKDCB.

1628
1629
1630
1631
1632
1633
1634

P11

007066

007074

007076
007076

12-MAR-80 15:26

000000
170360
016161
052525

1772777
177777
177777
177777

000160
000161
000640

000161
000160

006530
001240
000010

001246
001250
001244

001246
001250

001236
001242

;REPORT

H 4
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FDST MODE O TEST

FAILURE OF (BUT FD),

TERR?: MOV #160,348TMPS
MOV #1161, a8 TMP7

TERRZ2S: MOV #6460 ,a4STMPS

1%: ERROR 12
8R TDONE

TERRSG : MOV 2161 ,a08TMPE
MOV #160,a08TMP7
B8R TERRS

%?g;gRr INCORRECT FPS AFTER STORE INSTRUCTION,
MOV NT15,a08TMP?2
MOV RO BISTMP3
MOV 810, 348 TMP

1%: ERROR 1
8R TDONE

TPAT10: O

TPAT11: 170360

TPAT12: 016161

TPAT13: 052525

TPAT20: =1

TPAT21: -1

TPAT22: -1

TPATZ23: -1

TDAT00: 0O

TDATO1: O

TDATOZ2: 0

TDATO3: 0

TDATIO: O

TDATI1: O

TDATIZ2: 0

TDATI3: O

TDONE :
RSETUP ;GO INITIALIZE THE FPS AND STACK; AND

cSEE IF THE USER HAS EXPRESSED

sTHE DESIRE TO CHANGE THE SOF TWARE
sVIRTUAL CONSOLt SWITCH REGISTER (HAS
:THE USER TYPED CONTROL G?).

Q.Q.Qtt.tQ.t'tt'kt*t.tf‘.ttt'l'ttlltt""'.'l't.'.t..."t...t't

'TEST "

-THIS IS A TEST OF THE FLOATING POINT PROCESSOR ACCUMULATORS.
:*EACH ACCUMULATOR IS TESTED IN TWO WAYS:
1 TEST PATTERN GENERATED BY FLOATING A ONE ACROSS
A FIELD OF ZEROES.
2 TEST PATTERN GENERATED BY FLOATING A ZERO ACROSS
A FIELD OF ONES.

*
.

*
.

* W
.

*

ACCUMULATORS DATA PATTERNS TEST

SEQ 0046
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CJKDCB.P11  12-MAR-80 15:26 ACCUMULATORS DATA PATTERNS TEST SEQ 0047
1684 ;*EACH OF ACCUMULATORS ACO THROUGH ACS IS TESTED.

1685 ".'Qltl'.llltlllttlltt‘tt...ttt.l‘t'lttt"ttttt't't"""t.t"t'..

1686 007100 000004 T§111:  SCOPE i

1687 007102 170011 SETD SSET FD.

1688 ;TEST ACCUMULATOR O WITH FLOATING ONE

1689 007104 012737 007136 001236 MOV #G1 . NS TMP

1690 007112 012700 011002 MOV #GPAT00,RO

1691 007116 012701 011042 MOV #GDATOO .R1 |
1692 007122 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.

1693 007124 004737 010650 JSR PC,a¥GSE TUP :LOAD TEST PATTERN.

169 007130 012703 000102 MOV #102.R3

1695 007134 61:

1696 007136 172410 LOD  (RO).ACO |
1697 007136 174000 STD AC0,ACO

1698 007140 172400 LDD ACO.ACO :STORE THE TEST PATTERN. [
1699 007142 174011 STD ACO. (R1)

1700 007144 004737 010746 JSR PC,a#G(MP ;COMPARE THE DATA READ WITH

1701 “THAT WHICH WAS WRITTEN.

1702 007150 005737 010776 ST a¥GF LAGT

1703 0071564 001004 BNE G2

1704 007156 005137 010776 com aNGFLAG

1705 007162 000261 SEC

1706 007164 000401 8R G3

1707 007166 000241 G2: cLe

1708 007170 006160 000006 G3: ROL 6(R0O) ;GENERATE THE NEXT TEST PATTERN.

1709 0071746 006160 Q00004 ROL 4(RO)

1710 007200 006160 000002 ROL 2(RO)

1711 007204 006110 ROL (RO)

11;% 007206 004737 010726 JSR PC.R#GRESET ;gE'?EIRDEFALLT PATTERN IN OUTPUT

M LK.

mg 007212 077330 S0B R3,61

1716 ;TEST ACCUMULATOR O WITH FLOATING ZERD

1717 007214 012737 007244 001236 MOV #G4 NS TMP?

1718 007222 012700 011012 MOV AGPAT10,R0

1719 007226 012701 011042 MOV #GDATOO0 .R1

1720 007232 104414 LPERR :SET UP THE LOOP ON ERROR ADDRESS.

1721 007234 004737 010650 JSR PC ,BNGSETUP :LOAD TEST PATTERN. l
1722 007240 012703 000102 MOV #102.R3

1723 (07244 Gb:

1724 007244 172410 LDD (RO) .ACO

1725 007246 174000 STD ACO,ACO

1726 007250 172400 LDD ACO.ACO :STORE THE TEST PATTERN. |
1727 007252 174011 STD ACO. (R1)

1728 007254 004737 010746 JSR PC ., S¥GCMP :COMPARE THE DATA READ WITH

1729 ;THAT WHICH WAS WR]TTEN.

1730 007260 005737 010776 ST NGFLAG

1731 007264 001004 BNE GS

1732 007266 005137 010776 com NGFLAG!

1733 007272 000241 (Le

1734 007276 000401 B8R G

1735 007276 000261 GS: SEC

1736 007300 006160 000006 G6: ROL 6(R0) ;GENERATE THE NEXT TEST PATTERN.

1737 007306 006160 000004 ROL 4 (RO)

1738 007310 006160 000002 ROL 2(RO)

1739 007314 006110 ROL ({RO)
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CJkD(B.P1 12-MAR-80 15:26 ACCUMULATORS DATA PATTERNS TEST
;;2(1) 007316 004737 010726 JSR PC,aW#GRESET
;;g 007322 077330 SO8 R3,Gé
1764, STEST Accunuwon 1 WITH FLOATING ONE
17645 007324 012737 007354 001236 #G7, NS TMP?
1766 007332 012700 011002 nov #GPATO0,RO
17647 007336 012701 011042 MOV #GDATOO R1
12648 007342 104414 LPERR SSET UP
17649 007346 004737 010650 JSR PC mssrup
1750 007350 012703 000102 MOV 02,

1751 007354 67:

1752 007354 172410 LDD (RO) ,ACO
1753 007356 174001 30 ACO,ACT
1756 007360 172401 LDD AC1.ACO
1755 007362 174011 STD ACO, (R1)
1;23 007364 004737 010746 JSR PC ., a#GCMP
1758 007370 005737 010776 ST aNGFLAGT
1759 007374 001004 BNE 610

1760 007376 005137 010776 cam aNGF LAGT
1761 007402 000261 SEC

1762 007404 000401 B8R 611

1763 007406 000241 610:  CLC

1764 007610 006160 000006 G11:  ROL 6(RO)
1765 007414 006160 000004 ROL 4(RO)
1766 007420 006160 000002 ROL 2(RO)
1767 0074246 006110 ROL (RO)

11;(33 007426 004737 010726 JSR PC.a#GRESET
1770 007432 077330 S0B R3,G7
1771

1772

1773 cTEST ACCU"JLAT(R WITH FLOATING ZERO
1774 007434 012737 007464 001236 #G12,308TMP2
1775 007442 012700 011012 nov #GPAT10,RO
1776 007446 012701 011042 MOV #GDATOO . R1
1777 007452 104414 LPERR

1778 007454 004737 010650 JSR PC, a#GSETUP
1779 007460 012703 000102 MOV #1062 R3
1780 007464 G12:

1781 007464 172410 LDD (RO) ,ACO
1782 007466 174001 STD ACO,ACT
1783 007470 172401 LDD AC1.ACO
1784, 007472 174011 STD ACO. (R1)
]7'752 007676 004737 010746 JSR PC, a#GCMP
1787 007500 005737 010776 ST NGFLAG?
1788 007504 0071004 BNE 613

1789 007506 005137 010776 CoM NGFLAG
1790 007512 000241 cLe

1791 007514 000401 B8R G14

1792 007516 000261 613:  SEC

1793 007520 006160 000006 Gl4:  ROL 6(RO)
1796 007526 006160 000004 ROL 4 (RO)
1795 007530 006160 000007 ROL 2(RO)

JRESET DEFAULT PATTERN [N OUTPUT
BUFFER.

THE LOOP ON ERROR ADDRESS.
JLOAD TEST PATTERN.

STORE THE TEST PATTERN.

;COMPARE THE DATA READ WITH

;THAT WHICH WAS WRITTEN.

;GENERATE THE NEXT TEST PATTERN.

JRESET DEFAULT PATTERN [N OQUTPUT
BUFFER.

sSET UP THE LOOP ON ERROR ADDRESS.

sLOAD TEST PATTERN.

sSTORE THE TEST PATTERN.

. COMPARE THE DATA READ WITH
sTHAT WHICH WAS WRITTEN.

sGENERATE THE NEXT TEST PATTERN.

SEQ 004F
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CIKDCB.P11 12-MAR=B0 15:26 ACCUMULATORS DATA PATTERNS TEST SEQ 0049
1796 007534 006110 ROL (RO)

%773; 007536 004737 010726 JSR PC.#GRESET ;gsgggRos;Auu PATTERN IN OUTPUT
;% 007542 077330 S0B R3,G12 ‘
1801 JTEST ACCUMULATOR 2 WITH FLOATING ONE

1802 007544 012737 007574 001236 MOV #G15, NS TMP?

1803 007552 012700 011002 MOV #GPAT00,RO

1804 007556 012701 011042 MOV #GDATOO R

180S 007562 104414 LPERR JSET UP THE LOOP ON ERROR ADDRESS.

1806 007564 004737 010650 JSR PC MGSETUP ;LOAD TEST PATTERN.

1807 007570 012703 000102 MOV #102.R3

1808 007574 615:

1809 007574 172410 LDD (RO) ,ACO

1810 007576 174002 STD ACO,AC?

1811 007600 172402 LDD AC2.ACO ;STORE THE TEST PATTERN.

1812 007602 174011 STD ACO. (RT)

1813 007604 004737 0107646 JSR PC ., #GCMP ;COMPARE THE DATA READ WITH
1814 ;THAT WHICH WAS WRITTEN.

1815 007610 005737 010776 ST NGFLAG!

1816 007614 001004 BNE 616

1817 007616 005137 010776 coM NGFLAGT

1818 007622 000261 SEC

1819 007626 000401 8R 617

1820 007626 000241 G16:  CLC

1821 007630 006160 000006 G17:  ROL 6(RO) :GENERATE THE NEXT TEST PATTERN.
1822 007634 006160 000004 ROL 4(RO)

1823 007640 006160 000002 ROL 2(R0)

182, 007644 006110 ROL (RO)

13222 007646 004737 010726 JSR PC,a¥GRESET -'gf,ffén""‘“” PATTERN IN OUTPUT
}ggg 007652 077330 S08 R3.615

1829 ;TEST ACCUMULATOR 2 WITH FLOATING ZERO

1830 007654 012737 007704 001236 MOV #G20 ,aNSTMP2

1831 007662 012700 011012 MOV #GPAT10,RO

1832 007666 012701 011042 MOV #GDATOO R1

1833 007672 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.

183 007674 004737 010650 JSR PC awcsewp :LOAD TEST PATTERN.

1835 007700 012703 000102 MOV #102.R

1836 007704 620:

1837 007704 172410 LDD (RO) ,ACO

1838 007706 174002 STD ACO,AC2

1839 007710 172402 LDD AC2.ACO :STORE THE TEST PATTERN.

1840 007712 174011 STD ACO, (R1)

1841 007714 004737 010746 JSR PC, aNGCMP :COMPARE THE DATA READ WITH
1842 ;THAT WHICH WAS WRITTEN,

1843 007720 005737 010776 ST aNGFLAGY

1844 007724 001004 BNE G621

1845 007726 005137 010776 coM NGFLAG!

1846 007732 000241 cLC

1847 007734 000401 B8R 622

1848 007736 000261 G21:  SEC

1849 007740 006160 000006 Go2:  ROL 6(R0) ;GLNERATE THE NEXT TEST PATTERN.
1850 007744 006160 000004 ROL 4 (RO)

'851 007:>0 006160 000002 ROL 2(R0O)
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CJKDCB.P11 12-MAR-80 15:26 T ACCUMULATORS DATA PATTERNS TEST SEQ 0050
1852 007754 006110 ROL (RO)

}ggz 007756 004737 010726 JSR PC,a#GRESET :gSEEgRDEFAULT PATTERN IN OUTPUT
}ggg 007762 077330 SO8 R3,620

1857 STEST Accmuwon 3 WITH FLOATING ONE

1858 007764 012737 010014 001236 #G23, NS TMP?

1859 007772 012700 011002 nov #GPAT00,RO

1860 007776 012701 011042 MOV #GDATOO0 .R1

1861 010002 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
1862 0100046 004737 010650 JSR PC,a#GSETUP ;LOAD TEST PATTERN.

1863 010010 012703 000102 MOV #102.R3

1864 010014 623:

1865 010014 172410 LDD (RO) ,ACO

1866 010016 174003 STD ACO,AC3

1867 010020 172403 LDD AC3.ACO ;STORE THE TEST PATTERN.

1868 010022 174011 STD ACO, (R1)

1869 010024 004737 010746 JSR PC, a#GCMP ;COMPARE THE DATA READ WITH
1870 ;THAT WHICH WAS WRITTEN.
1871 010030 005737 010776 ST S¥GFLAG!

1872 010034 001004 BNE 624

1873 010036 005137 010776 coM MGFLAG1

1874 010042 000261 SEC

1875 010044 000401 B8R 625

1876 010046 000241 G24:  CLC

1877 010050 006160 000006 G25:  ROL 6(RO) ;GENERATE THE NEXT TEST PATTERN.
1878 010054 006160 000004 ROL 4 (RO)

1879 010060 006160 000002 ROL 2(RO)

1880 010064 006110 ROL (RO)

11225 010066 004737 010726 JSR PC.NGRESET .-gsgfsrRosrur PATTERN IN OUTPUT
;ggz 010072 077330 s08 R3,623

1885 sTEST ACCUMULATOR 3 WITH FLOATING ZERO

1886 010074 012737 010124 001236 MOV #G26 , 3ASTMP?

1887 010102 012700 011012 MOV #GPAT10,RO

1888 010106 012701 011042 MOV #GDATOO0 .R1

1889 010112 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
1890 010114 004737 010650 JSR PC , a#GSETUP :LOAD TEST PATTERN.

1891 010120 012703 000102 MOV #102.R3

1892 010124 626:

1893 010126 172410 LDD (RO) ,ACO

18% 010126 174003 STD ACO,AC3

1895 010130 172403 LDD AC3.ACO ;STORE THE TEST PATTERN.

189% 010132 174011 STD ACO, (R1)

1897 0101346 004737 010746 JSR PC,aNGCMP ;COMPARE THE DATA READ WITH
1898 STHAT WHICH WAS WRITTEN.
1899 010140 005737 010776 ST NGFLAG?

1900 010144 001004 BNE 627

1901 010146 005137 010776 coM NGFLAGT

1902 010152 000241 cLe

1903 010156 000401 B8R 630

1904 010156 000261 G27:  SEC

1905 010160 006160 000006 G30: ROL 6(R0O) ;GENERATE THE NEXT TEST PATTERN.
1906 010164 006160 000004 ROL 4 (RO)

1907 010170 006160 000002 ROL 2(R0)
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CJKDCB.P11 12-MAR-80 15:26 T ACCUMULATORS DATA PATTERNS TEST SEC 005"
1908 010174 006110 ROL (RO)

}3?3 010176 004737 010726 JSR PC,aN#GRESET ;ggg;gRoerAuu PATTERN IN OUTPUT
;g}; 010202 077330 S08 R3.626

1913 STEST ACCUMULATOR 4 WITH FLOATING ONE

1914 010204 012737 010234« 001236 MOV #G31, NS TMP?

1915 010212 012700 011002 MOV #GPAT00,R0

1916 010216 012701 011042 MOV #GDATOO .R1

1917 010222 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
1918 010224 004737 010650 JSR PC ,a#GSETUP ;LOAD TEST PATTERN.

1919 010230 012703 000102 MOV #102.R3

“920 010234 G31:

1921 010234 172410 LDD (RO) ,ACO

1922 010236 174004 STD ACO,AC4

1923 010240 172404 LDD AC4 . ACO ;STORE THE TEST PATTERN.

1924 010242 174011 STD ACO, (R1)

1925 010244 004737 010746 JSR PC,a#GCMP ;COMPARE THE DATA READ WITH
1926 :THAT WHICH WAS WRITTEN.
1927 010250 005737 010776 TST aHGFLAGT

1928 010254 001004 BNE 632

1929 010256 005137 010776 coM NGFLAG

1930 010262 000261 SEC

1931 010264 000401 BR 633

1932 010266 000241 632: cLe

1933 010270 006160 000006 G33:  ROL 6(R0) :GENERATE THE NEXT TEST PATTERN.
193, 010274 006160 000004 ROL 4 (RO)

1935 010300 006160 000C02 ROL 2(RO)

1936 010304 006110 ROL (RO)

}3_;’; 010306 004737 010726 JSR PC,WGRESET ;REEEERDEFAULT PATTERN IN OUTPUT
}gzg 010312 077330 s08 R3,631

1941 sTEST ACCUMULATOR 4 WITH FLOATING ZERO

1942 010314 012737 010344 001236 MOV #G34 , NS TMP?

1943 010322 012700 011012 MOV #GPAT10.RO

1944 010326 012701 011042 MOV #GDATOO R

1945 010332 104414 LPERR :SET UP THE LOOP ON ERROR ADDRESS.
196 010334 004737 010650 JSR PC , @#GSE TUP :LOAD TEST PATTERN.

1947 010340 012703 000102 MOV #102,R3

1948 010 G34:

1949 010344 172410 LDD (RO) ,ACO

1950 010346 174004 STD ACO,AC4

1951 010350 172404 LDD AC4,ACO ;STORE THE TEST PATTERN.

1952 010352 174011 STD ACO, (R1)

1953 010356 004737 010746 JSR PC.3#GCMP :COMPARE THE DATA READ WITH
1954 STHAT WHICH WAS WRITTEN.
1955 010360 005737 010776 TST MNGFLAGT

1956 010364 001 BNE G35

1957 010 005137 010776 com SNGFLAG

1958 010372 000241 cLe

1959 010374 000401 B8R 636

1960 010376 000261 G35: SEC

1961 010400 006160 000006 G3%:  ROL 6(RO) :GENERATE THE NEXT TEST PATTERN.
1962 010404 006160 000004 ROL 4(RO)

1963 010410 006160 000002 ROL 2(RO)

M4
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1964
1965
1966
1967
1968
1969
1970
1971
1972
1973
1974
1975
1976
1977
1978
1979

2007

CERRERLELErPEy

N
o
N BNV W =O

P11

010414
010416
010422

010424

010526
010532

010534

006110
004737

077330

012737
012700
012701
104414
004737
012703

172410
174005
172405
174011
004737

077330

012737
012700
012701
104414
004737
012703

172410
174005
172405
174011
004737

005737
004

010726

010726

010564
011012
011042

010650
000102

010746
010776
010776

000002

001236
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ACCUMULATORS DATA PATTERNS TEST

ROL (RO)
JSR PC,a#GRESET JRESET DEFAULT PATTERN IN OUTPUT
;BUFFER,
SO8 R3,G34
;TEST ACCUNULATOR S5 WITH FLOATING ONE
#G37 ,aN8TMP2
HOV IGPATOO RO
MOV DGDATOO.R1
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
JSR PC,a#GSETUP ;LOAD TEST PATTERN.
MOV »02,R3
G37:
LDD (RO) ,ACO
STD ACO,ACS
LDD ACS,ACO ;STORF THE TEST PATTERN.
STD ACO, (RY)
JSR PC,anGCMP . COMPARE THE DATA READ WITH
;THAT WHICH WAS WRITTEN.
TST a#GFLAGY
BNE G40
oM a#GFLAG)
SEC
B8R G4l
G40: cLC
G41l: ROL 6(R0O) ;GENERATE THE NEXT TEST PATTERN.
ROL 4L(RO)
ROL 2(R0O)
ROL (RO
JSR PC,aNGRESET JRESET DEFAULT PATTERN IN OUTPUT
;BUFFER.
So8 R3.G37
JTEST ACUJllATOR S WITH FLOATING ZERO
NG4L2 ,aNSTMP?
HOV DGPAT10 RO
MOV #GDATOO0 R
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
JSR PC alGSETUP ;LOAD TEST PATTERN.
MOV #102.R3
G42:
LDD (RO) ,ACO
STD ACO,ACS
LDD ACS,ACO ;STORE THE TEST PATTERN,
STD ACO, (R1)
JSR PC,anGCMP ;COMPARE THE DATA READ WITH
;THAT WHICH WAS WR]ITTEN,
TST a#GF LAG1
BNE G43
oM a#GF LAG
cLC
B8R G44
G43: SEC
G&4 : ROL 6(R0O) ;GENERATE THE NEXT TEST PATTERN.
ROL 4 (R0O)
ROL 2(RO)

SEQ 0052
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CJKDCB.P11

010624
010636

010642
010644

010650
010654
010660
010662

010664
010670
010674
010676

010700
010704
010706

010710
010714
010720
010722
010724

010726
010732
010736
010740
010742

12-MAR-80

006110
004737

077330

000137

012705

077402

012705
012704
005125
077402

020067
001401
000207

012705
012704
005125
077402
000207

012705

012705

15:26

010726

011052

011042
000004

011042

000004

010700

001244
011042
000004

ACCUMULATORS DATA PATTERNS TEST

ROL (RO,
JSR PC,aWGRESET

so8 R3,G42

:RESET DEFAULT PATTERN In OUTPUT
JBUFFER.

JWP a#GDONE

;USE THIS ROUTINE TO INITIALIZE ALL THE DATA BUFFERS.
GSETUP: MOV 0GFLAG1.R5

MOV #26,r4
1%: CLR (RS)#
s08 R4.1%

MOV #GPAT10,R5
MOV #10,.R4

2%: (00 (RS)+
SoB R4,2%
GS1: (0, o RO,GPATOO
BEQ 3%
RTS PC
3%: MOV #GDATOO,RS
MOV #4 R4
4%: coM (RS5)+
so8 R4,4%
RTS PC
GRESET: MOV #GDATO00,RS
MOV #4 R4
1%: CLR (RS)+
so8 R4,1%
JMP a#GS1
:SEE IF THE DATA WRITTEN MATCHES THL DATA READ.
GCMP: MOV (SP) ,aN$TMPS :STORE ERROR PC
MOV #GDATO0,RS
MOV #4 R4
MoV RO,R2
1%: (0 ad (R2)+ {(RS)+
BEQ 2%
ERROR 3 :PROBABLY BAD MMU, OTHERWISE IT IS THE FP CHIP
2%: SoB R4.1$%
RTS PC
GFLAGY: O
GFLAGZ: O
GPAT00: O
GPAT01: O
GPAT02: O
GPATO03: O

SEQ 0053
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011054
011056

011060
011064
011070
011074
011100
011102

011104
011110
011112
011116
011120

011122

=A FP DIAG PAR
12-MAR-80 15:26

177777
177777
177777
177777

177777
177777

177777
177777

077302
004767
170011
012700
172410
174001

012700

011604
011606
011726
000024

000422

011606

011616

c 5
T 1 MACYI 3??%1052) 12-MAR-80 15:31 PAGE 40

ACCUMULATORS DATA PATTERNS TEST 2 0054
GPAT1Q: -1
GPAT11: -1
GPAT12: -1
GPAT13: -1
GANDQ: -1
GAND1 -1
GAND?: -1
GAND3 -1
GORO: 0
GOR1: 0
GORZ: 0
GOR3: 0
GDAT00: 0
GDATO1: O
GDATOZ2: 0
GDATO3: 0
GDONE :
RSETUP ;GO INITIALIZE THE FPS AND STACK; AND

;SEE IF THE USER HAS EXPRESSED

sTHE DESIRE TO (HANGE THE SOF TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

':itttQttiiii'tittttitiﬁit'ttttiiQii'tittttttttt\ttttttttttttﬁttl

S*TEST 12 FPP ACCUMULATORS DUAL ADDRESS TEST
<%

E'THJS TEST PERFORMS A DUAL ADDRESSING TEST ON THE FLOATING ACCUMULATORS.
;*NOTE THAT ACCUMULATOR ZERO IS USED TO ACCESS ALL THE OTHERS.
. %

.

':tt..ﬁii'.tit..tttltii.ittttttttﬁtt'tittti'tt!itt'ttttﬁtttttttt*

TST12: SCOPE

LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
1 CLR SNHFLAG
MOV #HAW RO ;INITIALIZE THE LOAD BUFFER DATA.
MOV #HDATT R
MOV #26 R3
H2: MOV (R15+,(RO) +
SOB R3,H2
JSR PC.MCLR ;CLEAR THE QUTPUT DATA BUFFER.
H3: SETD

;LOAD ACCUMULATOR 1
MOV AHATW RO
LDD (RO ,ACO
STD ACO,ACT
;LOAD ACCUMULATOR 2 '
MoV AHA2W, RO




(JKD(B~A KEF11-A FP D]AG PART 1 MACY1I SOA;(?‘IOSZ)

CJKD(B.P1
2132 011126
2133 011130
2134
2135 011132
2136 011136
2137 011140
2138
2139 011142
2140 011146
2141 011150
2142
2143 011152
2144 011156
2145 011160
2146
2147 011162
2148
2149 011166
2150
2151
2152
2153
2154 011172
2155 011176
2156 011202
2157 011204
2158 011206
2159 011210
2160 011212
2161 011216
2162 011222
2163
2164
2165
2166
2167 011224
2168 011230
2169 011234
2170 011236
2171 011240
2172 011242
2173 011244
2174 011250
2175 011254
2176
2177
2178
2179
2180 011256
2181 011262
2182 011266
2183 011270
2184 011272
2185 011274
2186 011276
2187 011302

12-MAR-80 15:26

172410
174002

012700
172410
174003
012700
17261C
174004
012700
172410
174005
004737

004737

004737

011626

011636

011646

011416
011474

011616
000004

011626
000004

LDD
STD

;LOAD ACCUMULATOR 3
MOV

D 5
12-MAR-80 15:31 PAGE 41
FPP ACCUMULATORS DUAL ADDRESS TEST

(RO) ,ACO
ACO,AC2

#HA3W RO

LDD (RO ,ACO
STD ACO,AC3

;LOAD ACCUMULATOR 4
MOV MHALW RO
LDD (RO) ,ACO
STD ACO,AC4

:LOAD ACCUMULATOR 5
MOV

#HASW RO
LDD (RO ,ACO
STD ACO,ACS
H& : JSR PC,a#HSTD ;GO READ ALL ACCUMULATORS BACK.
JSR PC,3#HCMP ;SEE IF DATA IS CORRECT.

;COMPL IMENT EACH WORD OF THE DATA STORED IN ACCUMULATOR 1,
JRELOAD THAT ACCUMULATOR, READ ALL THE ACCUMULATORS BACK AND CHE(K

; THE DATA.
MOV #HATW, RO
MOV #6 ,R2
MOV RO,R1
HS5: CoM (R1)+

LDD (RO) ,ACO
STD ACO,AC1

JSR PC,a@#HSTD JREAD ALL THE ACCUMULATORS BACK.
JSR PC,a#HCMP ;CHECK THE DATA.
sSo8 R2,H5

; COMPLIMENT EACH WORD OF THE DATA STORED IN ACCUMULATOR 2,
JRELOAD THAT ACCUMULATOR, READ ALL THE ACCUMULATORS BACK AND (HECK

s THE DATA.
MOV #HAZW RO
MOV #4 ,R2
MOV RO,.R1
H6: Com (R1)+

LDD (RO) ,ACO
STD ACO,AC2
JSR PC,a#HSTD
JSR PC ,afHCMP sCHECK THE DATA.
so8 R2,H6

;COMPL IMENT EACH WORD OF THE DATA STORED IN ACCUMULATOR 3,
:?E%OADT;HAT ACCUMULATOR, READ ALL THE ACCUMULATORS BACK AND (HECK
s THE DATA.

MOV #HA3ZW RO

MOV #4,R2
MOV RO,R1
H7: oM (R1)+

LDD (RO) ,ACO
STD ACO,AC3

JSR PC,a#HSTD JREAD ALL THE ACCUMULATORS BA(K.

JSR PC,a#HCMP ;CHECK THE DATA,

JREAD ALL THE ACCUMULATORS BACK.

SEQ 0055
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FPP ACCUMULATORS DUAL ADDRESS TEST

E 5
CJKDCB~A KEF11~-A FP D]AG PAgg 1 MACY1 30A§1052) 12-MAR-80 15:31 PAGE 4

011636
000004

011646
000004

011416
011474

011604
011776
011604
011110
011532
011656
011666

011676

011706

(JkD(B.P11 12-MAR-80 15
2188 011306 077210
2189
2190
2191
2192
2193 011310 (12700
21964 011314 012702
2195 011320 010001
2196 011322 005121
2167 011324 172410
2198 011326 174004
2199 011330 004737
2200 011334 004737
2201 011340 077210
2202
2203
2204
N
2206 011342 012700
2207 011346 012702
2208 011352 010001
2209 011354 005121
2216 011356 172410
2211 011360 174005
2212 011362 004737
2213 011366 004737
2214 011372 077210
2215
2216
2217 011374 005737
2218 011400 001402
2219 011402 000137
2220
2221 011406 005137
2222 011412 000137
2223
2224
2225 011416 004737
2226
2227 011422 012704
2228 011426 172401
2229 011430 174014
2230
2231 011432 012704
2232 011436 172402
2233 011440 174014
2254
2235 011442 012704
2236 011446 172403
2237 011450 174014
2238
2239 011452 012704
2240 011456 172404
2241 011460 174014
2242
2243 011462 012704

011716

so8 R2 ,H7

;COMPLIMENT EACH WORD OF THE DATA STORED IN ACCUMULATOR &,
;RELOAD THAT ACCUMULATOR, READ ALL THE ACCUMULATORS BACK AND CHECK

;THE DATA,
MOV AHAGW RO
MOV #6 ,R2
MOV RO,R1
H10: oM (R1)+
LOD (RO) ,ACO
STD ACO,ACS
JSR PC,aNHSTD
JSR PC,a#HCMP ;CHECK THE DATA,

So8 R2.H10

;COMPLIMENT EACH WORD OF THc DATA STORED IN ACCUMULATOR S,
;RELOAD THAT ACCUMULATOR, READ ALL THE ACCUMULATORS BACK AND CHE(K

:THE DATA,

MOV #HASW,RO
MOV #4 R?2
MOV RO.R1
H11: com (R1)+
LDD (RO) ,ACO
STD ALO,ACS
JSR PC,a#HSTD
JSR PC.,a#HCMP ;CHECK THE DATA.

so8 R2.H11

TST a#HF LAG
BEQ H1?2
JMP aWHDONE

H12: coM a#HF LAG
JMP aH3

;STORE ALL ACCUMULATORS IN THE OUTPUT BUFFERS.
HSTD:  JSR PC.3#HCLR
;STORE ACCUMULATOR 1
MOV MHATR R4
LDD AC1,ACO
$TD ACO. (R&)
: STORE AggUMULATOR 2

LDD AC2.ACO
STD ACO (R&)
:STORE AggUMULATOR $

LDD AC3, ACO

STD ACO. (R4)
;STORE ACCUMULATOR 4

MOV #HAGR R4

LDD AC4,ACO

STD ACO. (RG)
:STORE ACCUMULATOR 5

MOV #HASR R4

;READ ALL THE ACCUMULATORS BACK.

JREAD ALL THE ACCUMULATORS BA(K.

;CLEAR ALL OUTPUT BUFFERS.

4

SEQ 0056
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COKDCB.P11 12~MAR-80 15:26 FPP ACCUMULATORS DUAL ADDRESS TEST SEQ 0057
2244 011466 172405 LDD ACS.ACO \
22645 011470 174014 STD ACO. (R&)
5529 011472 000207 RTS PC
2248 :COMPARE DATA LOADED WITH DATA READ. l
2249 011474 012637 011602 HCMP: MOV (SP) + ,a#HADR ;s SAVE RETURN ADDRESS.
2250 011500 012703 011606 MOV #HATW RS
2251 011504 012704 011656 MOV #HATR .RG |
2252 011510 012705 000024 MOV #26 RS
2253 011514 022324 HCMP1: (WP (R35+, (RG)+
2254 011516 001402 BEQ HCMP2
2255 011520 000137 011550 WP S4HERROR
2256 011524 077505 HCMP2: SOB RS, HCMP1
Sggg 011526 000177 000050 P aHADR
2259 :CLEAR THE DATA OUTPUT BUFFER.
2260 011532 012704 011656 HCLR: MOV #HATR R4
2261 011536 012705 000024 MOV #26 RS
2262 011542 005024 MCLRT: CLR (R4S +
2263 011544 077502 S08 RS, HCLR1
552'; 011546 000207 RTS PC
2066 :REPORT ERROR.

2267 011550 HERROR :

2268 011550 012703 011606 MOV #HATW, R3
2269 011554 012704 001236 MOV ¥STMP2 .RG
2270 011560 012705 000012 MOV #12.RS
2271 011564 010324 18: MOV R3, (R&) +
2272 011566 062703 000010 ADD #10,Rr3
2273 011572 077504 s08 RS.1$
2274 011576 104001 28: ERROR 1
55;2 011576 000137 011776 IMP N#HDONE
2277
2278 011602 000000 HADR: 0
55378 011604 000000 HFLAG: O
2281 011606 000000 000000 000000 HAIW: .WORD 0.0.0.0
2282 011614 000000
2283 011616 000000 000000 000000 HA2W: .WORD 0,0.0.0
2284 0116264 000000
2285 011626 000000 000000 000000 HA3W: .WORD 0,0.0.0
2286 01163 000000
2287 011636 000000 000000 000000 HA4W: .WORD 0.0,0,0
2288 011644 000000
2289 011646 000000 000000 000000 HASW: .WORD 0.0,0.0
5223(1) 011654 000000
2292 011656 000000 000000 000000 HAIR: .WORD 0.0,0.0
2293 011664 000000
229 011666 000000 000000 000000 HA2R: .WORD 0.0,0.0
2295 011674 000000
2296 011676 000000 000000 000000 HA3R: .WORD 0,0.,0.0
2297 011704 000000
2298 011706 000000 000000 000000 HA4R: .WORD 0,0.0.0
2299 011714 000000
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000000
000000

073567
073567

1046413

000004

104414
170011
012700
172410

012737

012700

012737
005003

172407
170000
005203
005203

012701
174011

012701
012702
012703

000000

073567
063146
010421
031463
0462104

012512

012212

000001
012422

012522

012522
012512
000004

MACYT1 30A(1052)
T12

000000

073567
063146
010421
031463
042104

000244

000004

MHASR :

HDAT1:
HDATZ:
HDAT3:
HDAT4 :
HDATS:

HDONE

G 5
12-MAR-80 15:31 PAGE 44
FPP ACCUMULATORS DUAL ADDRESS TEST

.WORD

RSETUP

0,0.0,0

73567,73567,73567,73567
63146,63146,63146,63146
10421,10421,10421,10421
31463,314663,31463,31463
42106 ,42106,42104,42104

;GO _INITIALIZE THE FPS AND STACK; AND
;SEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOF TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
:THE USER TYPED CONTROL G?).

PORARR AN RNRRRAAAARRARARARAAN RN ARAARARAIRRAAARARNARRAARARANANAARNAAAN A A AR

FSRC MODE O WITH ILLEGAL ACCUMULATOR TEST

S«TEST 13
4

S«THIS IS A TEST OF FSRC MODE O WITH ACCUMULATORS 6 AND 7. USE OF

J*EITHER OF THESE NON-EXISTENT
J*WITH FEC=2 (ILLEGAL OPCODE T
. *

A SU‘ULATORS SHOULD RESULT [N A TRAP TO 244

L4
-;"t"""'t."Q'Q'Q"'Qtt'.."'t"""t"t""t't"tt".'t't"'

7S113:

S1:

Se:
S3:

S4:

SCOPE

LPERR

SETD
MOV
LDD

MoV

MOV

MOV
CLR

LDD
CFCC
INC
INC

MOV
STD

MOV
MOV
MoV

JSET uP

#SPAT10,R0
(RO) ,ACH

#SERRO,a#fFPVECT

#1.RO
#SERRT ,Q#ERRVECT
R3

AC7,ACO

R3
R3

#5DATO00,R1
ACO, (R1)

#SDATO0,R1
#SPAT10,R2
#4 ,R3

THE LOOP ON ERROR ADDRESS.
;SET FD
sLOAD ACO

;USE OF THE NON-EXISTENT A(C-
sCUMULATOR SHOULD RESULT IN
;A TRAP TO 244.

;A FAILURE IN THE FSR(C FLOWS
sWILL RESULT [N AN ODD ADDRESS
;TRAP TQ 4.

sNO TRAP OCCURRED!!

;SEE IF ACO WAS MODIFIED.

SEG 0058
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164

012212
012216
012220

012224
012232

012250

012252
012254
012256
012262
012264

12-MAR-80 15:26

022122

005003

172406
170000
005203
005203

012701
174011

012701
012702
012703

021627
001402
000137

012737

011637
022626
005004
170204
022704
001020

005004
170304
022704
001023
000177

012352

012376

012512
012270
000007
012454

012522

012522
012512
000004
012364

012410

012040
062524
012106
001236

100200

000002
000216

000244
000004

012506

H 5
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113 FSRC MODE O WITH ILLEGAL ACCUMULATOR TEST

SS: (MP
BEQ
JMP
S6: SoB
JMP

;NOW TEST AC6.
S7:

LPERR
SETD

MOV
LOD

MOV
MOV
MOV
(LR

S8: LDD
S9: CFCC

INC
S10: INC

MOV
STD

MOV
Mov
MoV
S11: cMP
8EQ
JMP
s12: S08
JMP

:TRAPPED TO 2644

SERRO: (MP
BEQ
JMP

1$: MOV

SERR10: MOV
cwP
CLR
STFPS
CMP
BNE

CLR
STST
(mp
BNE
JMP

§g1)0,(R2)0
ANSERRZ ;BAD DATA
R3,S5

SHSERR3 JMISSING TRAP

;SET UP THE LOOP ON ERROR ADDRESS.

#SPAT10,R0 ;LOAD ACO
(RO) ,ACO

#SERRG ,aWFPVECT
#1,RO
:genns.awsnavecr

AC6,ACO
R3
R3

#SDATO0 R
ACO, (R1) ;NO TRAP! GET A(O.

#SDATOO0,R1 JWAS ACO MODIFIED.
#SPAT10,R2

#4 R3
(RI)+, (R2)+
s12
NSERRG
R3,511
SNSERR7

'ggp).ws3 :PC OF TRAP CORRE(T?
aNFPSPUR
#S7 . 34SADR

(SP) ,a¥sTMP?
(EP)o.(SP)o

R

R4 ;1S FPS (ORRECT?
#100200,R4

SERR15

R4

R4 s1S FEC CORRECT?
#2 R4

SERR20

aSADR

SEG 0059




(JKD(B-A KEF11-A FP D]JAG PART 1

CJxD(B.P1T

2612
2613
2614
2615
2616
2617

012352
012360

012374

012376
012404
012406
012410
012416
012420

012422
012426
012430
012434
012436

012442
012446
012450
012452

012454
012466
012470
012474

012500
012502

12-MAR-80 15:26

012737
104001
000451
012737
104001
000444

021627
001405
021627
001402
000137

011637
022626
104001
000427

021627
001405
021627
001402
000137

011637
022626
104001

012144

062524
012532

100200
001240

000154
000002
001240
000134

012036

012142

012036

012142

012040
012044
062556
001236

012142
012144
062556
001236

MACY11

012506

001242

00124¢

001236

001236

001236

001236

I 5
30A(1052) 12-MAR-80 15:31 PAGE 46
T3 FSRC MODE O WITH ILLEGAL ACCUMULATOR TEST

SERR4: (MP §§P).IS9

BEQ
JMP a#F PSPUR

18: MoV #SDONE ,a# SADR
BR SERR10

sREPORT FPS FAILURE:

SERR1S: MOV #100200,34% i MP&
MOV R4, NS TMP3

1%: ERROR 1
JWP @3ADR

;REPORT FEC BAD:
SERR20: MOV a2, NS TMPS
MOV R4, aNSTMP3

1%: ERROR 1
JMP @SADR
:ACO WAS MODIFIED. (BUT FSRC) FORK FA,LED.
SERR2: MOV NS2,aNSTMP?
1%: ERROR 1
BR SDONE
SERRG6: MOV 058 NS TMP?
1%: ERROR
BR SDONC
SERR3: MOV NS2,NSTHP?
1$: ERROR 1
BR SDONE
SERR7: MOV #S8,aN$TMP?
1%: ERROR 1
BR SDONE
;FAILURE OF (BUT FSRC) CAUSED AN ODD ADDRESS TRAP TQ 4.
SERR1: ggg §P) #S3 ;DID TRAP OCCUR ON TESTED INSTRUCTION®
c™MP (SP),'SL
8tQ 18
JMP SNCPSPUR
1$: MOV (SP) ,3N8TMP?
M (SP)+,(SP)+
2s: ERROR 1
BR SDONE
SERRS: ggg %iP),'SB ;DID TRAP OCCUR ON TEST INSTRUCTION?
i (SP) 459
8EQ 1$
JMP a#CPSPUR
1$: MOV (SP) ,aN8TMP2
™M (SP)+,(SP)+
2%: ERROR 1

SEQ 0060




(JKD(B-A KEF1'-A FP DIAG PART 1 MA(YI 30A§1052)
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2668
2469
2470
2671

2672
2673
24674
2675
2476
2677
2478

P11
012504

012506
012510
012512
012514
012516
012520

012522
012524
012526
012530

012532
012532

012534
012536

012540
012540

012542
012546

012550
012554
012556

012570

012572
012576

012600
012604
012606

012610
012614
012620
012624
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000412

000000
177777

1064413

000004
104414

170011

012700
172410

012737

172420
005203
005203

012701
174011

020027
001001
000442

012702
012703
012704
022223

013016

012776
012646

013006

012766

012776
013006
000004

000004

SADR:

SPAT10:
SPAT11:
SPAT1?2:
SPAT13:

SDATOQ:
SDATO1:
SDATOZ:
SDATO3:

SDONE :

J 5
12-MAR-80 15:31 PAGE 47
FSRC MODE O WITH ILLEGAL ACCUMULATOR TEST

B8R

OOOQC W= 1O

RSETUP

SDONE

;GO _INITIALIZE THE FPS AND STA(K; AND
JSEE IF THE USER HAS EXPRESSED

;JTHE DESIRE TO CHANGE THE SOF TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

a2 220422202 222220 0 RRR0Rdd0 R 222 22208022 dRd R 4]

STEST 14

b4

FSRC MODE 2 TEST

t» THIS IS A TEST OF FSRC MODE 2, AUTO
i« [NCREMENT MODE.

1

.
e i4 3128323323222 222322333 03222 2R 2R YRR 2R 2030 RRRSRRddR AR A

15T14:

J1:

J2:
J3:
Jb:

JS:

SCOPE
LPERR

SETD

MOV
LbD

MOV
CLR
MOV

LDD
INC
INC

MOV
STD

cMP
BNE
8R

MOV
MOV
MOV
MP

#JDATO,RO
(RO) ,ACO

z%DATIO.RO
#JERRQ ,SF#ERRVECT
(RO)+,ACO

R3

R3

#JDATOO R
ACO, (RT)

RO,#JBUFO
18

JERR1
#JDAT10,R?
#JDATO0,R3

#4 RG
(R3)+, (R3)+

;SET UP THE LCOP ON ERR"~ ADDRESS.

;SET DOUBLE MODE

;LOAD ACO=ALL 1

;TEST INSTRUCTION

;PICK UP RESULTS

;WAS AN AUTO
DECREHENT EXECUTED?

;1S DATA CORRE(T?




K 5
CJKDCB-A KEF11-A FP D]AG PART 1 MACY1 30A(‘052) 12-MAR-80 15:31 PAGE 48

CJKDCB.P11

012626
012630
012632

012634
012640
012642

012644

012646

012712

012714
012714
012722

012740
012740
012746
012754
012762
012764

012774
012776

12-MAR-80 15:26

001401
000443
077404

022700
001401
000424

000470

021627
001405
021627
001402
000137

012737
012737
011637
022626
104001
000445

012737
010037
012737
104001
000433

012737
012737
012737
104001
000420

010421
021042
042104
031463

052525
114631
063146
073567

000000
000000

000000
000000

013006

012566
012570
062556

000762
000322
001236

012564
001240
013006

012564
012776
013006

FSRC MODE 2 TEST

8tQ Jé
B8R JERRZ2

J6: S08 R&4,J5
cMP #JDATI0+10,RO  ;WAS RO INCREM,
BEQ J7 :BY 10 (OCTAL)
BR JERR1

J7: BR JDONE

;IF A TRAP THROUGH &4 OCCURS COME HERE

JERRO: (MP (SP) ,#J3 ;SEE |F THE TRAP
BEQ J10 ;OCCURRED ON THE
ggz (?8).1J4 JTESTED INSTRUCTION

J
JMP SNCPSPUR

001240 U10: MOV #762,a48TMP3 JREPORT FSR(C FLOW
001242 MOV #322,a/8TMP4 JFAILURE
MOV (SP) ,a#tTMP?
MP (SP)+,(SP)+
1%: ERROR 1
8R JDONE
JERR1: ;REPORT, RO NOT
001236 MOV 2)2.NSTMP?2 JCORRECTLY AFFECTED
MoV RO,a#STMP3
001242 MOV #JDATI0+10, a7 T™MP,
1%: ERROR 1
B8R JDONE
;REPORT DATA FAILURE
+ JERRZ:
001236 MOV nJ2.,aNSTMP2
001240 MOV #JDATIO,aNsTMP3
001242 Moy #JDATOO, NS TMPS
1%: ERROR 1
BR JDONE
JBUFO: _WORD 010621
JBUF1: 021042
JBUF?: 042104
JBUF3: 031463
JDATIO: 052525
JDATI: 114631
JDATIZ: 063146
JDAT!3: 073567
JDATO0 : 0
JDATO1: 0
JDAT(2: 0
JDATO3: 0

SEQ 0062




CJKDCB~A KEF11-A FP D]AG PAgg 1 MACY11 30A(1052)

CJKDCB.P11
2580 013016

2583 013024

2586 013026
2587 013026

2601 013030
2602 013032

2606 013034
2605 013034

2607 013036
013042

2610 013044
2611 013050
2612 013052

2614 013060
2615 013062
2616 013064

2618 013066
2619 013072
620

2621 013074
2622 013100
2623 013102

12-MAR-80 15

177777
177777
1772777
177777

106413

000004
104414

170011

012700
172410

012700
005003
012737

172440
005203
005203

012701
174011

020027
001001
000441

012702
012703
012704
022223
001401
000442
077404

022700
001401
000423

013310

013270
013142

013300

013300

013260
013300
000004

013260

000004

JDATO:
JDAT1:
JDAT?:
JDAT3:

JOONE :

5
12-MAR-80 .5:31 PAGE 49
FSRC MODE 2 TES

RSETUP

;GO INITIALIZE THE FPS AND STACK; AND
:SEE IF THE JSER HAS EXPRESSED
;THE DESIRE TO CHANGE THE SOF TWARE

:VIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

Qttt"tttttt'ittﬁtttttttﬁtttt't"ttttttttttttttttttttttttt!tttt

tTEST 15

i* THIS IS A TEST OF FSRC MODE 4, AUTO
:* DECREMENT MODE.

'
.

FSRC MODE &4 TEST

t"tﬁ'ﬁ'ﬁ'ﬁtﬁ"ﬁﬁ'ttﬁﬁt'."ttﬁtt'ﬁ'tﬁ'tttttﬁtﬁttttttttttttttttt

TST15

K1:

K2:
Ké:

1%:

K5:

Ké:

SCOPE
LPERR

SETD

MOV
LDD

MoV
CLR
MoV

LDD
INC
INC

MOV
STD

#KPATO,RO
(RO) ,ACO

;§BUFO,RO
#KERRO ,afERRVECT
=(R0) ,ACO

R3

R3

#XDATO0, R1
ACO, (R13

¥g,pxeu50o1o
KERR1
#KDATIO,R?
#XDATOO R3
24 R4

(Ré)+ (RZ)+

KERRZ
R4 K5

#XBUFO0-10,R0
K7
KERR1

JSET UP THE LOOP ON ERROR ADDRESS.
;SET DOUBLE MODE

;LOAD A DEFAULT

sPATTERN INTO ACO

sTEST INSTRUCTION

;PICK UP THE RESULT

JWAS AN AUTO
; INCREMENT EXECUTED

;IS DATA (ORRE(T?

JWAS RO DECREMENTED
;PROPERLY?

SEQ 0063




CJKDCB-A KEF11-A FP DIAG PAR' 1 MA(Y11 3OA(1052)
CJXD(B.

P11

013140

013232
013232
013240
013246
013254
013256

013260
013262

013270
013272
013274
013276

013300

013310
013312
013314
013316

013320
013320

12-MAR-80 15:26

0C0467

021627
001405
021627
001402
000137

012737
012737
011637
104001
000445

012737

012737
012737
012737
104001
000420

052525
114631
063140
073567

010421
031463
042104
021042

000000
000000
000000
000000

1777277
177777
177777
177777

104413

013062
013064
062556

000762
000324
001236

013060
001240
013260

013060
013260
013300

001240
001242

001236
001242

001236
001240
001262

T15

K?7:

M5
12-MAR-80 15:31 PAGE 50
FSRC MODE & TEST

BR

KDONE

sTRAP TO HERE ON AN ODD ADDRESS ERROR

XERRO:

K10

1%:

KERR1:

1%:

:REPORT
KERRZ:

1s:

KDAT10:
KDATI1:
KDATIZ2:
KDATI3:

KBUFQ:
KBUF 1:
KBUF 2:
KBUF 3:

KDATOO0:
KDATO1 :
KDATOZ:
KDATO3:

KPATO:
KPAT1:
KPAT?:
DPAT3:

KDONE

cMP
8EQ

(SP) ,#K3
K10
(SP) , K&
K10
a#CPSPUR

#762,34$TMP3
#3264 ,aN8TMPS
;SP).&#STMPZ
KDONE

K2 ,aNSTMP?
RO,a#$TMP3
1KDATIO,3#STMP4
KDONE

DATA FAILURE

RSETUP

2, NETMP2
#XKDATIO ,a#STMP3
:KDAT00.303TMP4
KDONE

052525
114631
063140
073567

;SEE ]F THE ERROR
;OCCURRED AT THE
JINSTRUCTION TESTED.

;REPORT FAILURE IN
JFSRC FLOWS

;REPORT, RO
s INCORRECTLY AFFECTED.

;GO INITIALIZE THE FPS AND STACK; AND
sSEE IF THE USER HAS EXPRESSED

SEQ 00~ -




CJKDCB-A KEF11-A FP DIAG PAS; 1 MACYN 30A§1052)

CJKD(B.P11

2692

013322
013324

013326
013326

013330
013334

013336
013342
013346

013352
013354

013356
013362
013364

013366
013370

013372
013372

013374
013400

013402
013406
013410

013412

013436

013442
013444
013446
013450

12-MAR-80 15

000004
104414

17001

012700
172410

012700
012701
012702

012120
077202

172420
005203

170011

012701
174011

020027
001401
000421

012737
012737
012702
012703
012704

022223
001401

013576

013620
013606
000004

013620

013632

013624

177777
177777
013620
013632
000004

013624
013626

N 5
12-MAR-80 15:31 PAGE 51
FSRC MODE 4 TESY

;THE DESIRE TO CHANGE THE SOF TwAKE
sVIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

ttttt'ﬁitt'ﬁﬁ'ﬁﬁ.tﬁ'tt"tttﬁﬁtﬁﬁttﬁiﬁﬁﬁiit.tﬁtttﬁﬁtttt!t!ttt'nt

FSRC MODE 2. WITH FD=0, TEST

TEST 16

i* THIS IS A TEST OF FSRC MODE 2 WITH
(AUTO INCREMENT)

222222222222 22282 0820202822222 33000022232223222322 2 2]

:* FD=0.

'
8116:

L1:

1%:

LS:

L6:

SCOPE
LPERR

SETD

MOV
LDD

MOv
MOV
MOV

MOV
so8

MOV
(LR
SETF

LDF
INC

SETD

MOV
STD

MP
BEQ
BR

MOV
MOV
MOV
MOV
MOV

(MP
BEQ
BR

so8

#LPAT10,RO
(ROY ,ACH

#LDATIO, RO
#LPAT20,R1
#4 ,R2

(R1)+,(RO)+
R2.1$

#LDATIO,RO
R3

(RO)+,ACO
R3

#LDATOO,R1
ACO, (R1)

RO, #LDAT]?
13

LERR1
#-1,a0LDATI2
#-1,3#LDATIS
#CDATIO,R?
#LDATOO,R3
#4 R4
(R2)+,(R3)+
Lé

LERRZ
R4,LS

;SET UP THE LOOP ON ERROR ADDRESS.
;SET DOUBLE MODE
;LOAD ACO

:SET UP THE INPUT
:DATA

JCLEAR fD.

;SET FD
;PICK UP RESULTS

;WAS RO INCREMENTED
s CORRECTLY BY 4

;1S DATA CORRE(CT

SEQ 0065




— —

CIKDCB-A KEF11~A FP DIAG PART 1
(JKDC8.

P11
013452

12-MAR-80 15:26

000473
012737 013366
0180%7 001240
012737 013624
104001
000461
012737 013366
012737 013620
012737 013632
104001
000446

012702 013606
012703 013632
012704 004
022223
001355
077403

012737 013620
012737 013634

MACYTT 30A(1052)
116

LERRY :

18:
LERR3:

001242
1%:

LERRZ:
1%:

001236
001240
001242

8 6
12-MAR-B0 15:31 PAGE
FSRC MODE 2., wITH FD=0, TEST

LDONE

L2 ,aNSTMP2
RO, a#$TMP3
qLDAT12,al$TMP4

LDONE

N2, aNSTMP?
#_DATIO,3a8TMPTI
:‘LDATOO.MSTMPI.
LDONE

#LPAT20,R2
#LDATOO.R3

26 R4

(RD)+, (R3)+
LERR3

RG,1$
NL2,BNSTMP?
#LDATIO, #STMP3
#LDATO1,3WSTMPS

52

;REPORT FAILURE
:gg 20! INCREMENTED

JREPORT DATA FAILURE.

:DID (BUT FD)
JFAIL.

SEQ oooo}




CJKD(CB-A
CJkDCB.P11

013572
013574

013576

013644

013646
013646

013650
013654

013656
013660

013666

013670
013672
013674
013676

12-MAR-80 1

104001
000422

177777
1727777
1772777
177777

052525
114631

104413

000004

170011
012700
172410
005004
012737

172427
013670

014142

014102 000004
000000

c 6
KEF11-A FP DIAG PAS; 1 MACYT SO?éTOSZ) 12-MAR-80 15:31 PAGE 53

FSRC MODE 2, WITH FD=0, TEST

e ¥ ERROR 1

B8R LDONE
LPAT10: .WORD -1
LPAT1: -1
LPAT12: -1
LPAT13: -1
LPAT20: 052525
LPAT21: 114631
LPAT22: 063142
LPAT23: 073567

.WORD 000001
LDATIO: 0
LDATI: 0
LDATIZ2: 0
LDATI3: 0

.WORD 00001
LDATQO: 0
LDATO1: 0
LDATOZ: 0
LDATO03: 0
LDONE

RSETUP ;GO INITIALIZE THE FPS AND STA(K; AND

¢SEE IF THE USER HAS EXPRESSED

sTHE DESIRE TO CHANGE THE SOf TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
sTHE USER TYPED CONTRCL G?).

'..".t..'....Qt.t..tﬁ't'..ttttlt.ltti.t.t..gtt't.t.t.t.t.ttt..

'TEST 17 FSRC MODE 2 WITH GR7, IMMEDIATE MODE, TEST

o
i« THIS IS A TEST OF FSRC MODE 2
;% USING GR7 (THE PC). THIS IS IMMEDIATE
;* MODE.

-
A A AR R R R AR R T R R AR RR AR RN RN R AR R AR RN OAR R R SRR A AR R

TST17 SCOPE

Mi:

SETD

MOV AMPAT10,RO

LDD (RO) ,ACO :LOAD BACKROUND

*PATTERN INTO ACO.

CLR R

MOV #MERR3, QWERRVECT
M1S:  LDD #0.ACO ;TEST INSTRUCTION

=<2 EFFECTIVELY: 05204 IS PUT IN THE FIRST

JWORD 5204  :16 BIT WORD, OR THE 'EXP-FRACTION' WORD.
m2: INC R4 :NOTE THAT
M3: INC R4 1005204=INC R4
M6 : INC R4

SEQ 0067




CJKDCB~-A KEF11-A FP D]AG PART 1 MACY1 30A(1052) 12-MAR-80 15:31

CJKD(B. FSRC MODE 2 WITH GR7,

PN

013742
013744

013746
013752
013756
013762
013764
013766

013770

014012
014014

014016

014052
014054

014102
014106
014110

014114

12-MAR-80 15:26

020427
001401
000443

012700
174010

012700
022720
001401
000451
012701
005720
001002
077103
000512

012700
012701
022720
001401
000433
077105

012737
012737
012737
104001
000466

012705
010537
162704
006304
160405
010537
012737
104001
000447

012737
012737
012737
104001
000434

032716
001002
000137

011637

000003

014162

014162
005204

000003

0146162
000004
005206

013666
014152
014162

013672
001242

001240
013666

ocoo
— b b
PN
— ——
S8
R

000001
062556
001240

001236
001240
001242

001236

001236
001240
001242

cMP R4, 43
BEQ : 1%
BR * MERRO
1%: MOV 4MDATOQ,RO

STD ACO, (RO)

MOV #MDATOO ,RO
cMP :2204.(R0)+

BEQ
B8R MERR1
MS: MOV #3,R1
M6 : TST (RO +
BNE M7
S08 R1,M6&
BR MDONE
M7: MOV #MDATOO0,RO
MOV 24 R1
M8 : MP 45204 (RO) +
8EQ
8R HERR1
M9: soB R1,M8
MERR?:
MOV 15, SNSTMP?
MOV MMPAT20, a#S TMP3
MOV MMDATOO . a¥#S TMPS
1%: ERROR 1
B8R MDONE
MERRO: MOV M2 RS
MOV RS, a4STMPS
suB #3 R4
ASL R
SuB R4 ,RS
MOV RS .S TMP3
MOV 15, 0sTMP?
1$: ERROR 1
BR MDONE
MERR1:
MOV M5, NSTMP?
MOV MMDATOO, 3¥STMP3
MOV MMPAT20 . NS TMPS
1%: ERROR 1
BR MDONE
;TRAP TO HERE THROUGH &.
MERR3: BIT 21, (SP)
BNE 1

1%: MOV

$
JMP a¥CPSPUR
(SP) ,ansTMP3

C 6
PAGE 54
IMMEDIATE MODE, TEST

JSEE IF THE P(

;WAS INCREMENTED

;BY 2 DURING THE
JINSTRUCTION, IF

;NOT THEN A BAD

s CONSTANT WAS GENERATED

JGET THE DATA

;IS THE DATA CORRECT?

;DID (BUT GRM) FAIL?

sREPORT FAILURE
;OF (BUT GR?7)

sREPORT FAILURE
;PC INCREMENTED

;REPORT DATA
JFAILURE

JSEE IF THE

;TRAP TQ 4 OCCURRED
;BECAUSE OF AN

.0DD ADDRESS

;IF YES REPORT

SEQ 0068




E 6
PAGE 55

CJKD(B-A KEF11=A FP DIAG PART 1 MACYIN 30A(1052) 12-MAR-80 15:31

CJKDCB.P11 12-MAR=80 15:26 FSRC MODE 2 WITH GR7, IMMEDIATE MODE, TEST
2885 014120 012737 013672 001242 MOV M2 INSTMPL ;BAD CONSTANT
2886 0164126 012737 013666 001236 MOV o158, a#8TMP2  GENERATED
2887 01413 022626 cMP (SP)+, (SP) +
2888 014136 104001 28: ERROR 1
5333 014140 000414 BR MDONE
2891 014142 177777 MPAT10: -1
2892 014144 177777 MPAT11: -1
2893 014146 177777 MPAT12: -1
528’; 014750 177777 MPAT13: -1
2896 014152 005204 MPAT20: 5204
2897 014156 005204 MPAT21 : 5204
2898 (14156 005204 MPAT2?: §204
2899 014160 005204 MPATD3 - 5204
2901 014162 000000 MDATOO: 0
2902 014164 000000 MDATO1: 0
2903 014166 000000 MDATO? : 0
% 014170 000000 MDATO3: 0
2906 014172 MDONE

7 014172 104413 RSETUP :GG INITIALIZE THE FPS AND STACK; AND
2908 “SEE IF THE USER MAS EXPRESSED
2909 “THE DESIRE TO CHANGE THE SOF TWARE
2910 “VIRTUAL CONSOLE SWITCH REGISTER (MAS
2911 “THF USER TYPED CONTROL G?).
2912
2913
291‘ ;"ttttttttt.ttt.tttttittttttt.t.ttttttttttttttttttttttttlttttlttl
223}2 T«TEST 20 FSRC MODE 3 TEST
L

2917 ‘e THIS IS A TEST OF FSRC MODE 3. AUTO INCREMENT
2918 :» DEFERRED
2919 o
2920 .'""tttt'tttt'.'titttt"ttt'.tt'ttttit'titttltlttt'l.tt.ttltll'tt
ggg; 014174 000004 7ST20: SCOPE
2923 014176 N1:
ggsg 014176 170011 SETD ;SET FD MODE
2926 014200 012700 014660 MOV MNPAT10,RO
2927 014206 172410 LDD (RO) ,ACh :LOAD ACO WITH A DEFAULT
2928 ‘PATTERN
2929 014206 012700 014646 MOV ANPAT20,RO
2930 014212 005003 CLR R3
2931 014216 012737 014370 000004 MOV MNERRO , @¥ERRVECT ;IF A FAILURE OCCURS
2932 ;IN THE FSRC FLOWS AN
2933 ‘0DD TRAP TO & COULD OCCUR
2934 014222 172430 N2: LDD a(RO) +,ACO ‘TEST INSTRUCTION.
2935 014224 005203 N3: INC R3
ggg 014226 005203 NG : INC R3
2938 014230 012701 014626 MOV MNDATOO R
2939 014234 174011 STD ACO, (R1§ :GET THE DATA

SEQ 0069




CJKDCB-~A KEF11-A FP DJAG PART 1 MA(Y11 30361052)

{JkDCB.P1

014236
014242

0142446
014250
014252

016254
0146260
014262

014264
014270

014272
214276
014302
01630¢
014310
016312

016314
014320
014324
014330
014332
016334
014336

014340

014342
014346
014352

014370
014374
014376
014402
014404
014410
014414
014416

014622
014422

12~MAR-80 15:26

020027
001437

020027
001001
000506

020027
001001
000520

020027
001023

012702
012703
022227
001002
077304
000510

012702

000505

012702
012703
012704

022716
001412
022716

011637

014650

014656

014636

014646

014626
000004
177777

014626
014646
000004

014626
014670
000004

014226
014224

062556
014644

062556

001236

NS:

N6:

N7:

N8:

NO:

N10:

N11:

N12:

N13:

N14:

F 6
12-MAR-80 15:31 PAGE 56
FSRC MODE 3 TEST

(MmP
BEQ

(MP
BNE
BR

(MP
BNE
BR

(M
BNE

MOV
MOV

RO #NPAT20+2

N1

RO ,ANPAT20+10
N6

NERR1

RO ,#NPAT20-10
N7

NERR?2

RO ,ANPAT20
N1i

#NDATOO,R2
#4_R3
(R2)+,#-1
N9

R3,N8
NERR3

MNDATOO,R2
MNPAT20 .R3
24 R

(Ré>+ (R3)+

R4 N10
NERR4

NERRS
NDATO0,R2
MNDATI0.R3
#4 R

(Réh (R3)+

R4 N13
NDONE

NERRG

JWAS RO INCREMENTED
;BY 2?

;FSRC MODE 2?

;FSRC MODE 4?2

;FSRC MODE 0?

-

sFSRC MODE 1

;DATA CORREC(T?

;IF AN ODD ADDRESS TRAP OCCURS COME HERE
;TO SEE IF THE FAILURE WAS IN THE FSR(

JFLOWS
NERRO:

1%:

NERR10:

MP
BEQ
e
BEQ
JMP
™
BEQ
JMP

MOV

NG, (SP)
NERR10
M3, (SP)
1%

a#(PSPUR

RO, ANPAT20-2
NERR11
a#(PSPUR

(SP) ,a4%$TMP2

;FSRC MODE 6 OR 7?

;FSRC MODE 5?

SWENT TO FSRC
:MODE 6 OR 7

SEQ 0070




G 6
(JKD(B~A KEF11-A FP DJAG PART 1 MACYT 3?361052) 12-MAR-80 15:31 PAGE 57

CJKDCB.P11 12-MAR-80 15:26 FSRC MODE 3 TEST SEQ 0071
2997 0144626 022626 ™ (SP)+,(SP)+

2998 014430 104007 1$: ERROR 1

2999 014432 000522 BR NDONE

3001 014436 011637 001236 NERR11: MOV (SP) ,a#$TMP2  ;WENT TO FSRC
3002 016440 022626 MP (SP)+, (SP)+ *MODE §.
3003 014442 012737 000627 001266 MOV #627 ., NSTMPS

3006 014450 012737 000323 001250 MOV #323.348TMP7

3005 014456 012737 000325 001246 MOV #325. NS TMPG

3006 014464 106001 1%: ERROR 1

3007 014466 000504 BR NDONE

3008 014470 012737 000322 001246 NERR1: MOV #322,a#8TMP6  :FSRC MODE 2.
3009 014476 012737 000627 001244 NERR20: MOV #627 . INSTMPS

3010 014504 012737 000323 001250 MOV #323.348TMP7

3011 014512 012737 014222 001236 MOV N2, NS TMP?

3012 014520 104001 1%: ERROR 1

3013 014522 000466 B8R NDONE

3014 014526 012737 000326 001246 NERR2: MOV #324 ,aNSTMP6  ;FSRC MODE &
3015 014532 000761 BR NERR20

3016 0145346 012737 000320 001246 NERR3: MOV #320,348TMP6  :FSRC MODE 0
3017 014542 000755 BR NERR20

3018 014544 012737 000321 001246 NERR4: MOV #321,348TMP6  :FSRC MODE 1
333.123 014552 000751 B8R NERR20

3021 014556 010037 001240 NERRS: MOV RO, 3VSTMP3 ;RO NOT
3022 014560 012737 014650 0012642 MOV ANPAT20+2. 3NSTMPL ;: INCREMENTED
3023 014566 012737 014222 001236 MOV AN2 NS TMP? :PROPERLY.
3024 014574 104001 1$: ERROR 1

33352 014576 000440 BR NDONE

3027 014600 NERRG: ;DATA FAILURE.
3028 0164600 012737 014222 003236 MOV AN, aNSTMP?

3029 014606 012737 014626 001240 MOV ANDATOO, a#$ TMP3

3030 014614 012737 014670 001242 MOV ANDAT 10, a#8 TMPS

3031 014622 104001 1%: ERROR 1

ggg 014626 000425 BR NDONE

303 014626 000000 NDATOQ: .WORD O

3035 014630 000000 NDATO1: 0

3036 014632 000000 NDATO2: 0

338% 014634 000000 NDATO3: 0

3039 01463 052525 052525 052525 WORD  52525.52525.52525.52525
3040 014644 052525

3041 016646 01467 NPAT20: .WORD  NDATIO

3042 014650 070707 NPAT21: 070707

3043 014652 070707 NPAT2?2: 070707

3044 014654 070707 NPAT23: 070707

3045 014656 000001 LWORD 1

3046 014660 177777 NPAT10: .WORD -1

3047 014662 177777 NPAT11: -1

3048 014664 177777 NPAT12: -1

338‘§8 016666 177777 NPAT13: -1

3051 014670 010421 NDATIO: .WORD 010421

3052 014672 021042 NDATI1: 021042




H 6
CJKD(B~A KEFH-A FP DIAG PAR! 1 MACYN 303(()1052) 12-MAR-80 15: 31 PAGE 58

FSRC MODE 3 TES SEOQ 0072‘

{Jxb(B.P1 12-MAR~80 15:26
3053 014676 031463 NDAT]2: 031463 l
gggg 016676 0462104 NDAT]3: 042104
3056 014700 NDONE : t
3057 014700 104413 RSETUP ;GO INITJALIZE THE FPS AND STACK: AND
3058 :SEE IF THE USER HAS EXPRESSED
3059 “THE DESIRE TO CHANGE THE SOF TWARE
3060 *VIRTUAL CONSOLE SWITCH REGISTER (HAS
3061 *THE USER TYPED CONTROL G?).
3062
3063
m - 'ttttttit"t'ttﬁttQttt'ttttttQitttttttt't'ttttttttt'tlttttt'ttt
;822 -TEST 21 FSRC MODE S TEST
3067 ‘e THIS IS A TEST OF FSRC MODE 5. AUTO DFCREMENT
3068 *» DEFERRED.
3069 o
3070
3071 . tt't"ttt"i"'Qtﬁt'.ttt'i".Q"t.Q'ﬁ'.tt'ttltttttttttttttttttt
;8;5 014702 000004 TST21:  SCOPE
3076 014704 01:
gggg 0164704 170011 SETD :SET FD MODE
3077 014706 012700 015364 MOV #OPAT10,R0
3078 014712 172410 LDD (RO) ,ACO ;LOAD ACO WITH A
3079 ;DEFAULT PATTERN.
3080 0147164 012700 015352 MOV #OPAT21,RO
3081 014720 005003 CLR R3
3082 014722 012737 015074 000004 MOV #OERRO,SMERRVEC ;IF A FAILURE
3083 ‘OCCURS IN THE FSRC
3084 ‘FLOWS AN 0DD ADDR.
3085 STRAP TO 4 MAY OCCUR.
3086 014730 172450 02: LDD 3~(R0) ,ACO STEST INSTRUCTION
3087 014732 005203 03: INC R3
gggg 014734 005203 04 : INC R3
3090 014736 012701 015332 MOV #ODATOO,R1
2335 0164742 174011 STD ACO, (R1) ;GET THE DATA
3093 014744 020027 015350 P RO, #OPAT20 :WAS RO DECREMENTED
gggg 014750 001436 BEQ 012 ‘BY 22
3096 014752 020027 015362 05: e RO,#OPAT21410  :FSRC MODE 2
3097 014756 001001 BNE 06
3098 014760 000505 BR OERR1
3100 014762 020027 015342 06: (P RO,#OPAT21-10  ;FSRC MODE 42
3101 014766 001001 BNE 07
g}gg 014770 000517 BR OERR2
gggg 014772 020027 015352 07: cMP RO,#0PAT21
3106 014776 012702 015334 MOV #ODATO1,R2 ;FSRC MODE 0?
3107 015002 012703 000004 MOV #4 R3
3108 015006 022227 177777 08: c™P (RS)+, -1




I 6
CJKDCB-A KEF11~-A FP DIAG PART 1 MACY11 30A(1052) 12-MAR-80 15:31 PAGE 59

~
»n

CJxD(B.P11
3109 015012
3110 015014
3111 015016
3112
3113 015020
3114 015024
3115 015030
3116 015034
3117 015036
3118 015040
3119 015042
3120
3121 075044
3122
3123 015046
3124 015052
3125 015056
3126 015062
3127 015064
3128 015066
3129 015070
3130
3131 015072
3132
3133
3134
3135
3136
3137
3138

3139

— b b = b — b —b b b b b ——

Vi Lo vaavioanaavionanoaoag
A e T ) — b oed e b —d o rd o b b b O
AN &%WNN NN—'—I8°8
NSOV O NN O SOONN

O OQOO0O0O00 OOO000 OOOO0OOO0O0O
—
~
N

-— — b b b —d b cad

001002
077304
000510

012702
012703
012704
022223
001002
077403
000502

000505

012702
012703

022716
001412
022716

011637
022626
012737
012737
012737
104001
000504

012737
012737
012737
012737
104001

12-MAR-80 15:26

oo
—
V.1V,
NW
VN
HrorY

015332
015374
000004

014734
014732

062556
015354
062556

001236

014730

001244
001250
001246

001246
001242
001250
001236

21 FSRC MODE 5 TEST
BNE 09
SO8 R3,08
BR OERR3
09: MOV #ODATOO,R2 ;FSR( MODE 1?
MOV #OPAT21.R3
MOV #4 R4
010: cMP (R2)+,(R3)+
BNE 011
S08 R4,010
BR OERRY
011:  BR OERRS
012: MOV #ODATOO,R2 :DATA CORRECT?
MOV #ODATIO.R3
MOV #4 R4
013: P (R2)+, (R3)+
BNE 014
S08 R4 ,013
BR ODONE
014: BR OERRG

:IF AN ODD ADDRESS TRAP OCCURS COME
JHERE TO SEE IF THE FAILURE WAS [N THE
:FSRC FLOWS:

OERRO: (MP #04, (SP)
BEQ OERR10
cMP q23.(SP)

;FSRC MODE 6 OR 7?

BEQ
JMP #(PSPUR
18: cMP RO,NOPAT21+2 ;FSRC MODE 3?
BEQ OERR1
JMP a#CPSPUR
OERR10: SJWENT TO FSRC

MOV (SP) ,aN$TMP? ;MODE 6 OR 7
cMP (SP)+,(SP)+

18: ERROR 1
B8R ODONE

OERR11: MOV (SP) ,a#$TMP3 SJWENT TO FSRC MODE
cMP (SP)+,(5P)+ ;3

MOV 627 , NS TMPS
MOV #325,a08TMP7
MoV #323,348$TMP6
1%: ERROR 1
BR ODONE
OERR1: MOV 4322, W8 TMP6 ;FSRC MODE?2

OERR20: MOV N627 ,aNS TMPS
MOV #325,a48TMP7
MOV #02,aNSTMP?
1%: ERROR 1

SEQ 0073




CJKD(B-;1§EK11-A FP DIAG PART 1 MA(CY11 303(‘052)

C.xD(B

3165
3166
3167
3168
3169
3170
NN
3172
3173
3174
3175
3176
3177
3178
3179
3180
3181
3182
3183
3184
3185
3186
3187
3188
3189
3190
3191
3192

3207

CRIKRKIKKIRIKR

S

015226
015230
015236
015240
015246
015250
015256

—t ) el )
NINOND)
\020
O

g2 L8

\hUTzU“h VALY
—

[elelelele BN elelelole]
Jaur G Gunr G ot

015372

015374
015376
015400
015402

015404
015404

12-MAR-80 16:26

052525
015374
070707
070707
070707
070707
000001
177777
177777
177777
177777

073567
125252

104413

C09324
000320
200321

001240
015350
014734

052525

001246
001246
001246

001242
001236

001236
001240
001242

052525

OERRZ:
OERR3:
OERRSG :

OERRS :

1%:

QERR6:

1%:

ODATOO: .
O0DATO1:
ODATO2:
ODATO3:

OPAT20:
OPAT21:
OPATZ2?2:
OPATZ23:
OPAT24:

OPAT10:
OPAT11:
OPAT12:
OPAT13:

ODATIO:
ODATI1:
ODATI2:
ODATI3:

ODONE :

J 6
12-MAR-80 15:31 PAGE 60
FSRC MODE 5 TEST

. WORD
. WORD
070707
070707
070707
070707

-WORD

RSETUP

ODONE
#324 , 348 TMPG
OERR30
ﬁ320 8#$THP6
ﬁ321 NS TMPS
OERRS0

RO,a#$TMP3
N#OPAT20,3#$TMP4
104.8#STMP2
ODONE

N#02 ,aNSTMP2
N#ODATOO ,a#$TMP3
fODATIO.S#iTMPL

ODONE

0
0
0
0

;FSRC MODE 4
;FSRC MODE 0
;FSRC MODE 1

;RO NOT DECREHENTED
PROPER_

;DATA FAILURE

52525,52525,52525

ODATIO

1
-1
-1
-1
-1

73567

004210
114631
125252

;GO INITIALIZE THE FPS AND STACK:; AND
sSEE IF THE USER HAS EXPRESSED

¢ THE DESIRE TO CHANGE THE SOF TWARE
sVIRTUAL CONSOLE SWIYCH REGISTER (MAS
JTHE USER TYPED CONTROL G?).

A A2 LA 222 2223222222222 2322 222220 RR2R R0 dRRRR Rl ]

TRTEST 22
* %

FSRC MODE & TEST
“x THIS IS A TEST OF FSRC MODE 6.

INDEX MODE

SEQ 0074




CJKD(B-A KEF11-A FP DIAG PART 1 MACY 30351052)

CJkDCB.P11

015406

015410
015410

015412
015416

015420
015426
015432

015436
015442
015444
015450
015454
015460
015462
015464
015466
015472
015474
015476

015502
015506
015512
015516
015520
015522
015524

015526
015532
015534
015540
015542

015546

015616

12-MAR-80 15:26

000004

170011

012700
172410

012737
012700

172460
0154634

012701
174011
012703
012702
012701
022221
001007
077303
022700
001401
000512
000137

012701
012703
022721
001401
000512
077305
000523

021627
001411
021627
001402
000137

012737
000443
022700
001004
012737
000434
022700
001004
012737
000425
022700
001004

016030

015526
015577
000241

016050

000004
016040
016050

015577

016060
016050
000004
177777

015434
015436
062556
000327
015577
000321
015607
000322
015601

000004

001246

001246

001246

L

K 6
12-MAR-80 15:31 PAGE 61
FSRC MODE 6 TEST

L
S A2 2A2R02RRRSR ARt Rl Rl Rl Rl RRis 0 g L]

Tsr22:
P1:

P2:
P3:p2+2
P4

PS:

1%:
P6:
P7:

P8:

PERRO

PERR10:
PERR11:
PERR1Z:

PERR13:

;SET FD MODE

SCOPE
SETD
MOV #PPAT10,RO
LDD (RO) ,ACH
MOV #PERRQ, S#ERRVECT'
MOV #PDAT]0~241,R0
LDD 241(RO) ,ACO
MOV #PDATO0,R1
STD ACO, (R1)
MOV #4 R3
MOV #PDATI0,R2
MOV #PDATO0 .R1
P (R2)+,(R1)+
BNE Pé
S08 R3,PS
P #PDAT10-241,R0
BEO 13
BR PERR21
P #PDONE
MOV #PDATO0,R1
MOV #4 R3
P #-1,(R1)+
REQ P8
BR PERR1
So8 R3,P7
BR PERR?

:TRAP TO HERE ON AN ODD ADDRESS
P (SP) ,#P3
BEQ PERRT1
cMP (SP) ,#P4
BEQ PERR10
JMP aWCPSPUR
MOV #327 ,a4STMP6
B8R PERR17
c™P #PDAT0-241,R0
BNE PERR12
MOV #321, aNSTMPH
BR PERRI7
cme #PDATI0-241+10,R0
BNE PERR1
MOV 1322 NS TMPG
B8R PERRY7
P ﬁPDAT 10-241+2,R0
BNE PERR14

JLOAD A DEFAJULT PATTERN
;INTO ACO
:JF THE (BUT FSRC) FORQ
;FAILS AN ODD ADDRESS TRAP
s COULD OCCUR.

JGET THE DATA

;CHECK THE DATA

;RO CORRECT?

SWAS IT FSRC MODE O°

JWAS IT FSRC MODE 7?

;WAS IT FSRC MODE 1

;WAS IT FSRC MODE 2

;WAS [T FSRC MODE 3

SEQ 0075




CJKDCB-A KEF11-A FP DIAG PART 1
CJkDCB.P11 12-MAR-B0 15:26

3277 015620 012737 000323
3278 015626 000416
3279 015630 02%700 015567

3280 001004
3281 015636 012737 000324
3282 015644 000407
3283 015646 022700 015575
3284 015652 001401
3285 0156564 000416
3286 015656 012737 000325

3288 015664 012737 000627
3289 015672 012737 000326
3290 015700 011637 001236
3291 015704 022626
3292 015706 104001
3293 015710 000463

3294
3295 015712 011637 001236
3296 015716 022626

000403

3298 015722 012737 015432
3299

3300 015730 010037 001240
3301 015734 012737 015577
3302 015742 104001
3303 015744 000445

3305 015746

3306 015746 012737 015432
3307 015754 012737 016040
3308 015762 012737 016050
3309 015770 104001

3310 015772 000432

3313 015774 012737 015432
3314 016002 012737 000627
3315 016010 012737 000326
3316 016016 012737 000320
3317 016024 104001
3318 016026 000414

3320 016030 177777
3321 016032 177777
3322 016034 177777
3323 016036 177777

3325 016040 010421
3326 016042 031463
3327 016044 052525
3%53 016046 073567

3330 016050 000000
3331 016052 000000
3332 016054 000000

MACY11 30A(1052)
122

001246

001246

001246

001244
001250

001236

001242

0012642

001236
001244
001250
001246

PERR14:

PERR1S:

PERR16:

PERR17:

1%:

PERR20:

PERR21:
PERRZ2Z:

1%:

PERR1:

1%:

PERR?:

1%:

PPAT10:
PPAT11:
PPAT12:
PPAT13:

PDATIO:
PDATI:
PDAT]2:
PDAT]3:

PDATO0:
PDATO1:
PDATOZ2:

L 6
12-MAR-80 15:31 PAGE 62
FSRC MODE 6 TEST

MOV #323 NS TMPG

B8R PERRY7

cMP #PDAT10-241-10,R0 ;WAS IT FSRC MODE &
BNE PERK1S

MOV #324L NSTMPE

B8R PERRI7

cMP #PDAT]0-241-2,R0
BEQ PERR16

B8R PERR20

MoV #325,aN8TMPE

MOV 27 ,aNS TMPS
MoV #326,34$TMP?

JWAS IT FSRC MODE 5

;REPORT FSRC
;FLOWS FAILURE.

MOV (SP) .a#$TMP?

™P (SP)+, (SP)+

ERROR 1

BR PDONE

MOV (SP) ,a#$TMP2  :REPORT RO AFFECTED
cMP (SP)+, (SP) +

B8R PERR22

MOV #P2 NS TMP?

MoV RO,a#$TMP3
MOV fPDATIO-Zkl.a#STMPL

BR PDONE

;DATA FAILURE.
MOV NP2, NS TMP?
MOV #PDAT IO, 3NSTMP3
MOV 1PDAT00.3#STHP4

B8R POONE

:FSRC FAILURE TO
MOV P2, NSTIP? *MODE 0
MOV 2627 ., INSTMPS
MOV #3206 NSTMP?
MOV f320.3#STHP6

ERROR
BR PDONE
WORD -]

-1

-1
.WORD 010621

031463

052525

073567
.WORD 0

0

0

SEQ 0076




A

CJKDCB-A KEF11-A FP DIAG PART 1 MACY1 30351052)

C(JkD(B.P11

3333
3334

016060
016060

016062

016064
016064

016066
016072
016074

016102
016106

016112
016116

016120
016124
016130
016134
016136
016140

016142
016146
016150
016152

016156
016162
016166
016172
016174
016176

12-MAR-80 15:26
016056 000000

104413

000004

170011

012700
172410

012737

012700

172470
016110

012701
176401

012703
012704
012705

016520
016226
016267
000241

016540

000004
016540
016550

016267

016560
016540
000004
1772777

000004

PDATO3:

PDONE :

tt'tt"t'."t"t't"‘t"ttt"“ﬁﬁtttttttittlttttt‘tt‘tttttttttt

M6
12-MAR-80 15:31 PAGE
FSRC MODE 6 TEST

RSETUP

~TEST 23

i« THIS !S A TEST OF FSRC MODE 7,
:* DEFERRED MODE.

'.tt'*"'tﬁtt'*"'t""'tttt'.'ttﬁﬁtttttttttttttlttttt.ttt'tttttt

78123
Q1:

Q2:
Q3=Q2+2

Q4:

Q5:

1$:
Q6:
Q7:

SCOPE

SETD

MOV
LoD

MOV

0

FSRC MODE 7 TEST

#QPAT10,RO
(RO) ,ACO

#QERRO,Q#ERRVECT

#OPAT20-241,R0
8241(RO) ,ACO
#QDATOO,R1
ACO, (R1)

#4,R3

#ODATOO0 R4
#QDATIO.RS
(le (RS) +
ns.as
ngATZO—ZM .RO

QERRZ21
a#QDONE

#QDATO0,R1
#6 R3
tai (R1)+

R3,Q07
QERR?

63

;GO INITIALIZE THE FPS AND STACK; AND
;SEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOF TWARE
:VIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

INDEX

<LOAD A DEFAULT
;PATTERN INTO ACO

<1F THE (BUT FSRO)
JFORK FAILS AN
;0DD ADR TRAP (OULD
;OCCUR

sGET THE DATA

sCHECK THE DATA

sCHECK RO.

sWAS [T FSRC MODE Q2

SEQ 2077




N 6
CJKD(B~A KEFTI-A FP DIAG PART 1 MA(CY11 30A(1052) 12-MAR-8B0 15:31 PAGE 64
cJxdCB.PIN 12-MAR-B0 15:26 T23 FSRC MODE 7 TEST
3389 016200 012701 016530 Qs: MOV #QPAT20,R1
33900 016204 012702 016540 MOV #QDATO0 .R2
3391 016210 012703 000004 MOV #4 R3
3392 016214 022122 Q9: CMP (RT)*+, (R2) + ;WAS IT FSRC 6
3393 016216 001401 BEQ 010 *OR DATA FAILURE
3396 016220 000524 BR QERR1
3395 016202 077304 Q10: S08 R3,0Q9
ggg 016224 000504 B8R QERR3
%ggg ;TRAP TO HERE ON AN ODD ADR FAILURE
3400 016226 021627 015436 QERRO: (MP (5P) ,#P3
%«‘8.12 016232 000137 062556 IMP SNCPSPUR
3403 016236 022700 016267 QERR11: (MP #QPAT20-241,R0 ;WAS IT FSRC
3404 016242 001004 BNE QERR12 *MODE 1?2
305 0162644 012737 000321 001246 MOV 0321.anmps
3406 016252 000434 B8R QERRi7
3407 016256 022700 016277 QERR12: CMP #QPAT20~241+10,R0 :WAS IT FSRC
3,08 016260 001004 BNE QERR13 :MODE 2?
3409 016262 012737 000322 001246 MOV 0322 acsmps
3410 016270 000425 B8R QERR
3411 016272 022700 016271 QERR13: CMP :amrzo—ewz RO ;WAS [° FSRC
3412 016276 001004 BNE QERR14 :MODE 3?
3417 016300 012737 000323 001246 MOV 1323 acsmps
3414 216306 000416 BR QERR
3415 016310 022700 016257 QERR14,  CMP xomzo-zm ~10,R0 :WAS IT FSRC
3416 016314 001004 ANE QERR1S ; A
%17 016316 012737 000324 001246 MOV #324  aNSTMPG
ﬁ}g 016324 000407 8R QERR1?
34,20 016326 022700 016265 QERR1S: (MP #QPAT20-241~2,R0 :WAS IT FSRC
321 016332 001407 BEQ QERR16 : 5
3325% 016334 000416 8R QERR20
332.315. 016336 012737 000325 001246 QERR16: MOV 2325, NS TMPG
3426 016344 012737 000627 001244 QERR1? W #627.aN$TMPS  :REPORT FSRC FAILURE
34,27 016352 012737 000327 (11250 v #3278 THP7
3428 016360 011637 001236 v (SP) . a#STMP?
329 016364 022626 P (SP)+, (SP)+
%30 016366 104001 1$: ERROR 1
3313‘12 016370 000473 BR QDONE
%33 016372 011637 001236 QERR20: MOV (SP) ,a¥STMP2  :REPORT RO AFFECTED.
3%3% 016376 022626 ™ (SP)+, (SP}+
3435 016400 000403 B8R QERR22
2436 016402 012737 016106 001236 QERR21: MOV #Q2, NS TMP2
%37 016410 QERR22:
3438 016410 010037 001240 MOV RO, IS TMP3
3439 016414 012737 016267 001242 MOV #OPAT20-241, 348 TMPS
3440 016422 104001 1%: ERROR 1
3322} 016424 000455 B8R QDONE
3443 016426 012737 000320 001246 QERR2: MOV #320,a#8TMP6  ;WENT TO FSRC
3U4h 016434 000403 BR QERRS, *MODE 0

SEQ 0078
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(JxD(B.P11 12-MAR-80 15:26 FSRC MODE 7 TEST SEC 0075
33222 016436 012737 000326 001246 OERR3: MOV #326,43TMP6 ’isgg LO FSRC
3447 0764464 012737 000627 001244 OERR4: WOV #627 ,aNSTMPS
348 016452 012737 000327 001250 MOV #327 ,aNsTMP7
3449 016460 012737 016106 001236 MOV #Q2 ,aNSTMP?2
3450 016466 104001 1%: ERROR 1
33225 016470 000433 B8R QDONE
34,53 016472 QERR1: ;DATA FAILURC
3454 (016472 012737 016106 001236 MOV #Q2 ,aNSTMP2
3455 016500 012737 016550 001240 MOV #QDATIO,34STMP3
3456 016506 012737 016540 001242 MOV #QADATOO, NS TMPSL
3457 016514 104001 1%: ERROR 1
33223 016516 000420 BR QDONE
3460 016520 177777 QPAT10: .WORD ~1
3461 016522 177777 QPAT11: ~1
3462 016524 177777 QPAT12: -1
ﬁgz 016526 177777 QPAT13: -1
3465 016530 016550 QPAT20: .WORD QDATIO
3466 016532 052525 QPAT21: 52525
3467 C16534 052525 QPATZ2?: 52525
ﬁgg V16536 052525 QPATZ23: 52525
3470 016540 000000 QDATO0: .WORD O
3477 016542 000000 QDATO1: 0
3472 016544 000000 QDATO2: 0
%2;2 01654¢ 000000 QDATO3: 0
3475 016550 073567 QDATIQ: .WORD 073567
3476 016552 052525 QDATI1: .WORD 052525
3477 016554 031463 QDATI2: .WORD 031463
%Z;g 016556 010421 QDATI3: ._WORD 010421
3480 016560 QDONE :
3481 016560 104413 RSETUP ;GO INITIALIZE THE FPS AND STACK; AND
3482 ;SEE IF THE USER HAS EXPRESSED
3483 ;THE DESIRE TO CHANGE THE SOf TWARE
3484 ;VIRTUAL CONSOLE SWITCH REGISTER (HAS
;222 :THE USER TYPED CONTROL G?).
3487 RN A AR AN R AR AR RAARR AR RN NRRRR AR RRARANRCARRA RN
33232 ;*TEST 24 (BUT EZBT Y8),(BUT ENBT) AND (BUT FJuv) TEST
s 1%
3490 :* LOAD INSTRUCTION FLOWS.
349 ;% EACH OF THE PATTERNS:
3492 o* 0
3493 i3] +NUM
3494 o =NUM
3495 I -0
3496 ;* IS LOADED TWICE, ONCE WITH AC>0 THEN
3497 ;% WITH AC=0. AFTER EACH LOAD THE FPS IS
3498 :* CHECK TO INSURE THAT CONTROL WAS PASSED
%4588 ;* THROUGH WITH THE FORKS PROPERLY.
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CJKDCB.Pi1  12-MAR=80 15:26 (BUT EZBT Y8),(BUT ENBT) AND (BUT FIUV) TEST SEQ 0080
3501 AR AL Rl L e R g Py
3502 016562 000004 1§124: SCOPE
3503 010564 005037 017662 CLR SFUFLAG
3504 016570 012700 017612 MOV #UPAT00,RO ;SET UP AC#0 DATA.

3505 016574 012701 000004 MOV ¥4 R1

3506 016600 012720 177777 uo: MOV #-1, (RO)+

;ggg 016604 077103 SOB R1.U0

3509 016606 012737 000033 017664 MOV #033,34UTMP 1

3510 016614 012737 000023 017666 MOV #023, 3#UTMP?

gg}} 8}%%8 012737 017342 000244 Ul MOV #UERRO,a#FPVECT ;IN CASE (BUT Fluv FAILS)
3513 016630 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
3514 016632 012700 000200 MOV #200,R0

3515 016636 170100 LDFPS RO

3516 016640 012700 017612 MOV #UPATOO,RO ;LOAD ACO

3517 016644 172410 LDD (RO) ,ACO

3518 016646 013737 017664 017670 MOV SNUTMPT , 3#UROM1

3519 016654 012737 000001 017672 MOV #0017, 3#UROM?

gggg 016662 012737 000254 017674 MOV #254 . ISUROM3

3522 016670 012700 017622 MOV #UPAT10,RO ;LOAD O INTO ACO

3523 016674 172410 u2: LDD (ROY ,ACO

3524 016676 010037 007252 MOV RO,a¥#STMP10

ggsg 016702 012737 016674 001236 MOV #U2 ., aNSTMP?

3527 016710 012704 000204 MOV #204 R4 ;SEE IF FPS IS CORRECT
gggg 016714 170205 STFPS RS

3530 016716 020405 MP R4 RS

3531 016720 001402 BEO U3

gg;g 016722 000137 017366 JMP SFUERR1

3534 016726 u3:

3535 016726 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
3536 016730 012700 000200 MOV #200,RO

gg% 016734 170100 LDFPS RO

3539 016736 012700 017612 MOV #UPATO00 RO ;LOAD ACO

3540 016742 172410 LDD (RO) .ACO

3541 016744 013737 017666 017670 MOV INUTMP? , GAUROM)

3542 016752 012737 000003 017672 MOV #GO3 , IFUROM?

5’5522 016760 012737 000054 017674 MOV #05% . SFUROM3

3545 016766 012700 017632 MOV SUPAT20,RO :LOAD A POSITIVE NUMBER
3546 ;INTO ACO

3547 016772 172410 Ud: LDD (RO) ,ACO

3548 016776 010037 001252 MOV RO, a¥STMP10

3549 017000 012737 016772 001236 MOV #UL ,NSTMP?

3550 017006 012704 000200 MOV #200,R4 :FPS CORRECT?

ggg} 017012 170205 STFPS RS

3553 017014 020405 I 2 R4 RS

3554 017016 001402 BEQ uS

3555 017020 000137 017452 IMP SMUERR?

3556 017024 US:
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C(JKD(CB.P11 12-MAR-80 15:26 124 (BUT EZBT Y8),(BUT ENBT) AND (BUT FJUV) TEST “FQ 0081|
3557 017024 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS. \
3558 017026 012700 000200 MOV #200,R0
3559 (017032 170100 LDFPS RO

017034 012700 017612 MOV #UPATO0 RO :LOAD ACO
3561 017040 172410 LDD (RO) ,ACO
3562 017042 013737 017666 017670 MOV NUTMP2 , 3#UROM1
3563 017050 012737 000403 017672 MOV #403, 3#UROM?

017056 012737 000056 017674 MOV #056 , B#UROM3
3565 017064 012700 017642 MOV #UPAT30,RO ;LOAD A NEGATIUE

'NUMBER INTO ALO

3567 017070 172410 U6: LDD (RO) ,ACO
3568 017072 010037 001252 MOV RO, aNSTMP10
3569 017076 012737 017070 001236 MOV #Ub , NS TMP2
3570 017106 012706 000210 MOV #210,R4 :FPS CORRECT
3571 017110 170205 STFPS RS
3572 017112 020405 MP R& ,RS
3573 017114 001402 BEQ u7
3574 017116 000137 017452 MNP SUERR?
3575 017122 u7:
3576 017122 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
3577 017126 012700 000200 MOV #200, R0
3578 017130 170100 LDFPS RO
3579 017132 012700 017612 MOV SUPATO0 RO :LOAD ACO
3580 017136 172410 LDD (RO) ,ACO
3581 017140 013737 017664 017670 MOV SNUTMPT , FUROM1
3582 017146 012737 000401 017672 MOV #4601, aFUROM2
3583 017154 012737 000256 017674 MOV #256.
3584 017162 012700 017652 MOV SUPAT40 RO ;LOAD -0 INTO ACO
3585 017166 172410 u10:  LDD (RO) ,ACO
3586 017170 000240 Ull:  NOP :TRAP FROM HERE IF
3587 017172 010037 001252 MOV RO,S¥STMP10
3588 017176 012737 017166 001236 MOV #UTO.SNSTMP2  (BUT FIUV) FAULS!
3589 017206 012704 000214 MOV #214 R4 ISEE IF FPS IS CORRE(T.
3590 017210 170205 STFPS RS
3591 017212 020405 ™ R& RS
3592 017214 001402 BEQ U1l
3593 017216 000137 017366 WP SFUERR1
3506 017222 005737 017662 v1z:  TST QFUFLAG :SEE IF ALL THE PATTERNS
3595 017226 001021 BNE Ulé :HAVE BEEN TEST WITH
3506 *BOTH AC NOT EQUAL TO O AND AC-0
3597 017230 012700 017612 MOV SUPATO00,RO *IF NOT GO BACK AND
3598 017234 012701 000094 MOV #4 R1 TCHECK THEM WITH AC=0
3599 017240 005020 v13:  CLR (RD) +
3600 017242 077102 SO8 R1,U13
3601 017244 012737 177777 017662 MOV #-1 SMUFLAG
3602 017252 012737 000233 017664 MOV #2358, 30UTHP
3603 017260 012737 000223 017666 MOV #223. IMUTMP?2
3604 017266 000137 016630 NP anul
3605 017272 Ul4:
3606 017272 104414 LPERR :SET UP THE LOOP ON ERROR ADDRESS.
3607 :NOW SEE IF A TRAP CAN BE FORCED BY SETTING FIUV AND LOADING -0
3608 017274 012737 017536 000244 MOV NUERR3, 3#FPVECT
3609 017302 012700 004200 MOV #4200, R0 ;SET FD AND FIUV
3%10 017306 170100 LDFPS RO
3611 017310 012700 017612 MOV #UPATO0, RO SSET UP ACO
%12 017314 172410 LDD (RO) ,AC0
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CJKDCB.P11 124

3613
4
3615

017316
017322
017324
017326
017330

017336
017340

017342

017366
017372
017374
017402
017406
017412
017416
017420
017424
017426
017432
017436
017442
017446
017450
017452
017456
017460
017466
017472
017476
017502
017504
017510
017512
017516
017522
017526
017532
017534

017536
017542
017544
017550

012700
172410
170000
000240
012737

104001
000556

021627

000402
052703
010337
010537
010437
104001
000460

021627
001402
000137
022626

12-MAR-80 15:26

017652

017322

017170

0625264
001236

000004
000443
017674
001250
000200
000200
000200
001246
001240
001242
000004

017670
2

017324
062524

001236

001244

001244

(BUT EZBT v8),(BUT ENBT) AND (BUT Fluv) TEST

MOV SUPAT4O RO ;LOAD =0
u1S: LDD (ROY ,ACO “SHOULD TRAP TO 244
ul6: CFCC
NOP
MOV #U15,348TMP2  :REPORT ERROR.
:DIDN'T TRAP
1$: ERROR 1 “(BUT FIUV) FAILED.
B8R UDONE
:TRAPPED TO 244. DID (BUT FIuv) FAIL?
UERROD: (MP <sp>,#u11
8EQ 13
JMP a¥FPSPUR
1$: MOV (SP) , aNsTMP2
P (SP)+,(SP)+
28: ERROR 1
B8R UDONE

;COME HERE TO ANALYZE FPS ERRORS

UERR1: BIT #4 RS
BEQ UERR20
UERR10: MOV #4463, INSTMPS
MOV SNUROM3 R3
MOV R3, NS TMP?
8IT aeéo R3

8IC 0200 R3
B8R 2%
RE 8IS #200,R3

2%$: MOV R3,3¥$TMPE
UERR11: MOV RS, NSTMP3
MOV R4, aNSTMPL
18: ERROR 1
B8R UDONE
UERRZ: BIT #4 RS
BEQ UERR10
UERR20: MOV afFUROM1 , &;STFPS

BEQ
8IC 0400.R3
B8R $

18: 8IS #400,R3

2%:
UERR21: MOV RS,arsTMP3
MoV R4, NS TMPS
18: ERROR 1
BR UDONE

; INTERRUPT HERE WHEN FIUV SET AND ATTEMPTED TO LOAD-0
UERR3: (MP (SP) ,mU16

BEQ 18
JMP a#f PSPUR
18: 0 o (SP)+,(5P)~

SEQ 0082
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(JKD(B.P11 124

017552
017554
017556
017562
017564
017566
017574
017602
017606
017610
017612
017614
017616
017620

017622
017624
017626
017630

017632
017634
017636
017640

017642
017644
017646
017650

017652
017654
017656
017660

017676

017676
017700
017700
017702

12-MAR-80 15:26

022700 000014

(BUT EZBT Y8),(BUT ENBT) AND (BUT FJuV) TEST

CLR RO
STST RO JGET FEC.
CMP #14,RO s CORRECT

BNE UERR4
B8R

0004 UDONE
012737 017322 801236 UERR4: MOV #U1S ,aNETMP2

012737 000012
001240

000004

104414
012700 000200

01242

MOV #12,aNSTMPS
MOV RO,a#$TMP3

2
g—a
z

UPAT10: ,WORD
UPATZ20: ,WORD 621 ;POS NUM

631 JNEG NUM

00000 ;NEG ZERO

>
—
W
n
OOOO0OO0O0O OO0 —=—aaa =230 O000 O00O0

a4 222223223223 32323 2232222 222320222222 2R0 22220 2Rt RtRtRRRRl Rl

SRTEST 25 ADDF ,ADDD,SUBF AND SUBD WITH FSRC=AC-0 TEST

b1

‘e THIS IS A TEST OF ADD AND SUB WITH FSRC-AC=0

e 232222 R 2RSS SRR RS RS RS R RA RS2SR RRRRRRRRRRRR Rl Rl

TST25: SCOPE
wl:

LPERR ;SET UP THE LOOP ON ERROR ADDRESS.

MOV #200,R0

SEQ 0083
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CJkDCB.P1N 12-MAR-80 15:26 125 ADDF ,ADDD,SUBF AND SUBD W]lTH FSR(C=A(=0 TEST
3725 017706 170100 LDFPS RO ;SET DOUBLE MODE
3726 017710 012700 020364 MOV NWPATOO RO *LOAD ACO=:

3727 017714 172410 LDD (RO) ,ACO
3728 017716 012737 017730 001236 MOV M2, NSTMP? :SAVE FP INSTRUCTION
3720 017724 012700 020364 MOV MPATO00 RO
3730 017730 172010 W: ACDD  (RO),ACD STEST INSTRUCTION. ADD ITSELF
3731 017732 170205 STFPS RS “GET FPS
3732 017734 170011 SETD *SET DOUBLE MODE
3733 017736 012700 020364 MOV MPATO0 ,RO
373, 017742 174010 STD ACO, (RO) :GET THE RESULT
3735 017746 012701 020364 MOV MPATOO0,R1
3736 017750 012702 000004 MOV ¥4 ,R2
3737 017754 02021 w3 CMP (Ré)*,(mh ;1S RESULT CORRECT
3738 017756 001403 BEQ W
3739 :NO
3740 017760 104002 18: ERROR 2
3741 017762 000137 020404 ImP SNWDONE
3742 017766 077206 W : S08 R2,W3
3743 017770 022705 000204 ™P #204.RS ;1S FPS CORRECT
g;zzs. 017774 001410 BEQ WS i

:N
3746 017776 012737 000206 001262 MOV #204 , NS TMPS
3747 020004 010537 001240 MOV RS ,INSTMP3
3748 020010 104001 1%: ERROR 1
3749 020012 000137 020404 IMP NWDONE
3750 020016 WS :
3751 020016 104414 LPERR :SET UP THE LOOP ON ERROR ADDRESS.
3752 020020 012700 000200 MOV #200, R0
3753 020026 170100 LDFPS RO :SET DOUBLE MODE
3754 020026 012700 020364 MOV MPATOO0 RO *LOAD ACO=0
3755 020032 172410 LDD (RO) ,ACO
3756 020034 012737 020052 001236 MOV M6, A STMP?
3757 020042 005000 CLR RO
3758 020044 170100 LDFPS RO ;GO0 TO FLOATING MODE
3759 020046 012700 020364 MOV MPATO00,1 0
3760 020052 172010 W6 : ADDF (RO) .ACO STEST INSTRUCTION
3761 020054 170205 STFPS RS ‘GET FPS
3762 020056 170011 SETD ‘RESET TO DOUBLE MODE
3763 020060 012700 020364 MOV MPATO0, RO
3764 0.0064 174010 STD ACO, (RO} SGET THE RESULT
3765 020066 012701 020364 MOV MPATOO0,R1
3766 020072 012702 000004 MOV 24 ,R2
3767 020076 022021 w7: P (ROY+, (R1)+ :WAS THE RESULT
3768 020100 001402 BEQ w10 'NO. REPORT FAILURE.
3769 020102 104002 1$: ERROR 2
3770 020104 000537 BR WDONE
3771 020106 077205 wi0: SOB R2.W7
3772 020110 022705 000004 ™ ¥4 RS :WAS FPS CORRECT
3773 020114 001407 BEQ wii
3774 : INCORRECT FPS.
3775 020116 012737 000004 001242 MOV #, NS TMPG
3776 020124 010537 001240 MOV RS .34$TMP3
3777 020130 104002 1$: ERROR 2
3778 020132 000524 BR WDONE
3779 020134 wit:

3780 020134 104414 LPERR ;SET UP THE _OOP ON ERROR ADDRESS.
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CJkD(B.P

3781
3782
3783
3784
3785

g2

EREERELHE
O ~NOWVE W =0

1M

020136
020142
020144

020210
020212

020214

020226

020230
020236
020242
020244
020246
020246
020250
020254
020256

012737
010537
104001
000457

104414
012700
170100
012700
172410
012737
005000
170100
012700
173010
170205

000200
020364

020164
020364

020364

020364
000004

000204
000204
001240

000200
020364
020302

020364

001236

001242

001236

125

wie:

wil:

1%:

Wié:

1%:

Wi15:

Wwi6:

ADDF ,ADDD,SUBF AND SUBD WwlTH FSR(C-A(C=0 TEST

MOV #200,RO
LDFPS RO ;SET DOUBLE MODE
MOV MIPATOO RO ;LOAD ACO=0

LDD (RO) ,ACH

MOV M12. NS TMP?

MOV MPATO0 RO

suBD  (RO).ACH STEST INSTRUCTION
RS “GET FPS

SETD ;SET DOUBLE MODE
MOV MPATO0,RO

STD ACO, (RO) ;GET THE RESULTY
MOV #MPATO0,R1

MOV #6 ,R2

cMP (ROY+, (R1)+ ;1S RESULT CORRECT?
BEQ Wi
;NO.
ERROR 2
BR WDONE

So8 R, W13

WP p$24,ns ;1S FPS CORRECT?
W

:NO.
MOV #204 , NS TMPL
MOV RS,a#$TMP3
ERROR 1
BR WDONE
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #200,R0
LDFPS RO ;SET DOUBLE MODE
MOV MPATOO RO *LOAD AC0=0
LDD (RO) ,ACO
MOV M6, 3NSTMP2
CLR RO
LDFPS RO ;ENTER FLOATING MODE.

MOV MPATO0, RO
SUBF égO).A(é :TEST INSTRUCTION.

:GET FPS

SEG 0085




{ IXDCB-A KEF11=A FP DIAG PART 1 MACY11 30A(1052)
12-MAR-80 125

CJxDCB.PN

3819

020332
020334
020336
020340
020344

020346
020354

020364
020366
020370
020372

020374

106413

170205

15:26

020364
020364
000004

000004

000004
001240

000200

021150
021136

020444
021160

00124¢

001236

1 7
12-MAR-80 15:31 PAGE 72
ADDF ,ADDD,SUBF AND SUBD WITH FSR(=AC=0 TEST

;RESET TO DOUBLE MODE
MWPATO0 RO :GET THE RESULT.
ACO, (RO)
MIPATOO ,R1
#6 R2
(RO)+, (R1)+ ;1S RESULT CORRECT?

w20
;NO.
2
WDONE
R2.W17
#s RS ;1S FPS CORRECT?
WOONE
:NO

6, QNS TMPL
?5.3’$TMP3

WDONE

QOO0 O©OOO0O0

;GO INITIALIZE THE FPS AND STACK; AND

;SEE IF THE USER HAS EXPRESSED
;THE DESIRE TO CHANGE THE SOF TWARE

cVIRTUAL CONSOLE SWITCH REGISTER (HAS

:THE USER TYPED CONTROL G?).

'l.'.."t..l.t'."."."."..Q*.'.'."ttt‘tttt""t‘!tt'tt...tt

ADDD AND SUB WITH FSRC=0

“« THIS IS A TEST OF ADD AND SUB WITH F3Rr-G.

. .'..'tﬁt.ttt'..t"'!t."'.'ttl't..&tl! ¢ ARTAERASRON R R RN RO

SETD
MOV
STD
MOV
MOV
wi7: (MP
8EQ
1%: ERROR
B8R
w20: So8
MP
8EQ
MOV
MOV
1%: ERROR
WPAT00: .WORD
WPATO1:
WPATO0Z:
WPATO03:
WDAPQO: .WORD
WDATO01:
WDAT0?2:
WDATO03:
WDONE :
RSETUP
'TEST 26
;?T26 SCOPE
LPERR
MOV
LDFPS
MOV
MOV
LDD
MOV
MOV
X2: ADDD
STFPS

;SET UF THE LOOP ON ERROR ADDRESS.

#200,R0

RO ;SET DOUBLE MODE
#XPATO0, RO “SET ACO 1O POSITIVE
RO, SNXTMP ‘NUMBER #0

(RO) ,ACO

#X2, NS TMP2

#XPAT10 RO :FSRC=0

'§o> LACO STEST INSTRUCTION

SEQ 0086
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(UKL CB.P11

3875
3876
3877
3878
3879

3881

020450

020700
020702

12-MAR~80 15:26

170011
012700
176010
012701
012702
022021
001601
000553
077204
012704
020405
001402
000137

104414
012700
170100

021140

021150
000004

000200
021106

000200

021170
021136

020550
021160

021140

021170
000004

000210

000200

021150
021136

020652
021160

021140

021150
000004

001236

001236

126

x3:

X6 :

XS:

X6:

X7:

X10:

X11:

X12:

X13:

J 7
12-MAR-80 15:31 PAGE 73
ADDD AND SUB WITH FSR(=0

MOV #XDATOO RO sGET RESULT.
STD ACO, (ROS
MOV #XPATO0 ,R1

MOV #4 R2
P RO+, (R1)+ ;1S RESULT CORRECT?
BEQ X4

B8R XERR1

SO8 RS X3

MOV #200 R

C™P RG.RS ;15 FPS CORRECT?
BEQ X5

IMP BMXERR2

LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #200,R0

LDFPS RO ;SET DOUBLE MODE
MOV #XPAT20,R0 SSET ACO TO

MOV RO, RAXTMP
LDD (RO) ,ACO
MOV X6, MSTMP2

NEGATIVE NUMBER

MOV #XPAT10,R0O :FSRC=0

ADDD  (RO),ACOH STEST INSTRUCTION
STFPS RS

SETD

MOV #XDATO0,RO sGET RESULT

STD ACO, (RO)
MOV #XPAT20,R1

MOV #4 R2
cMP RO+, (R1)+ ;1S RESULT CORRECT?

BEQ X10

8R XERR1

S08 R2 X7

MOV #2710 R4

c™P R¢ RS ;1S FPS CORRE(CT?

BEQ x1§

BR XERR2

LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #200,RO

LDFPS RO ;SET DOUBLE MODE

MOV #XPAT00 RO *SET ACO TO NON~ZERO

MOV RO, a¥XTHP
LDD (RO) ,ACO
MOV #X12,388TMP?2

JPOSITIVE NUMBER

MOV #XPAT10,RO sFSRC=0

SUBD (RO ,ACO STEST INSTRUCTION
STFPS RS

SETD

MOV #XDATO00,RO ;GET RESULT

STD ACO, (RO)
MOV #XPATO00,R1

MOV #4 R2

P RO+, (R1)+ ;1S RESULT CORRE(CT?
BEQ X14

B8R XERR3

1

SEQ 0087




CJKDCB-A KEF11-A FP DJAG PART 1 MA(Y11 3

CukDCB.P1

3958 021016
3959 021020
3960 021022

3964 021024

12-MAR-80 15:26

077204
012704
020405
001407
000501

104416

013737

010537
010437
104001
000427

010537
010437
104001

000200

000200

021170
021136

020754
021160

021140
021170
000004

000210

001240
001242

001236

001244
001246

0A(1052)
126

X14:

X15:

X16:

X17:

x20:

x2t:
;REPORT
XERR1:

1%:
XERR3:
1%:

;REPORT
XERRZ :

1%:
XERR4 :

1%:

K 7
12-MAR-80 15:31 PAGE

ADDD AND SUB WITH FSRC=0
S08 R2,X13

MOV #200 R4

CMP R4 RS

BEQ x15§

BR XERR

LPERR

MOV #200,R0

LDFPS RO

MOV #XPAT20,RO
MOV RO, a¥XTMP
LDD (RO) ,ACO
MOV #X16. 348 TMP?
MOV #XPAT10,RO
SUBD égO),ACO

MOV #XDATO00,RO

STD ACO, (RO}

MOV #XPAT20.R1

MOV #4 R2

P (R)+,(R1)+
x20

8R XERR3

S08 R, X17
MOV #2710 R6
P R4 RS
BEQ x21

8R XERR4
8R XDONE
DATA ERRORS

MOV #XPAT10,a¥$ TMP3
MOV XTI AFSTMPS
MOV #XDATO0 . WS TMPS
ERROR 1

B8R XDONE

MOV #XPAT10,308TMP3
MOV IIXTMP, IS TMPS

MOV #XDATOO ,aFSTMPS
MOV gﬂXTHP.EISTHPb

BR XDONE

FPS ERRORS

MOV RS .48 TMP3
MOV ?4.8#3THP4

XDONE
MOV RS, a¥STMP3
MOV R4, NS TMPS
ERROR 1

74

;1S FPS CORRECT?

JSET UP THE LOOP ON ERROR ADDRESS.

;SET DOUBLE MODE
:SET ACO=A NEGATIVE
sNUMBER

;FSRC=0
sTEST INSTRUCTION.
JGET RESULT

;IS RESULT CORRECT?

;IS FPS CORRE(CT?

SEQ 0088
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CJKDCB.P11 12-MAR-80 15:26 126 ADDD AND SUB WITH FSRC-0 SEQ 0089
3987 021134 000421 BR XDONE
3988 021136 000000 XTMP:  .WORD O
3989- 021140 000000 XDATO0: .WORD O
3990 021142 000000 XDATO1 : 0
3991 021144 000000 XDATO?: 0
ggg 021146 000000 XDATO3: 0
3994, 021150 010421 XPAT00: .WORD 010421
3995 021152 021042 XPATO1 : 021042
3996 021156 031463 XPATO? : 031463
gggg 021156 042104 XPATO3 : 042104
3999 021160 000000 XPAT10: .WORD O
4000 021162 000000 XAPT11: 0
40017 021164 000000 XPAT12: 0
4002 021166 000000 XPAT13: 0
4003 021170 104210 XPAT20: .WORD 104210
4004 021172 114631 XPAT21: 114631
4005 021174 125252 XPAT22: 125252
2889 021176 135673 XPAT23: 135673
4008 021200 XDONE :
4009 021200 104413 RSETUP ;G0 INITIALIZE THE FPS AND STACK: AND
4010 *SEE IF THE USER HAS EXPRESSED
40N “THE DESIRE TO CHANGE THE SOF TWARE
4012 *VIRTUAL CONSOLE SWITCH REGISTER (HAS
2’8}2 *THE USER TYPED CONTROL G?).
4015 NN A RN AN N A AN AN RN A AR AN AR R R AN AR N AN N AN AN A TN N NI AN
28}9 J*TEST 27 SUBD WITH AC=0 TEST
%
4018 « THIS IS A TEST OF SUBD WITH AC=0. BOTH POSITIVE
4019 « AND NEGATIVE FSRC'S ARE TRIED.
4020 *
4021
4022 .‘.'ltt.tttlltt.llltit'.'i"'tl‘ittﬂlltttltttttltttttltttttttttttt'
4023 021202 000004 15T27: SCOPE
4026 021204 005037 021534 CLR NYFLAG
4025 021210 012737 021554 021536 MOV AYPATOO ,a#YTMP1 :P
4026 021216 012737 021564 021540 MOV #YPAT10.34YTMP2 ‘N
4027 021226 012737 000210 021542 MOV #210,a4YTMP3
4028 021232 ¥1:
4029 021232 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
4030 021234 012700 000200 MOV #200,RO
4031 021240 170100 LDFPS RO :SET DOUBLE MODE
4032 021242 012700 021574 MOV #YPAT20,R0 *SET ACO=0
4033 021246 172410 LDD (RO) ,ACO
403, 021250 013700 027536 MOV SYTMPT RO
4035 021254 173010 v2: sueD  (RO),ACO sTEST INSTRUCTION
4036 021256 170205 STFPS RS
4037 021260 170011 SETD
4038 021262 012700 021544 MOV #YDAT00 RO ;GET RESULT
4039 021266 174010 STD ACO, (ROS
4040 021270 012702 000004 MOV #4 R2
4041 021274 013701 021540 MOV Y TMP2 ,R1 ;CHECK RESULT.

64042 021300 022021 Y3: (Mp (RO)+,(R1)+




(JKDCB~-A kEF11~A FP DIAG PART 1 MACY11 30A(1052)
CJKD(B. 127

4043
4044
4045
4046
4047
(048
4049
4050
475951

052
“053
<054
4055
4056
4057
4058

P11

021542

021544
021546
021550
021552

021554
021556
021560

12-MAR-80 15:26

001026
077203
023705
00160

012737
013737
012737
012737
013737
106001
000457

012737
013737
012737
012737
013737
104002
000436

012737
010537
013737
1064002
000424

021542

021534

177777
021564
021554
000200

000004
021536
021544

021254
021536
021574
021544
021540

021254

021544
021540

021254
001240
021542

021534
021536
021540
021542

001246

001236
001242

Y4:

YS:
Y6:

Y7:

YERR1:

18:
YERRZ:

1%:
YERR3:

1%:

YFLAG:
YTMP1 :
YTMP?:
YTMP3:

YDATQO:
YDATO1:
YDATOZ:
YDATO3:

YPATQO:
YPATQ1:
YPAT(?2:

A
12-MAR-80 15:31 PAGE 76
SUBD WITH AC=0 TEST

.WORD

Y6
R2,Y3
QZYTMP3.R5

Y
YERR3

NYFLAG

Y5

#-1,a¥YFLAG
#YPAT10,34Y TMP1
#YPATQO ,a#YTMP2
#gOO.&lYTMPS

Y

YDONE

#4,R2
#YTMP1 RO
#YDATOO,R1
(RO)+,(R1)+
YERR1

R2,Y?

YERR?2

H#Y2 ,BNSTMP2
SNYTMP] NS TMP3
#YPAT20, 348 TMPS
#YDATOO , a#$TMPS
?#YTHP2.303THP6
YDONE

#Y2 ,MNSTMP2

INYTMP] aFSTMP3
#YPAT20 ,a4$TMPS
#YDATOO ,a¥STMPS
gﬁYTHPZ.i'STHP6

gﬁYTﬂPS LSNSTMPS
YDONE

OO0 OO0 OO00C0

;FPS CORRECT?

sFINISHED TEST?

;DID XOR OF SIGN BIT
;FAIL?

;DATA FAILURE

:XOR OF SIGN BIT
sFAILED

:FPS WRONG.

SEQ 0090

—
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CJKDCB.P11 12-MAR-80 15:26 T2 SUBD WITH AC=0 TEST
2?33 021562 167356 YPATO3: 167356
4101 021564 163146 YPAT10: 163146
4102 021566 052525 YPAT11: 052525
4103 021570 042104 YPAT12: 042104
zlgg 021572 167356 YPAT13: 167356
4106 021574 000000 YPAT20: 0
4107 021576 000000 YPAT2I : 0
4108 021600 000000 YPATQ2: 0
2}?3 021602 000000 YPAT23: 0
4111 021604 YDONE
4112 021604 104413 RSE TUP :GO INITIALIZE THE FPS AND STACK: AND
4113 “SEE IF THE USER HAS EXPRESSED
4114 *THE DESIRE TO CHANGE THE SOF TWARE
4115 *VIRTUAL CONSOLE SWITCH REGISTER (HAS
4116 ;THE USER TYPED CONTROL G?).
4117 DI RN RA N AR RN RN N RN R NN AR R AN AN RN RN SRR NANA R RN AAN AR NN AR RN
4118 TRTEST 30 ADDD WITH AC=0 TEST
4119
4120
4121 ;a
4122 ‘@ THIS IS A TEST OF ADDD WITH AC=0. B8OTH
2152 “« POSITIVE AND NEGATIVE FSRC'S ARE TRIED.
- N
4125
1,126 SINRARRAARR AR AR R R AR AR AR AANAARAANAAANAARARARARAA RO A R AR AR
4127 021606 000004 75730: SCOPE
4128 021610 005067 000224 CLR IFLAG
4129 021614 012737 022056 022042 MOV #IPATO0,3¢ZTMPT ;P
4130 021622 012737 000200 022044 MOV #200.342TMP2
4131 021630 21:
4132 021630 104414 LPERR :SET UP THE LOOP ON ERROR ADDRESS.
1123 021632 012700 000200 MOV #200 RO
413% 021636 170100 LDFPS RO :SET DOUBLE MODE
4135 021640 012700 022076 MOV #IPAT20,RO *SET ACO=0
4136 021644 172410 LDD (RO) ,ACO
4137 021646 013700 022042 MOV TP KO
4138 021652 172010 72: ADDD  (RO),ACO STEST INSTRUCTION
4139 021654 170205 STFPS RS
4140 021656 170011 SETD
4141 021660 012700 022046 MOV #ZDAT00,RO :GET RESULT
4142 021664 174010 STD ACO, (RO}
4143 021666 012702 000004 MOV #6 R2
41446 021672 013701 022042 MOV WMZTMP1 R ;RESULT CORRECT?
4145 021676 022021 3: c™P (RO)+, (R1)+
4146 021700 001401 BEQ 14
4147 021702 23 B8R ZERR1
4148 021704 077204 26: S08 R2,23
4149 021706 023705 022044 MP af7TMP2 RS ;FPS CORRECT?
4150 021712 001401 BEQ " IS
4151 021714 000437 B8R ZERR?
4152 021716 005737 022040 15: TST HTFLAG :FINISHED TEST?
4153 021722 001012 BNE 26
4154 021726 012737 177777 022040 MOV #-1,382FLAG

SEQ 0
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fiKpC8.P1 12-MAR-80 15:26 130 ADDD WITH AC=0 TEST SEC
4155 021732 012737 022066 022042 MOV #IPATI10, 307 TMP1
6156 021740 012737 000210 022044 MOV #210, 41TWP2
4157 021746 000730 BR 21
4158 021750 000456 26: BR IDONE
4159 021752 2ERR1 : :DATA FAJLURE
4160 021752 012737 021652 001236 MOV N12,308THP?
4161 021760 013737 022042 001240 MOV ZTMP1 . arsTMP3
4162 021766 012737 022076 001242 MOV #IPAT20 . 3N TMPL
4163 021774 012737 022046 001244 MOV #ZDATO0 . NS TMPS
4164 022002 013737 022042 001246 MOV NITMP] .aNSTMPG
4165 022010 104002 18: ERROR 2
616/, 022012 000435 B8R ZDONE
4167 022014 ZERR2:
L4168 02201« 012737 021652 001236 MOV n722,348TMP?
4169 022022 010537 001240 MOV RS, a#STMP3
4170 022026 013737 022044 001242 MOV NITMP2 3N TMPS
4171 022034 104002 1$: ERROR 2
2};‘% 022036 000423 BR ZDONE
4174 022040 000000 IFLAG: .WORD O
4175 022042 (00000 1T™P1: 0
21;9 022044 000000 1TMP2: 0
4178 02¢046 000000 IDAT00: .WORD O
£179 022050 000000 IDATO1: 0
4180 022052 000000 IDATO2: 0
2}33, 022054 000000 ZDATO3: 0
4183 022056 031463 ZPATO0: 031463
4184 022060 010427 IPATO1: 010421
4165 022062 146314 IPATO?: 146374
2129 022064 156735 IPATO3: 156735
4188 022066 156735 IPAT10: 156735
4189 022070 167356 IPAT11: 16, 356
4190 022072 135673 IPAT12: 135673 -
2}35 022074 146314 IPAT13: 146314
4193 022076 000000 IPAT20: 0
4194 022100 000000 IPAT21: 0
4195 022102 000000 IPAT22: 0
2}3‘7’ 022104 000000 IPAT23: 0 i
4198 022106 ZDONE :
4199 022106 104413 RSETUP ;GO INITIALIZE THE FPS AND STACK; AND
4200 *SEE IF «THE USER HAS EXPRESSED
£201 :THE DESIRE TO CHANGE THE SOF TWARE
4202 JVIRTUAL CONSOLE SWITCH REGISTER (HAS
4203 “THE USER TYPED CONTROL G?).
4204
4205
42% ::ttttttttttttttttttttttttttttttttttttttt'tttttttttttittttttttltt
258; ;*TEST 31 ADDF AND ADDD WITH E(AC)=E(FSRC) TEST AND (BUT FT) TEST
(¢
4209 ;* THIS IS A TEST OF THE ADD INSTRUCTION WITH THE
6210 :» OPERANDS HAVING EQUAL EXPONENTS.
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CJKD(B.P11 12-MAR-80 15:26 ™

4211
6212
6213
4214
4215
4216
6217

012700 003240
022122 012737 022472
023050

022134 172410
022136 012737 022150
022144 012700 023060
022150 172010

022152 012700 023040
022156 174010
022160 012701 023070
022164 012702 000006
022170 022021

022172 001414
0221764 012700 023100
022200 012701 023040
022204 012702 000004
022210 022021
022212 001401
022214 000561
022216 077204
022220 000137 022614
022224 077217

022226

022226 104414

022230 012700 003200
022234 170100

022236 012700 023050
022242 172410

022244 012737 022256
022252 012700 023060
022256 172010

022260 012700 023040
022264 174010
022266 012701 023100
022272 012702 000004
022276 022021
022300 001425
022302 012700 023070
022306 012701 023040
022312 012702 000004
022316 022021

000244

001236

001236

ADDF AND ADDD WITH E(AC)=E(FSRC) TEST AND (BUT FT) TEST
s+ THE ROUND/TRUNK FLOWS IS ALSC TESTED.

(N
»
BE222222223 5323332333222 2332332323323232323233222322283 RRRiRRRRRRRRRRld)

;3131 SCOPE
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MoV #3240 ,R0
LDFPS RO JSET FIU FIV FD AND FT
MOV #AAERRO,a#FPVECT ;IN CASE THE OVER/UNDER
MOV #AAPATO,RO g%gﬁg IN TRAP WILL
LDD (RO) ,ACO JSET UP ACO
MOV N#AAL NS TMP? ; OPERAND
MOV #AAPAT1,RO
AA2 : ADDD (ROY ,ACO sTEST INSTRUCTION
;SHOULD TRUNCATE
AA3: MoV #AADATO,RO
STD ACO, (RO) ;GET THE RESULT
MOV #AAPATZ ,R1
MOV #4,R2
AA4 : oy o (ROO+,(R1)+ s CORRECT?
BEQ AA7
MoV N#AAPAT3 RO ;DID (BUT FT) TAIL
MOV #AADATO,R1
MOV #6 R2
AAS: P (RO)+,(R1)+
BEQ AA6
BR AAERR1 ;DATA ERROR
AAG: so8 R2,AAS
JMP HAAERR? ;(BUT FT) ERROR

AA7: So8 R2.AAG

;NOW TEST DOUBLE FLOATING ROUND MODE.
;A 1 SHOULD BE ADDED TO THE LSB ON ROUNG MUDE.

AA10:
LPERR SET UP THE LOOP ON ERROR ADDRESS.
MOV #3200 ,RO SET FD FIV FIV. FT-0
LDFPS RO
MOV #AAPATO RO
LDD (RO) ,ACO ;SET UP ACO OPERAND
MOV #AATT, NS TMP?
MOV #AAPATT RO

AA11:  ADDD  (RO),ACO ;TEST INSTRUCTION

*SHOULD ROUND

AA12: MOV #AADATO,RO
STD ACO, (RO) ;GET THE RESULT
MOV lAAPATS.RT
MOV #4 R2

AA13: Ec;g; (R6)+ (R1)+ :CORRECT?
MOV cwmz RO :DID (BUT FT) FAIL?
MOV #AADATO.R1
MOV #4 R2

AATL:  CMP (ROY+, (R1)+

SEQ 0093




CJKDCB~A KEF11-A FP D]AG PART 1 MACYTI 30%(1052)

CJKD(B.P1

022320

022354

022356

022410

022612
022412

022614
022420
022422
022626
0c2632
022434
022436
022442
022446
022452
022654

022512

001413
012700
012701
012702

172010

170011

012700
174010

12-MAR-80 15:26

023110
023040
000004

003200
023050

022410
023120

023040
023130
000002
023070
023040
000002
023140
001236

062524

000010

001236

AA15:

AA16:
AA17:
AA20:

SNOW

AA21:

AA22:
AAZ23:

AA2G :

AA2S:

AA26:
AA27:

;COME HERE IF A

AA17
#AAPATG RO
#AADATO.R1

#4 R2

(ROY+, (R1)+
AA16

AAERR3  ;FLOWS?

D 8
12-MAR-80 15:31 PAGE 80
ADDr AND ADDD WITH E(AC)=E(FSRC) TEST AND (BUT FT) TEST

;WAS THE FLOATING
s CONSTANT USED
;INSTEAD OF THE
;DOUBLE CONSTANT
;IN THE ROUND

AA15 :DATA ERROR
AAERRS  ; CONSTANT ERROR

,AAT4
AAERRS ; (BUT FT) ERROR

R2.AA13

TEST ADDF WITH FT=0, ROUND MODE

LPERR

AAERR(O: MOV

10%:
1%:

TST
P
BEQ
JMP

STST
P

#3200, R0
RO

NAAPATO RO
(RO),ACO

NAA22 , NS TMP2
#AAPATS RO
(RO) ,ACO

#AADATQ,RO
ACO, (RO)
NAAPATG R1

#2,R2
(RO)+, (R1)+
AA27
WAAPAT2 RO
#AADATO .R1
#2,R2
(ROY+. (R1)
26
R2

R2,AA26
aFAADONE

;JSET UP THE LOOP ON ERROR ADDRESS.

JFIv=1, FIv 1, FT=0

;LOAD ACO OPERAND
JENTER FLOATING MODE

sTEST INSTRUCTION
sSHOULD ROUND

JRESET TO DOUBLE
:MODE
JGET THE RESULT

;CORRECT?

;WAS THE DOUBLE
;CONSTANT USED INSTEAD
;OF THE FLOATING
;CONSTANT IN THE

AA :ROUND FLOWS?
AAERRG  ;DATA ERROR

AA2S
AAERR7 ;CONSTANT ERROR

TRAP OCCURS TO 244.

NS TMP2 RO

:SEE IF THE TRAP WAS

(RO>+ ;AT A TEST INSTRUCTION

RO, (SP)
19
a#f PSPUR

RO
RO,#10

:GET FEC

SEQ 009«
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26 3 ADDF AND ADDD WITH E(AC)=t (FSRC) TEST AND (BUT FT) TEST

(JxD(B.P11 12-MAR-80 15:
6323 022516 001405 BEQ 20%
6326 022520 020027 000012 (MP RO, #12
6325 022524 001410 BEQ 308
6326 022526 000766 BR 10%
4327 022530 022532 208
6328 022532 011637 001236 20%: MOV (SP) ,a#8TMP2
6329 022536 022626 (€ (SP)+,(SP)+
4330 022540 104002 21%: ERROR 2
6331 022542 000137 023140 25%: JMP aNAADONE
6332 022546 011637 001236 30%: MOV (SP) ,aN$TMP2
6333 022552 022626 cMP (SP)+,(SP)+
4334 022554 104002 31s: ERROR 2
2%%2 022556 000771 BR 25%
6337 ;ADDD RESULT INCORRECT
4338 022560 012737 023070 001246 AAERR1: MOV W#AAPATZ ,ans TMP6
4339 022566 012737 023050 001242 AAER10: MOV #AAPATO, an$ TMPS
64340 022574 012737 023060 001240 MOV NAAPAT1 a#STMP3
4341 022602 012737 023040 001244 MOV #AADATO NS TMPS
4342 022610 104002 1$: ERROR 2
6343 022612 000552 B8R AADONE
6344 022614 012737 023070 001246 AAERRZ: MOV WAAPATZ ,aNSTMPG
4345 022622 012737 023050 001242 MOV NAAPATO ,anSTMPS
4346 022630 012737 023060 001240 MOV NAAPAT ,a¥STMP?
4347 022636 012737 023040 001244 MOV #AADATO, VS TMPS
4348 022644 104002 1%: ERROR 2
4349 022646 000534 B8R AADONE
4350 022650 012737 023100 001246 AAERR3: MOV WAAPATS , ¥ TMPG
4351 022656 000743 B8R AAER10
4352 022660 012737 023100 001246 AAERR4: MOV NAAPATS  3FSTMPE
4353 022666 012737 023050 001242 MOV NAAPATO , 3FSTMPS
4354 022674 012737 023060 001240 MOV NAAPATY , FSTMP3
«355 022702 012737 023040 001244 MOV #AADATO ., SIS TMPS
4356 022710 104002 18: ERROR 2
4357 022712 000512 B8R AADONE
4358 022714 012737 023100 001246 AAERRS: MOV FAAPATS ,NSTMPS ;
4359 022722 012737 023050 001242 MOV NAAPATO . 348 TMPL
4360 022730 012737 023060 001240 MOv FAAPAT 1, 348 TMP3
4361 022736 012737 023040 001244 MOV #AADATO , a¥$TMP5
4362 022744 104002 1$: ERROR 2
4363 022746 000474 B8R AADONE
64364 022750 012737 023120 001240 AAERRG: MOV NAAPATS NS TMP3
4365 022756 012737 023050 001242 MOV FAAPATO ,aNFS TMPS
4366 022764 012737 023040 001244 MOV #AADATO ,3¥STMPS
4357 022772 012737 023130 001246 MOV NAAPATG , NS TMPO
4368 023000 104002 1%: ERROR 2
64359 023002 000456 B8R AADONE
64370 023004 012737 023120 001240 AAERR7: MOV FAAPATS  aWSTMP3
4371 023012 012737 023050 001242 MOV NAAPATO NS TMPS
4372 023020 012737 023040 001244 MOV #AADATO ,a¥$ TMPS
4373 023026 012737 023130 001246 MOV FAAPATES ¥ TMPS
6374 023034 104002 18: ERROR ¢
6375 0230% 000440 BR AADONE
4376 023040 000000 AADATO: 0
4377 023042 000000 0
4378 023044 000000 0

1

;OVERFLOW
JUNDERFLOW

;REPORT OVERFLOW ERROR

JREPORT UNDERFLOW
; ERROR

;(BUT FT) FAILED.

;DATA ERROR.

;BAD CONSTANT

;(BUT FT) FAILED.

;FD=0 AND
:DATA ERROR

o CONSTANT ERROR

SEQ 0095
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CJkD(B.P11
4379 023046

4380 023050
6381 023052

44609 023140

6425 023142

4427 023144
4428 023144
4429 023146

12-MAR-80 15:26

000200

%

—
&~

003200
0231764 001236
024576

S389RE7

N — N
NNNNON?

O—=0OQ=O=

024616

™ ADDF AND ADDD WITH E(AC)=E(FSRC) TEST AND (BUT FT) TEST

0
AAPATO: 800

0

0
AAPAT1: SOO

9
AAPAT?: 800

0

0
AAPATZ: 400

0

?
AAPATS : 800

800000
AAPATS : ;00

0

0
AAPAT6H: ?00

0

0
AADONE :

RSETUP ;G0 INITIALIZE THE FPS AND STACK:; AND

sSEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOF TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

SRR RA AR AR AR A R RN AR AR LR RN N AN AN A AR RN R AR AN RN RN AARCRR AR R RRS

TeTEST 32 ADDF AND ADDD WITH E(AC) LESS THAN E(FSRC) TEST
- %

;*THIS IS ATEST OF THE ADDD AND ADDF
s*INSTRUCTIONS AND THE ALIGN AC ALGOR]THM
;«FLOWS. THE CONSTANT (25 FOR FLOATING, 57 FOR
;*DOUBLE) USED IS CHECKED. THEN SIMPLE

s*AND WORST CASE AL JGNMENT SITUATIONS ARE
;*TRIED. NOTE E(AC) IS LESS THEN E(FSRC)

-

L
':.tt.'lﬁtt't..t.ittt"tttttittlﬁlttlli'tl.ti..ti.t.ttttit.ttlttt

1ST32: SCOPE
;EXPONENT DIFFERENCE=57=71 (OCT) FD=?

C1:
LPERR sSET UP THE LOOP ON ERROR ADDRESS.
MOV #3200 ,R4 JSET FIV,FIV, AND FD
LDFPS R4

MOV #CC2, NS TMP?
MOV #CcPO,RO
LDD (RO) ,ACO

;SET ACO OPERAND
ACO
MOV #CCP2,RO

SEQ 0096




G 8
“LKD(B=A nFF11-A 5P D]AG PAR™ " MA(YN 30A(1052) 12-MAR-80 15:31 PAGE 83
132 ADDF AND ADDD WITH E(AL) LESS THAN E(FSRC) TEST

(JRC(B.PI

4,35
636
0637
6438
639
(660
464
5642
4643
L4464
44645
w'n‘ob
&4b?
6448
4449
4450
4651
4452
46453
46654
4455
4656
6457
4458
4459
4460
6461
4462
4463
4464
4465
4466
4467
4468
4469
4470
47
6472
4473
L4474
4475

023174
023175
02320C
02

12-MAR-B0 15:26
172010
170205
012700 024566
176010
012701 024616
012702 000004
022021
001415
012700 024566
012701 024576
012702 000004
000137 024164

000137 024222
000137 024130

012704 003200

012737 023316
012700 024576

012700 024606

012700 024566
012701 024666
012702 000006

012700 024566
012701 024606
012702 000004
000137 024260

000137 024276
000137 024130

012737 023440
012700 024576

]
012704 003000

001236

001236

(c2: ADDD (RO) ,ACO
STFPS RS
MOV #CCDATO,RO
STD ACO, (RO)
MOV #CCR2 R1
MOV ¥4 R2

cc3: c™P (Rb)* (R1)+

cCé
MOv #CCDATO,RO
MOV #CCPY,RT
MOV 6 ,R2

CC4: P (R6)¢ (R1)+
BEQ ccsS
JMP S#CCER1
ccS:  soB R2,(C4
MNP NCCER?
Cc6:  SoB R2,((3
cMP R4 RS
8EQ cc?
P CERO ;BAD
EE;PONENT DlFFERENCE=56=7O (ocT) fp=1
LPERR
MOV #3200,R4
LDFPS  Ré&
MOV #CC8, aNSTMP?
MOV #CCPO.RO
LDD (RO) ,ACO
MOV #cCcPi,RO
cc8:  ADDD  (RO).ACO
STFPS RS
MOV #CCDATO,RO
STD ACO, (RO)
"oV #CCP7.RI
MOV 24 R2
cC9: M (RO)+, (R1)+
BEQ €c12
MOV #CCDATO,RO
MOV :ccp1 Rri
MOV 24 R2
€C10:  C™P (Rb)f (R1)+
BEQ ccn
NS SNCCER3
ccil:  so8 R2,(C10
3 a4 CERG
€Cc12: So8 R2.((9
P R4 RS
8EQ cci3

€c13:
LPERR
MOV #CC14, NETMP2
MOV #(CPO.RO
LDD (RO) ,ACO
MOV #3000, R4

éEST INSTRUCTION
;GET THE RESULT

;IS IT CORRECT

;DID A BAD
;CONSTANT (NOT S57)
JGET GENERATED

sFOR THE ALIGNMENT
cFLOWS?
:DATA ERROR.D

;BAD CONSTANT.D
;FPS CORRECT?

FPS.

JSET UP THE LOOP ON ERROR ADDRESS.
SSET FIV,FIV, AND FD

;SET ACO OPERAND

JFSRC

JTEST INSTRUCTION
;GET FPS

;GET THE RESULT

IS 1T CORRECT

;DID A BAD
;CONSTANT (NOT 57)
;GET GENERATED

FOR THE AL IGNMENT
;FLOWS?
:DATA ERROR.D

JBAD CONSTANT.D
JFPS CORRECT?

g PONEN#HGIFFERngEESg=31 (OCT):?SEOFPS
JSET UP THE LOOP ON ERROR ADDRESS.
;SET UP ACO OPERAND.

JSET FIV,FIV. CLEAR FD.

SEQ 0097

8




(JxD(B-A KEF11-A FP DIAG PART 1 MACY1 30?51052)

CJKD(B.P11

4491
£492
4493
4694
4495
4496
4497
4498
4499
4500
4501
4502
4503
4504
4505

12-MAR-80 15:26

000137

104414

024656

024566
024656
000002

024566
024626
000002
024334
024370

024146

023564
024626

003000
024646

024566
024676
000002

024566
0246646
000002

024424
024442

024146

001236

(C14:

cC15:

CC16:

cc1?7:
CC18:

cc19e

€C20:

cel:

cee:

£23:
CC24:

H 8
12-MAR-80 15:31 PAGE 84
ADDF AND ADDD WITH E(A(C) LESS THAN E(FSRC) TEST!

LDFPS R4
MOV #CCP6,RO
ADDF (RO) ,ACO
STFPS RS

SETD

MoV #CCDATQ,RO
STD ACO, (RO)
MoV lCCP6 R1

MOV #2 R2
c™P (ROY+, (R1)+
BEQ cc18

MOV #CCDATO,RO
MOV #CCP3,R1

MOV #2,R2
P (RO)+, (R1)+
BEQ cc1z

JMP NCCERS
S08 R2,CC16
JMP a¥CCERG
So8 R2,CC15
Cm> R4, RS
BEQ cC19

:EXPONEN#MBIFFER?‘EE£§283O (OCT):?QEO
: ;SET UP THE LOOP ON ERROR ADDRESS.
;SET UP ACO OPERAND.

JSET FIV,FIV. CLEAR FD.

;FSRC
JTEST INSTRUCTION

JREENTER DOUBLE MOVE
JGET THE RESULT

;IS THE RESLT CORRECT?

MOV #CC20,308TMP2
Moy CCPSRO
MOV 03006 4

MOV OCCPS RO
ADDF (RO) ,ACO
STFPS RS

MOV #CCDATO,RO
STD ACO, (RO)
MOV #CCP10.R

#2 .R2
™ (ROY+, (R1)+
€C24
MOV #CCDATO,RO
MOV #CCPS RT
”2 R2
™ (RO)+. (R1)+
BEQ €c23

JMP a#CCER7
so8 R2,CC22

<cFSR(
JTEST INSTRUCTION

JREENTER DOUBLE MOVE
;GET THE RESULT

;IS THE RESULT CORRE(T?

JWAS A BAD CONSTANT
JUSED (NOT 25) IN
;THE ALIGN FLOWS?
;DATA ERROR F

;BAD CONSTANT F

FPS,

;WAS A BAD CONSTANT
JUSED (NOT 25) IN
sTHE ALIGN FLOWS?

;DATA ERROR F

JMP MCCESB BAD CONSTANT F

So8 R2
cMP RG RS
BEQ €cos

ERSO

JMP a#CC
é%é?ONENT DIFFERENCE=1 FD=1

LPERR

JBAD FPS.

;SET UP THE LOOP ON ERROR ADDRESS.

SEQ 0098




CJKDCB-A KEF11-A FP DIAG PAPg 1T MACYT 30»;51052)

CJKDCB.P1? 12-MAR-80 15
6547 023662 012704 003200 MOV #3200,Ré sSET FIV.FIV, AND FD
4568 023666 170104 LDFPS  R&

4549 023670 012737 023710 001236 MOV #CC26, NS TMP2

4550 023676 012700 (24576 MOV #CCPO.RO ;SET ACO OPERAND
4551 023702 172410 LDD (RO) ,ACO

4552 023704 012700 024626 MOV #CCPS,RO :FSRC

4553 023710 172010 CC26: ADDD  (RO),ACO rEsr INSTRUCTION
4554 023712 170205 STFPS RS *GET FPS

4555 023714 012700 024566 MOV #CCDATO,RO GET ms RESULT
4556 023720 174010 STD ACO, (RO)

4557 023722 012701 024706 MOV #CCP11.R1 ;1S IT CORRECT
4558 023726 012702 000004 MOV 25 R2

4559 023732 022021 €C27: C™P (RO)+, (R1)+

4560 023734 001415 BEQ cc30

4561 023736 012700 026566 MOV #CCDATO,RO ;DID A BAD

4562 023742 012701 024626 MOV #CCP3RI *CONSTANT (NOT 57)
4563 023746 012702 000004 MOV #6 R *GET GENERATED
(564 023752 022021 €C28: C(MP <R6>+ (R1)+ ‘FOR THE AL JIGNMENT
4565 0237564 001402 B8t €C29 SFLOWS?

4566 023756 000137 026476 JMP ¥CCER1O *DATA ERROR.D
4567 023762 077205 €c29: SOB R2,((C28

4568 023764 000137 026514 P NCCER ;BAD CONSTANT.D
4569 023770 077220 €c30: SOB R2,((C27

4570 023772 020405 (4 R4 RS JFPS CORRE(CT?
4571 023774 001402 8EQ cch

4572 023776 000137 024130 JMP NCCERD ;BAD FPS.

4573 :EXPONENT DJFFERENCE=100=144 (OCT) FD=1

4574 026002 €c31:

4575 024002 104414 LPERR :SET UP THE LOOP ON ERROR ADDRESS.
4576 024004 012704 003200 v #3200 ,R4 ;SET FIV,FIV, AND FD
4577 024010 170104 LDFPS  R&

4578 026012 012737 024032 001236 MOV #CC32,aNSTMP?

4579 024020 012700 024576 MOV #(CPO,RO :SET ACO OPERAND
4580 026026 172410 LDD (RO) ,ACO

4581 026026 012700 024636 MOV #CCPL,RO ;FSRC

4582 024032 172010 CC32: ADDD  (RO),ACO resr INSTRUCT JON
4583 024034 170205 STFPS RS “GET FPS

4584 026036 012700 024566 MOV #CCDATO,RO SGET THE RESULT
4585 024042 174010 STD ACO. (ROS

4586 024046 012701 024636 MOV #CCPG R ;1S IT CORRECT
4587 024050 012702 000004 MOV #4 R2

4588 024 022021 €c33:  (MP (RG)+, (R1)+

4589 024056 001415 8EQ €C36

4590 026060 012700 024566 MOV ICCDATO RO :DID A BAD

4591 024064 012701 024636 MOV occpz. ri SCONSTANT (NOT 57)
4592 024070 012702 000004 MOV ¥ R2 *GET GENERATED
4593 024074 022021 CC34: CMP mb)o (R1)+ ron THE AL JGNMENT
4594 024076 001402 BEQ cc3 FLOWS?

4595 0264100 000137 024532 JMp awccemz *DATA ERROR.D
4596 024104 077205 cc35:  so8 R2,(C34

4597 024106 000137 024550 NP NCCERI3 ;BAD CONSTANT.D
4598 024112 077220 €c36: SOB R2.(C(33

4599 024114 020405 WP R4 ‘RS :FPS CORRECT?
4600 024116 001402 BEQ ccs$7

4601 024120 000137 024130 JMP aNCCERO ;BAD FPS.

4602 026126 000137 024726 cc37: UM a4 CDONE

12-MAR-80 15:31

1 8
PAGE

85
ADDF AND ADDD WITH E(AC) LESS THAN E(FSR(C) TEST

SEQ 0099




CJKD(B-A KEF11~A FP D]AG PART 1
CJKD(B.

4603

P

024130
024134
024140
024142

12-MAR-80 15:26

010437 001242
010537 001240

000137 024726

000137 024726
012737 024616
012737 024616
012737 024576
012737 024566

000137 024726
012737 024616
012737 024616
012737 024576
012737 024566

000137 024726
012737 024606
012737 024666

000137 024726
012737 024656
012737 024656
012737 024576
012737 024566

012737 024656
012737 024656
012737 024576
012737 024566

012737 024646
012737 024676
000

012737 024646

012737 024576

012737 024626
012737 024706
000632

012737 024626
012737 024706
0006

MACY1® 30A(1052)
132

(CERO:
1%:
(CER90:
1%:
001240 CCER1:
001246
001242 C(CERSO0:
001244
1%:
001240 CCERZ:
001246
001242 CCER22:
001244 s

001240 CCER3:
001246

001240 C(CCER4:
001242 CCER4GS:
1%:
001240 CCERS:
001242 CCERSS:
1$:
001240 CCER6:

1%:
001240 CCER?7:

001240 CCERS:

1%:

001240 CCER10:
001246

001240 CCER11:
001246

J 8
12-MAR-80 15:31 PAGE 86
ADDF AND ADDD WITH E(AC) LESS THAN E(FSR(C) TEST

MOV

R4, aNS$TMPS
gS.ﬁliTﬂPS

a#CCDONE
R4, aNSTMPS
gS.G’iTHPS

a#CCDONE
#CCP2,3NSTMP3

2

a#CCDONE
NCCP2,348TMP3
NCCP2 ,aN8TMPO
#CCPO,3FSTMPS
SCCDAT0.0ISTHPS

NCCP7 ,SNSTMPE

C

#CCP1 ,34STMP3
#CCP7 ,a¥8TMPE
#CCPO , aFSTMPS
gCCDATO,iﬂSTﬂPS

a#CCDONE
#CCP6,aNSTMP3
N#CCPG ,3FSTMPE
#CCPO,3NSTMPS
#CCDATO, 34 TMPS

2

CCDONE
N#CCPG,ANFSTMPS
#CCP6 , aNSTMPS
#CCPO,arsTMPS
#CCDATO,34STMPS

2

CCDONE

#CCPS , NS TMP3
#CCP10 . arsTMPS
CCERSS
#CCP5,arsSTMP3
#CCP10, 3r8TMPS
#CCDATO, a¥STMPS
5ccpo.a:srnpw

C CDONE
#CCP3, NS TMP3
#CCP11, 308 TMPE
CCERSO

#CCP3, aNSTMP3
#CCP1T,IMETMPS
CCERGG

;FPS ERROR D

;FPS ERROR F

:DATA ERROR D

;CONSTANT BAD D(B)

s CONSTANT BAD D(G)

;DATA ERROR F

;CONSTANT BAD F(B)

;DATA ERROR F

;CONSTANT BAD f (G)

;DATA ERROR D

s CONSTANT BAD D(G)

SEQ 0100




(JKDCB-A KEF11-A FP DIAG PART 1
CJKD(CB.P11 12-MAR-80 15:26

4659 024532 012737 024636
L4660 024540 012737 024636
4661 024546 000614
6662 024550 012737 024636
4663 026556 012737 024636
L4664 024564 000624
4665 026566 000000
4666 024570 000000
4667 024572 000000

4668 024574 000000
4669 024576 000200
4670 024600 000000
4671 024602 000000
4672 024604 000000
4673 024606 016200
4674 024610 000000

4675 024612 000000
4676 024614 000000

4712 024724 000000

47146 024726

MACY11 30A(1052)
132

001240
001246

001240
001246

(CER12:
CCER13:

CCDATO:
(CPO:
(CP1:
ccpPe:
CCP3:
CCP4:
CCPS:
CCP6:
ccP7:
SCP10:
CCP11:

CCP12:

CCDONE :

K 8
12-MAR-80 15:31 PAGE 87
ADDF AND ADDD WITH E(AC) LESS THAN E(FSRC) TEST

MOV
MOV
BR

MOV
MOV

80000%
o

6200

= OO0 2000

6400

o
o

1200

COOOWOOOHOO0O

>8]
[=]
o

-‘OOO?OOO
o
o

6200

8 3
o

OOOSOOO\AOO—‘O-—‘OO
O

#CCP4,3#8TMPS  ;DATA ERROR D
#CCPG4 NS TMPE

CCERSD

#CCPL,a#STMP3  ; CONSTANT BAD D(B)
#CCPL NS TMPE

CCER22

JEC(AC)=1

JE(FSRC)=E(AC) +56=57

: =71(0CT)

;E(FSRC)=E(AC)+57=58

; =72(0CT)

JE(FSRCI=E(AC) +1=2

JEC(FSRC)=E(AC)+100=101=145(0CT)

sE(FSRC) =€ (AC) +24=25=31(0CT)

SE(FSRC)=E (AC) +25=26=32(0CT)

;CCP1 RES

;CCP5 RES

;CCP3 RES

;BAD CONSTANT
JRES (CP2,CCP4

SeQ 0101




L 8
CJKDCB-A KEF11-A FP D]AG PART 1 MACY11 30A(1052) 12-MAR-80 15:31 PAGE 88
ADDF AND ADDD WITH E(AC) LESS THAN E(FSR(C) TEST

CJKD(CB.

4715
4716
4717
4718
4719
4720
6721
4722
4723

P11
024726

024730

024732
024732
024734
024740
024742
024750

024756
024762
024764
024770
024772
024774
025000
025002
025006
025012
025014
025016
025022

025024

025074

12-MAR-80 15:26

104413

000004

104414
012704
170104
012737
012737

012700
172410
012700
172010
170205
012700
174010
012701
012702

174010

003200

025570
024770

026132
026122

026102
026132
000004

025630

025570

003200

025064
026152

026122

026102

000244
001236

001236

732

RSETUP

;GO INITIALIZE THE FPS AND STACK, AND
JSEE ]F THE USER HAS EXPRESSED

sTHE DESIRE TO (HANGE THE SOF TWARE
sVIRTUAL CONSOLE SWITCH REGISTER (HAS
. THE USER TYPED CONTROL G?).

;:."'.'..'..".......""".Q.'."'.'.'....'..."."Q...".‘...t
J*TEST 33
. x

s*THIS IS A TEST OF THE ADDD AND ADDF
:*INSTRUCTIONS AND THE ALIGN FSRC ALGORITHM
FIRST THE CONSTANT USED IS CHECKED.
;*THEN SIMPLE AND WORST CASE ALIGNMENT

;*FLOWS.
s*SITUATIONS ARE TRIED,

ADDF AND ADDD WI

;*]1S GREATER THAN E(FSR(C).
. %

L]
':Qt'ﬁtttittittitt'itttt'tittﬁt"tt"tttttttttttttttttttttttttttt

TST33:

SCOPE

TH ECAC) GREATER THAN E(FSRC) TEST

NOTE E(AQ)

;EXPONENT DIFFERENCE=57=71 (OCT) FD=1

881:

882:
883:

BB4:

8B5:

JMP S#BBERO sFPS
éggPONENT DIFFERENCE=56=70 (OCT) FD=1

B887:

LPERR

LPERR
MO

32200,R4
#BBERQ  A#FPVECT
#BB2 , NS TMP?

#BBPAT2 RO
(RO) ,ACO
#ERPAT1 RO
(RO) ,ACH
RS
#BBDATO, RO
ACO, (ROS

#4 R2
(RO) ¢, (R1) +
885

SMBBERT
R2.BB4

R4 RS
886

#3200,R4
Ré&

MEB7 NS TMP?
#BBPAT4 RO
(RO) ,ACO
#BBPATT RO
ggm ,ACO

#BBDATO, RO
ACO, (RO)

;SET UP THE LOOP ON ERRCR ADDRESS.
;SET FIV FIV, AND FD

;SET UP FOR ERROR
:IN CASE THE OVER\
JUNDER FLOWS FAIL.
sSET ACO OPERAND.
:FSRC

sTEST INSTRUCTION
<GET THE RESULT
JRESULT CORRECT?

cDATA ERROR D
;WAS FPS CORRECT?

ERROR

JSET UP THE LOOP ON ERROR ADDRESS.
JSET FIV,FIV, AND FD

;SET ACO OPERAND

JFSRC

sTEST INSTRUCTION

JGET FPS

JGET THE RESULT

SEQ 0102




CJKDCB~-A KEF11-A FP D]AG PART 1 MACYI 30§§1052)

CJkD(B.P11

244
w772
6773
4774
6775
776
4W777
4778
4779
4780
4781
4782
4783
4784
4785
4786
4787
4788
4789
4790
4791
4792
4793
4794
4795

025172
025174

025200
025202
206

025250
025254

025324

12-MAR-B0 15:26

012701
012702
022021
001415

012702

026212
000004

026102
026152
000004

025666
025704

025570

025206
026112

003000
026122

026102
026112
000002

025740
025610

025304
026142

003000
026122

026102

026202
000002

001236

001236

12-MAR-80 15:31

MOV #88P10,R1

MOV ¥4 R2
BB10: (MP (RO)+, (R1)+
BEQ 8813

MOV #8BDATO, RO
MOV #88PATS R
MOV #4 R2

8811: (MP (Rb)* (R1)+

8812: SO0B R2,B811

m 8
PAGE 89
ADDF AND ADDD WITH E(AC) GREATER THAN E(FSR(C) TEST

;IS IT CORRECT

:DID A BAD
;CONSTANT (NOT 57)

:GET GENERATED

FOR THE AL IGNMENT
FLOWS?

DATA ERROR.D

;BAD CONSTANT.D
;FPS CORRECT?

sSET UP THE LOOP ON ERROR ADDRESS.
sSET UP ACO OPERAND

SSET FIV AND FIV
;CLEAR FD

<FSRC
STEST INSTRUCTION

sREENTED DOUBLE MODE.
:GET THE RESULT

:1S THE RESULT
CORRECT?

;DATA ERROR F
sIS FPS CORRE(CT?

mP SABBER3
8813: SOB R2,8810

c™P R4 ‘RS

BEQ 8314

JMP NBBEROD :BAD FPS
égxpo~e~r DIFFERENCE=25=31 (OCT) FD=0

LPERR

MOV #8815, NS TMP?

MOV #88PAT0 RO

LDD (RO) ,ACH

MOV #3000.R4

LDFPS R4

MOV #BEPAT1 RO
B815:  ADDF (RO) ,ACO

STFPS RS

SETD

MOV #BBDATO, RO

STD ACO, (RO}

MOV #BBPATO.R1

MOV #2.R2
BB16: (MP (R6>+ (R1)+

BEQ 8817

JWP SNBBERG
8817: SO8 R2.8816

WP R4 ‘RS

BEQ 8850

JMP aMBBER1O
égggﬂNENT DIFFERENCE=24=30 (OCT)

MOV #8821, MTHPZ
MOV #8BPATS RO

LDD (RO) ,AC

MOV 03006 Ré

LDFPS

MOV JBBPAT1 RO
8821:  ADDF (RO) ,ACO

STFPS RS

SETD

MOV #8BDATO,RO
STD ACO, (RO)
MOV #86P7 R1
MOV #2,R2

;FPS ERROR.

;SET UP THE LOOP ON ERROR ADDRESS.
:SET UP ACO OPERAND.
JSET FIU,FIV. CLEAR FD.

+FSRC
JTEST INSTRUCTION

sREENTER DOUBLE MODE
sGET THE RESULT

;IS THE RESULT CORRECT?

SEQ 0103




CJKDCB-A KEF11-A FP D]JAG PART 1 MA(Y1 30%%1052)

CJkD(CB.P11

4827
4828
4829
4830
4831
4,832
4833
4834
4835

025372
025374

025400
025400
025402
025410
025414
025416
025422
025424
025430
025432
025434
025440
025442
025446
025452
025454

025470

025474
025474
025476
025504
025510
025512
025516
025520
025524
025526
025530

12-MAR-80 15:26

022021

170205
012700

026102
026142
000002
025774

026012

025610

025430
003200

026162
026122
026102
026222
000004

026046

025570

025524
003200

026172
026122

026102

001236

001236

N 8
12~-MAR-80 15:31 PAGE 90
ADDF AND ADDD WITH E(AC) GREATER THAN E(FSRC) TEST

B822: (MP (RO)+,(R1)+
MOV #BBDATO,RO

MOV #2 R2
BB23: (MP (Ré)+ (R1)+

JWAS A BAD CONSTANT
JUSED (NOT 25) IN
;THE ALLIGN FLOWS?
;DATA ERROR F

;BAD CONSTANT F

BB24:  SOB R2,BB23
B825:  SOB R2,BB22

cMP R4 ‘RS
BEQ BBJ6
JMP SMRBER10 ;BAD FPS.
sEXPONENT DIFFERENCE=1
BR26:
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #BB27 NS TMP?
MOV #3200, R4
LOFPS RL :SET UP ACO OPERAND

MOV #BBPATS RO
LOD (RO) ,ACO
MOV #BRPATT ,RO :FSRC

8827:  ADDD (RO) ,ACh STEST INSTRUCTION
STFPS RS
MOV #BBDATO, RO ;GET THE RESULT.
STD ACO, (RO}
MOV #88P11 ,R1 ;1S IT CORRECT?
MOV #4 R2

8830: (MP (RO)+. (R1)+
BEQ BR31
JMP MNBBER7 :DATA ERROR D
B831: SOB R2.8830
™P R4 ‘RS ;IS FPS CORRECT
BEQ 88%2
JMP ANMBBERO
§5§§°~E~T DIFFERENCE=100=144 (OCT)
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #EBR33, AN TMP?
MOV #3200 R4
LDFPS sSET FIV.FIV AND FD
MOV deBPAre RO SSET UP ACO OPERAND.
LDD (RO) ,ACO
MOV #ERPAT1 RO :FSRC
8833: 2?235 <§o> LACh *TEST INSTRUCTION
MOV #BRDATO,RO ;GET THE RESULT

SEQ 0104
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CJxD(B.PN

4875
4876
4877
4878
4879
4880
4881
4,882
4883
4884
4885
4886
4887
4,888
4,88%
4890
4891
4892
4893
4854
4895
4896
4897
4898
4899
4900
4901
4902
4903

025604
025610
025614
025620
025622

025624
025630
025636
025644
025652
025660

174010
012701
012702

000137
010437
010537
104002
104413

: 26

026172
000004

026064

000442
001242
0C1240

026232
001242
001240

026232
026132
026132
026122
026102

026232
026152
026212

026152
026212
026122
02610

026112
026112
026122
026102

026142
026202

026142
026202
026122
026102

001242
001246
001240
001244

001242
001246

001242
001246
001240
001244

001242
001246
001240
001244

001242
001246

001242
001246
001240
001244

BB34:

B8835:

BBERO:
1%:

BBER10:
1%:

BBER1:
BBER11:
1$:
BBERZ:

BBER3:

1$:
BBERS :
BBER4O:
1%:
BBERS:

BBERG :
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ADDF AND ADDD WITH E(AC) GREATER THAN E(FSRC) TEST SEQ o1os|
STD ACO, (RO) ‘
MOV #BRPAT6 R1 ;1S IT CORRECT

MOV 4 R2

P (RO« , (R1)+

BEQ 8835 |
JmP SMMBERS :DATA ERROR D

SOB R2 .BB34

WP R4 .RS ;1S FPS CORRECT

BNE BBERO

P BBDONE

MOV RGNS TMPS ;FPS ERROR D

MOV RS.a#$TMP3

ERROR 1

RSETUP :GO INITIALIZE THE FPS AND STACK; AND

;SEE IF THE USER HAS EXPRESSED

;THE DESIRE TO CHANGE THE SOI TWARE

sVIRTUAL CONSOLE SWITCH REGISTER (HAS

:THE USER TYPED CONTROL G?). \
JMP a#BBDONE

MOV R&4 , a#$ TMPS ;FPS ERROR F

MOV R5,a#$TMP3

ERROR 2

RSETUP ;GO INITIALIZE THE FPS AND STACK; AND

;SEE IF THE USER HAS EXPRESSED
sTHE DESIRE TO CHANGE THE SOf TWARE
sVIRTUAL CONSC_E SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

JMP a#BBDONE

MOV HBBPAT? ,a#8TMP4L [ DATA ERROR D
MOV HBBPATZ , NS TMPG

MoV W#BBPAT1 , a#$TMP3

MOV #BBDATO, IFSTMPS

ERROR 2

WBBDONE
MOV NEBPATS , aNSTMPG

MOV #88P10, A4S TMP6

BR 8BER11

MOV #BBPATL,a¥STMPL ;BAD CONSTANT D
MOV #BBP10, NS TMP6

MOV FEBPATI , aNSTMP3

MOV #BRDATO . a#STMPS

ERROR 2

BR BBDONE

MOV #BBPATQ ,a#STMP4 ;DATA ERROR F
MOV #BBPATO , asSTMPS

MOV #BBPAT ,arSTMP3

MOV PDATO,NSTFPS

BBDONE
MOV ~8BPAT3, NS TMPS
MOV #ROP7 , NSTMPG
BR 88ER40
MOV NBBPAT3,a¥$ IMP4 : CONSTANT ERROR F
MOV WEBP7 , NS TMPG
MOV #EBPAT1, WS TMP3
MOV #EBDATO . a#$ TMPS
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CJxD(CB.P11

026232

12-MAR-B0 15:26

104002
000472
012737
012737

70

0006
012737
012737

026162
026122

026172
026172

001242
001246

001242
001246

1%:
BBER7:

BBERS:

BBDATO:

BBPATO:

BRPAT1:

BBPAT?Z:

BAPAT3:

BBPATS :

BBPATS:

BBPAT6:

BBP7:

88P10:

BBP11:

BRDONE :

c 9
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ADDF AND ADDD WITH EC(AC) GREATER THAN E(FSR() TEST

ERROR

2

BBDONE

#BRPATS ,a#$ TMP
JBBPAni IS TMPG
BBER11
#BBPATG . 3N TMPY
#SBPATG . 3N TMPG
BRER11

JF(AQ) =E(FSR() +25=26
H =32(0(T)

SE(FSRC)=1

E(AC)-E(FSRC)¢57-58
: =72(0CT)

JE(AC)=E(FSRC) +24=25
H =31(0CT)

sEC(AC)=E(FSR6) +56=57
: =71(0CT)

;E(AC)=E(FSR(C)+1=2
JE(AC)=E(FSRC) +100= 101

; =145(0CT)
;BBPAT3 RES

.BBPAT4 RES

;BBPATS RES

;GO INITIALIZE THE FPS AND STACK;
JSEE ]F THE USER HAS EXPRESSED
;THE DESIRE TO CHANGE THE SOF TWARE

AND

SEQ 0106
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CJKDCB

4587
4988
4989
4990
4991
4992
4993
L9954
4995
4996
4997

P

012702

003200

026266
030116

030116
030076
030216
000004

030076
030146
000004

027326
027364
000010

027310

003200

026414
030126

030116

030076

030106
000004

001236

001236

D 9
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733 ADDF AND ADDD WITH E(AC) GREATER THAN E(FSR(C) TEST

sVIRTUAL CONSOLE SwITCH REGISTER (HAS
s THE USER TYPED CONTROL G?).

.""""t't"".t".'.titi'.l...'.'ttllt.'tt..tttﬁ..t...t.tt...t

*TEST 34 ADDD WITH NEGATVE OPRANDS TEST
L 4

t«THIS IS A TEST OF THE ADDD INSTRUCTION
s*W]TH NEGATIVE OPERANDS. EVERY (OMBINATION OF
;*OPERAND SIGNS 1S TRIED.

X

.
-;ttttttttttttt'lttttttttttt'h'ttthttttttttttttttqqtqttttnnttttt.

T8T34: SCOPE
:B0TH OPERANDS NEGATIVE

DD1:
LPERR sSET UP THE LOOP ON FRROR ADDRESS.
MOV #EZOO,RQ ;SET FIO, FIV, AND fD

LDFPS R
MOV #DD2 , aNSTMP?
MOV #DDP1,R0O ;SET ACO OPERAND

.DD (RO) ,ACO
MOV #DDP1,RO

SESRC
DD2- ADDD (RO ,ACO JTEST INSTRUCTION

STEPS RS ‘GET FPS
MOV #DDDATO,RO "GET THE RESULT
STD ACO, (RO)
MOV #DDP9 . R1 ;1S 1T CORRECT
MOV #4 R2
pD3: c™P RO+, RN+
BEQ 0Dé
MOV #DDDATO,RO :DID A ADD-S
MOV #DDP4 R ‘FLOW A FAILURE
MOV #6 R2
D4 : C™P (ROY+, (R1)+
BEOQ DS ;216,442,500
JWP NDDER1 *DATA ERROR,D
0DS:  SOB R2.0D%
3 MDDER2 ;FLOW FAILURE,D

DD6:  SOB R2,0D3
BIS #10.R%

CMP R4 RS ;FPS CORRECT?
BEQ Y4 1
JMP ¥DDERO ;BAD,FPS
635 POS FSRC NEG AC=-F SRC
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #3200, R4 :SET F10. FIV. AND FD
LDFPS R
MOV #DD8 , NS TMP?
MOV #DDP2,RO ;SET ACO OPERAND
LDD (RO) ,ACO
MOV »00Pi.RO JFSPC
OD8:  ADDD  (R0).ACO TTEST INSTRUCTION
STFPS RS ‘GET FPS
MOV #DDDATO, RO ‘GET THE RESULT
STD ACO, (ROJ
MOV #DDPO,R1 ;1S IT CORRECT

MOV #4 ,R2

SEQ 0107}

|




CJKDCB-A KEF11-A FP D]AG PART 1 MACYIM 30?(1052)

CJKD(CB.

P11

12-MAR-80 15:26

022021

R
4

~—
3

027422
000004

027310

003200

026514
030116

030126

030076
030106
000004
027460
000004

027310

003200

026614
0X0136

030166
030076
030176
000004

030076
030206
000004

027516
027554

001236

001236

DD10:

oD11:

JAC NEG
DD12:

DD13:

OD17:

pD18:

DD19:

DD20:

12-MAR-80
ADDD WITH NEGATVE OPRANDS TEST

9
BEQ
JMP
S08
BIS
MmP
BEQ
JMP

FSRC POS

LPERR

15: 3

(RO)+, (R1)+
DD11
a#DDER3
R2,0D10

;2200.R4
#0013, 348 TMP2
#DDP1 .RO

(RO) ,ACO
#0DP2,RO
(RO) ,ACO

RS

#DDDATO,RO
ACO, (RO}

#4,R2
(R6)0 (R1)+

FSRC NEG

s2200.R4
#0D17 ,348TMP2
#DDP3 RO
(RO) ,ACQ

#DDP6, RO
(RO) ,ACO
RS
#DDDATQ,RO
ACO, (RO)
lDDP? R1

(Rb)« (R1)+
pD21

#DDDATO, RO
#00P8 ,R1

24 R2
(RO)+, (R1)+

DDERG

E 9
PAGE 94

:BA
/AC/ > /FSR(/

THE LOOP ON ERROR ADDRESS.
sSET FIV, F1V AND FD

JFLOW FAJLURE

JFPS CORRECT?

;BAD FPS

THE LOOP ON ERROR ADDRESS.
JSET FIU, FIV, AND FD

;SET ACO OPERAND

JFSRC

JTEST INSTRUCTION

:GET FPS

JGET THE RESULT

;IS IT CORRECT

sFLOW FAILURE 216,440,121

JEPS CORRECT?

D fPS

:SET ACO OPERAND

SESPC

JTEST INSTRUCTION
;GEY FPS

JGET THE RESULT

IS IT CORRECY

;FLOWS FATLURE
216 440,10
SGET GENERATED

;DATA ERROR,

SEQ 0108
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CJkD(B

5099
5100
5101

[V IV IV LV LV AN TV IV, TV TV, TV TV, TV TV TV, TV, 1Y TV 1V, IV |
— d e i d d o ) o ) e e e ) et ) o ) b
NONON) — d ) D e e d d b [eoYo]=]

LNNP*%LOGPQONAtﬂdhﬁdC£szMShA$2

(% 1V, IV, IV, 1V, TV ]
—b b b wd b b
!BNHUNMUNJ

NN

(VA ANV IV AN TV TV, IV, IV ]
b e md d b md md b med
EIRRRUK 2SS

ViV W
- D D b mad b b )
S HBBBDSDW
OV W20V

Vi
-
F o2 2L
Do~

AV
b md b b =
RURKZE

L1
026674

026702

026706
026706
026710
026714
026716

027126

22000 =0

o
n
o
(%, ]

027310

003200

026736
030166

030136

2384R%7

030076
030176
000004

030076
030206
000004

027612
137 027650

027310

003200

027060
030146

030150
030076
030206
000004

030076
030176

012702 000004

027706

001236

001236

F 9
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A(1052) 12-MAR-80 15:31
134 ADDD WITH NEGATVE OPRANDS TEST
DD21:  SO8 R2.DD18
c™P R4 ‘RS ;EPS CORRE(CT>
BEQ 0D22
P aNDDERO ;BAD FPS
BSSZNEG FSRC  POS JESRC/ > /AC/
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #3200 ,R4 ;SET FIO,FIV, AND FD
LDFPS  R&
MOV #DD23, aN$TMP2
MOV #DDP6 . RO ;SET ACO OPERAND
LDD (R0) ,ACO
MOV #0DP%, RO ;FSPC
DD23: ADDD  (RO),ACO STEST INSTRUCTION
STFPS RS “GET FPS
MOV #DDDATO RO “GET THE RESULT
STD ACO, (RO}
MOV #DDP7,R1 ;1S IT CORRECT?
MOV ¥4 R2
DD24:  C(MP (RO)+, (R1)+
BEO 0027
MOV #DDDATO,RO ;FLO,S FAJLURE
MOV #ODP8,R1 SCONSTANT (NOT 57)
MOV 24 ,R2 1216,062.101
DD25:  (MP (ROY, (R1)
BEQ DD26
P aNDDER7 :DATA ERROR.
DD26:  SOB R2.DD25
MNP aNDDERS
0D27-  SOB R2,DD24
P R4 ‘RS ;FPS CORRECT?
BEQ pp30
P SDDERO :BAD FPS
63%8 POS FSRC  NEG /AC/</ERSRC/
LPERR sSET UP THE LOOP ON ERROR ADDRESS.
MOV #3200,R6 :SET FIO.FIV.AND FD
LDFPS  R&
MOV #DD31,348TMP2
MOV #DDP4 . RO :SET ACO OPERAND
LDD (RO) ,ACO
MOV #0DP5 RO ;FSPC
DD31: ADDD  (RO),ACO STEST INSTRUCTION
STFPS RS SGET FPS
MOV #DDDATO, RO SGET THE RESULT
STD ACO, (RO}
MOV #DDP8,R1 ;IS IT CORRECT
MOV #4 R2
DD32: CMP (RO)+, (R1)+
BEQ DD35 ;ADD-SUB
MOV #DDDATO,RO ‘FLOWAS FA]LURE
MOV #DDP7 ,R1 SCON 216 NGO NOT 141
MOV 24 R2 ;GET GENERATED
DD33:  (MP (ROY+, (R1)+ SFOR THE ALLIGNMENT
BEQ pD34 SFLOWS?
M a¥DDERY *DATA ERROR. D

SEQ 0109
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5155 027132
027134
027140
027142
027146
027150
02715¢

027156

w
—-
wr
o

Y N ATV, TV, L SV TV, TV, TV, YV TV, TV,
OQORRRARAGR NN
AR NV SR A

o
0
o
N
~J
N
8

027216
027220

(AL, 1Y IV, TV, TV, ]
— d D i
NN NN NN
VB WIN = O

(=]

nN

~

N

-—

o

VNN N TN VBN VAW A N N NN N
b b el ed D b e ed D —h d e b ok b b e ek =D — — b D
BRIRIREC2EBBIRARERT 2B IS

o

[A)

~

N

&

5200 027334

5210 027414
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077205
027744

000010

027310

—
&

003200

027206
030156

030146

2384RF7

030076

030206
012702 000004

012700 030076
030176
000004

030002
030040
000010

000137 027310

000137 030226

012737 030116
030116
012737 030076
012737 030116

000137 030226

030116
012737 030116
012737 030076
012737 030216

001236

001240
001242
001244
001246

001240
001242
001244
001246

DD34:
DD35:

;ACO NEG
DD36:

DD37:

DD38:

DD39:

DD4O:
DD41:

DD42:
DDERO:

18:
DDER1:

1%:
DDERZ:

1%:

G 9
12-MAR-80 15:31 PAGE 96
ADDD WITH NEGATVE OPRANDS TEST

S08 R2,DD33
P MDODERIO
S0B R2,DD32
8IS #10,R%

mwe R4 RS ;FPS CORRE(T?
BEQ #0036
JMP o#DDERO :BAD FPS
FSR( POS /FSRC/</AC/
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV 03200 R4 JSET FI1O, FIV, AND FD

-
o
il
R
w
27

MOV 00037 NSTMP?
MOV #DDP5 ,RO

LDD (RO) ,ACO

MOV #DDP4 ,RO

ADDD (RO) ,ACO
STFPS RS

MOV #DDDATQO,RO
STD ACO, (RO)

MOV #DDP8 ,R1
MoV 4 R2

P (R6)+ (R1)+
BEQ DD4 1

MOV #DDDATO, RO
MOV #00P7 ,R1
MOV #6 R2

c™P (RO)+, (R1)+
BEQ DD4

8IS #10.R%
P R4 RS
8EQ 0042
JWP SMDDERO
N )

DDONE
MOV R4, FSTMPS
MOV SS ,arsTMP3

JwP S#DDDONE

MOV #DDP1 ., 3¥STMPS
MOV #ODP1 . aNSTMPS
MOV #ODDATO, ASTMPS
MOV #DDP1 , a¥STMPG
ERROR 2

P a¥DDDONE

MOV #DDP1,3¥8TMP3
MOV #DDP1 , NS TMPS
MOV #DDDATO, 3#$ TMPS
MOV #DDP9, 3#$ TMPG
ERROR 2

;SET ACO OPERAND

JFSPC

STEST INSTRUCTION
:GET FPS

JGET THE RESULT

;1S 1T CORRECT

;ADD SUB
JFLOWS FAILURES

JGET 216,062,141
ron THE *ALL [ GNMENT

FLOWS?
DATA ERROR. D

;BAD CONSTANT.D

;FPS CORRECT?
;BAD FPS
;FPS ERROR

S€c 0110
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CJkD(B.P11 12-MAR-80 15:26 ADDD W]TH NEGATVE OPRANVS TEST SEQ 0
5211 027416 000137 030226 P a#DDDONE
5212 027422 DDER3:
5213 027422 012737 030116 001240 MOV #DDP1 ,aNSTMP3
5214 027430 012737 030126 001242 MOV #DDP2 , a¥S TMP4
5215 027436 012737 030076 001244 MOV #DDDATO, NS TMPS
5216 027444 012737 030106 001246 MOV #DDPO , 3¥$TMPG
5217 027452 104002 %: ERROR 2
5218 027454 000137 030226 JMP a#DDDONE
5219 027460 DDER&:
5220 027460 012737 030126 001240 MOV #DDP2 ,3NSTMP3
5221 027466 012737 030116 001242 MOV #DDP1 ,a#STMPL
5222 027474 012737 030076 001244 MOV #DDDATO, NS TMPS
5223 027502 012737 030106 001246 MOV #DDPO, ¥STMP6
5224 027510 104002 1%: ERROR 2
5225 027512 000137 030226 JMP a#DDDONE
5226 027516 DDERS:
5227 027516 012737 030166 001240 MOV #DDPG, NS TMP3
5228 027524 012737 030136 001242 MOV #DDP3 , NS TMPS
5229 027532 012737 030076 001244 MOV #DDDATO ,a#$ TMPS
5230 027540 012737 030176 001246 MOV #DDP7 ,aNSTMPE
5231 027546 104002 1$: ERROR 2
5232 027550 000137 030226 JMP a#DDDONE
5233 027554 DDERG:
5234 027554 012737 030166 001240 MOV #DDPG , NS TMP3
5235 027562 012737 030136 001242 MOV #DDP3, aNsTMPS
5236 027570 012737 030076 001244 MOV #DDDATO ,a#$ TMPS
5237 027576 012737 030176 001246 MOV N#DDP7 ,aNSTMPE
5238 027604 104002 1%: ERROR 2
5239 027606 000137 030226 JMP @#DDDONE
5240 027612 DDER?:
5241 027612 012737 030136 001240 MOV #DDP3  SN¥STMP3
52642 027620 012737 030166 001242 MOV #DDP6 , aNSTMPS
5243 027626 012737 030076 001244 MOV #DDDATO,a#$ TMPS
5244 027634 012737 030176 001246 MOV #DDP7 ,3NSTHPE
5245 027642 104002 18: ERROR 2
5246 027644 000137 030226 JMP a/DDDONE
5247 027650 DDERS:
5248 027650 012737 030136 001240 MOV #DDP3  343TMP3
52649 027656 012737 030166 001242 MOV #DDPG ,aNS TMPL
5250 027664 012737 030076 001244 MOV #DDDATO, 34 TMPS
5251 027672 012737 030176 001246 MOV ADDP7 ,aNSTMPE
5252 027700 104002 1$: ERROR 2
5253 027702 000137 030226 JMP a¥DDDONE
5254 027706 DDER9:
5255 027706 012737 030156 001240 MOV #DDP5 ,a¥STMP3
5256 027714 012737 030146 001242 MOV #DDPL ,INSTMPS
5257 027722 012737 030076 001244 MOV #0DDATO, S4STMPS
5258 027730 012737 030206 001246 MOV #DDP8 , ¥STMPE
5259 027736 104002 1$: ERROR 2
5260 027740 000137 030226 JwP a#DDDONE
5261 027744 DDER10:
5262 027744 012737 030156 001240 MOV #DDPS , 4T TMP3
5263 027752 012737 030146 001242 MoV #DDP4 ,aNSTMP4
5264 027760 012737 030076 001244 MOV #DDDATO ,aNS TMP5
5265 027766 012737 030206 001246 MOV #DDP8, 3FSTMPS
5266 027774 104002 18: ERROR 2
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5267
5268
5269
5270

P
027776
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000137

012737
012737
012737

030226

030146
030156
030076
030206

030226
030146
030156
030076
030206

030226

MACY11 30A(1052)
134

001240
00124¢
001244
001246

001240
001242
001244
001246

DDER11:

1%:
DDER12:

1%:
DDDATO:

DDPO:

DDP1:

DDP2:

DDP3:

DDP&:

DDPS ;

DDP6:

DDP7:

DDP8:

DDPY:

12-MAR-80 15: 31

1 9
PAGE 98

ADDD W]TH NEGATVE OPRANDS TEST

JMP

06200

3 2 8 3
g8 8 N

g

01000

= OO0 =000 =2000

00400

a#DDDONE

#DDP4 NS TMP3
#DDPS , 3#% TMP4
#DDDATO, WS TMPS
#DDP8 , 3#$TMP6

2
a#DDDONE

#DDP& , NS TMP3
#DDP5 , a#$ TMPS
#ODDATO, a#$ TMPS
goopa,a:srnpb
S¥DDDONE

:=DDP2

:~=DDP1

SEXP=4
FRAC=,..110...
JEXP=3
JFRAC=,..100...
;~DDP3

+=DDP4
:DDP3+DDP6
:DDPS+DDP4
:DDP1+DDPY

SEQ (




SE 223222 RERERRRARRRRRRE2 R0 RN

v
S 2283223333220 RARNERARERRRRRRARRRRRARRRRRRERRRRERRRdRRRand

JSET UP

JSET UP
JSET FI10, Flv,

THE LOOP ON ERROR ADDRESS.
;SET Flu,

FIV, AND FD

JSET ACO OPERAND
JFSPC

;TEST INSTRUCTION
;GET FPS

;GET THE RESLLT

IS IT CORRECT?

;DID A BAD
;CONSTANT (NOT 57)
;GET GENERATED

sFOR THE ALL IGNMENT
SFLOMS?

;DATA ERROR.D

;BAD CONSTANT.D

;FPS CORRECT?
;BAD FPS

THE LOOP ON ERROR ADDRESS.

AND FD

;SET ACO OPERAND

JFSPC

JTEST INSTRUCTION
:GET FPS

JGET THE RESULT

I
J 9
CJKDCB-A KEF11-A FP D]JAG PAR] 1 MA(CY11 30A('052) 12-MAR-80 15:31 PAGE 99
CJxDCB.PIT 12-MAR-80 15:26 T34 ADDD W]TH NEGATVE OPRAMDS TEST
5323 030220 000000 0
§326 030222 000000 0
5325 030224 000000 0
gggg 030226 000005 DDDONE : RESET
gggg L#TEST 35 SUBD TEST
533C ;% TH]IS ]IS A TEST OF THE SUBD INSTRUCTION.
5331 :* BOTH A POSITIVE AND A NEGATIVE NUMBER
5§33 “w IS SUBTRACTED FROM IT SELF
§333 .
5334 ¥
§335 03023C 000004 7ST35: SCOPE
5336 N USE POSITIVE OPERANDS
5337 030232 EET:
5338 930232 104414 LPERR
5339 030234 012704 003200 MOV #3200, R4
53,0 030240 170104 LDFPS R4
§3,1 030242 012737 030262 001236 MOV NEE2 ,NSTMP?
5342 030250 012700 030742 MOV #EEPT,RO
5343 030254 172410 LDD (RO) ,ACO
§344 030256 012700 030742 MOV #EEPT,RO
53,5 030262 173010 EE2: susd  (RO),ACO
5346 030264 170205 STFPS RS
5347 030266 012700 030720 MOV #EEDATO RO
5348 030272 174010 STD ACO, (RO)
5349 030274 012701 030730 MOV #EEPO,R1
5350 030300 012702 000004 MOV #4 R2
5351 030304 022021 EE3: ™o (RO)+,(R1)+
5352 030306 001415 BEQ EE6
gggz 030310 012700 030720 MOV #EEDATO.RO
5355 030314 012701 030752 MOV #EEP2 RY
5356 030 012702 000004 MOV *4 R
5357 030324 022021 EE4: P (ROY+. (RY1)+
5358 030326 001402 BEQ EES
5359 030330 000137 030530 M M EERT
5360 030334 077205 EES:  SOB R2.EE4
5361 030336 000137 030566 P WVEEER2
5362 030342 077220 EE6: So8 R2.EE3
5363 030344 052704 000004 8IS #4 R4
5364 030350 020405 ™ R4 (RS
5365 030352 001402 8EQ EE/
5366 030354 000137 030512 JMP SFEEERD
5347 :USE NEGATIVE OPERANDS
5368 030360 EE7:
5369 030360 104414 LPERR
5370 030362 012704 003200 MOV #3200.R4
5371 030 170104 LDFPS  Ré&
5372 030370 012737 030410 001236 MOV NEES WSTMP?
5373 030376 012700 030762 MOV #EEPS.RO
53764 030402 172410 LDD mm ACO
5375 030404 012700 030762 MOV #EEPS RO
5376 030410 173010 EE8: SusD (RO), ACO
5377 030412 170205 STFPS RS
5378 030414 012700 030720 MOV #EEDATO,RO

SEQ 0713
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CJKDCB-A kEF11-A FP DIAG PART 1 MACY11 30A(1052) 12-MAR-80 15:31 PAGE 100

CJKDCB.P11 12-MAR-80 15:26 135 suBD TEST SEQ €174
5379 030420 174010 STD ACO, (RO)

§380 030422 012701 030730 MOV cespo R1 ;1S IT CORRECT?
5381 030426 012702 000004 MOV ¥4 R2

5382 030432 022021 EED: CMP (RO)+, (R1)+

§383 03043 001415 BEQ EE12

5384, 030436 012700 030720 MOV #EEDATO,RO :DID A BAD
5385 030442 012701 030772 MOV pEEPt. Ri “CONSTANT (NOT 57)
5386 030446 012702 000004 MOV “GET GENERATED
5387 030452 022021 EE10: CMP (R6)+ (R1)+ *FOR THE ALL IGNMENT
5388 030454 001402 BEQ EE1 SFLOWS?

5389 030456 000137 030624 JMP SNEEERS *DATA ERROR.D
5390 030462 077205 EE11:  SOB R2,EE10

5391 030464 000137 030662 JMP SWEEERG :BAD CONSTANT.D
§392 030470 077220 EE12: SOB R2.EE9

§393 030472 052704 000004 BIS #4.Ré

5394 030476 020405 (8 R4 RS JFPS CORRECT?
5395 030500 001402 8EQ EE13

5§39 030502 000137 030512 JMP N¥EEERD ;BAD FPS.
5397 030506 000137 031002 EE13:  JMP SNEEDONE

5398 030512 010437 001242 EEERO: MOV R4, aNSTMP :BAD FPS
5399 030516 010537 001240 MOV RS.aNSTMP3

5400 030522 104002 18: ERROR 2

5401 030526 000137 031002 JMP NEEDONE

5402 030530 EEERT:

5403 030530 012737 030742 001240 MOV #EEP1,a¥STMP3

5404 030536 012737 030742 001242 MOV #EEPT . NSTMPS

5405 030544 012737 030720 001244 MOV #EEDATO, arSTMPS

5406 030552 012737 030730 001246 MOV FEEPO, aFSTMPS

5407 030560 104002 1%: ERROR 2

5408 030562 000137 031002 JMP SNEEDONE

5409 030566 EEER2:

5410 030566 012737 030742 001240 MOV SEEP1 ,aNSTMP3

5411 030574 012737 030742 001242 MOV #EEP1 . aNSTMPL

5412 030602 012737 030720 001244 MOV #EEDATO, S48 TMPS

5413 030610 012737 030730 001246 MOV #EEPO, AFSTMPE

5414 030616 104002 1$: ERROR 2

5415 030620 000137 031002 JMP SFEEDONE

5416 030624 EEER3:

5417 030624 012737 030762 001240 MOV NEEP3,3NSTMP3

5418 030632 012737 030762 001242 MOV #EEPS, NS TMPL

5419 030640 012737 030720 001244 MOV #EEDATO, JNSTMPS

5420 030646 012737 030730 001246 MOV #EEPO, NS TMPS

5421 030654 104002 1%: ERROR 2

5422 030656 000137 031002 JMP SNEEDONE

5423 030662 EEERG:

5424 030662 012737 030762 001240 MoV #EEP3, NS TMP3

5425 030670 012737 030762 001242 MOV SEEPS . aFSTMPL

5426 030676 012737 030720 001244 MoV #EEDATO, NS TVPS

5427 030704 012737 030730 0012646 MOV #EEPO, SNSTMPG

5428 030712 104002 18: ERROR 2

5429 030714 000137 031002 JMP NFEEDONE

5430 030720 000000 EEDATO: 0

5431 030722 000000 ¢

5432 030724 000000 0

5433 030726 000000 0

543, 030730 000000 EEPO: O
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CJkD(B.P11 12-MAR-80 15:26 SuBD TEST
5435 030732 000000
5436 030734 000000 00000
5437 030736 000000 0
5+38 030740 000000 0
5439 030742 000200 EEP1: 200
56460 030744 000000 0
5441 030746 000000 0
5442 030750 000000 0
56443 030752 000400 EEP2: 400
S+44 030754 000000 0
5445 030756 000000 0
5446 030760 000000 0
5447 030762 100200 EEP3: 100200
5448 030764 000000 0
5449 030766 000000 0
5450 030770 000000 0
56451 030772 100400 EEPL: 100400
5452 030774 000000 0
5453 030776 000000 0
5454 031000 000000 0
5455 031002 EEDONE :
5656 031002 104413 RSETUP ;GO INITIALIZE THE FPS AND STACK. AND
5457 sSEE IF THE USER HAS EXPRFSSED
5458 :THE DESIRE TO CHANGE THE SOF TWARE
5459 ;VIRTUAL CONSOLE SWITCH REGISTER (HAS
5460 . THE USER TYPED CONTROL G?).
5461 L L L T T T I T T P PRSP PP PP TP PP
5522% 'TEST 36 NORMAL 1ZE ALGORITHM TEST
5464 .' THIS IS A TEST OF THE NORMAL IZE
5465 s* FLOW ALGORITHM, TWO PATTERNS ARE USED,
5466 ;v FIRST THE MINIMUM SITUATION REQUIRING ONE
5467 s LEFT SHIFT AND THEN THE MAXIMUM SITUATION
55228 ;% REQUIRING 56 SHIFTS.
‘e
5470 T
5471 031004 000004 TST36: SCOPE
5472 .USE DATA PATTERNS THAT REQUIRE ONLY ONE LEFT SHIFT TO NORMALIZE
5473 031006 FF1
56474 031006 104414 LPERR 2SET UP THE LOOP ON ERROR ADDRESS.
5475 031010 012704 003200 MOV 03200 R4 :SET FlO, FIV, AND FD
5476 031014 170104 LDFPS Ré
5477 031016 012737 031036 001236 MOV NFF2,aNSTMP2
5478 031026 012700 031330 MOV #FFP2,RO ;SET ACO OPERAND
5479 031030 172410 LDD (RO) ,ACO
5480 031032 012700 031340 MOV #FFPS,RO FSPC
5481 031036 172010 FF2: ADDD (RO),ACO TEST INSTRUCTION
5482 031040 170205 STFPS RS SGET FPS
5483 031042 012700 031300 MOV #FFDATO,RO SGET THE RESULT
548, 031046 174010 STD  ACO, (RO}
5485 031050 012701 031350 MOV NFFPS, R ;1S IT CORRECT
5486 031056 012702 000004 MOV #% R2
5487 031060 022021 FF3: (M (Rb)+ (R1)+
5488 031062 001401 BEQ
5489 031064 BR FFERZ ;BAD DATA
5490 031066 077204 FF&: so8 R2,FF3

SEQ C
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CJKDCB.P11 12-MAR-80 15:26 136 NORMAL I ZE ALGORITHM TEST SEQ 016
5491 031070 020405 (™ R4 RS sFPS CORRE(T?
$492 031072 001401 BEQ FES
5493 031074 000435 B8R FFERD ;:BAD FPS
5494 ;USE DATA PATTERNS WHICH REQUIRE 56 LEFT SHIFTS TO NORMALIZE
5495 *THE RESULT
5496 031076 FFS:
5497 031076 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
5498 031100 012704 003200 MOV #3200, Ré4 :SET FIU, FIV, AND FD
5499 031104 170104 LDFPS  R&
§500 031106 012737 031126 001236 MOV NFFG,NSTMP?
5501 031114 012700 031310 MOV #FFPO,RO :SET ACO OPERAND
5502 031120 172410 LDD (RO) ,ACO
5503 031122 012700 031320 MOV #FFPi,RO ;FSRC
5504 031126 172010 FF6:  ADDD  (RO),ACO *TEST INSTRUCTION
5505 031130 170205 STFPS RS ‘GET FPS
5506 031132 012700 031300 MOV #FEDATO,RO *GET THE RESULT
§507 031136 174010 STD ACO, (RO)
§508 031140 012701 031350 MOV #FFP4 ,R1 ;1S IT CORRECT
5509 031144 012702 000004 MOV #4 R2
5510 031150 022021 FF7: C™MP (RO)+, (R1)+
5511 031152 001401 BEQ FF10
5512 031154 000413 B8R FFER1 ;BATA
5513 031156 077204 FF10:  SOB R2.FF7
55°% 031160 020405 c™P R4 .RS ;FPS CORRECT?
5515 031162 001401 BEQ FET
5516 031164 000401 BR FFERO ;BAD FPS
gg}g 031166 000474 FF11: BR FFDONE
5519 031170 010537 001240 FFERO: MOV RS.asSTMP3
5520 031174 010437 001242 MOV R& , WS TMPS 1
5521 031200 104002 18: ERROR 2 ;
gggg 031202 000466 B8R FFDONE
5524 031204 FFER1:
5525 031204 012737 031320 001240 MOV NFFP1,aNSTMPS
5506 031212 012737 031310 001242 MOV HFFPO . NS TMPL
5527 031220 012737 031300 001244 MOV #FEDATO, NS TMPS
5508 031226 012737 031350 001246 MOV orrpa INSTMPG
5529 031234 104001 13: ERROR
gggg 031236 000137 031360 JMP mroone
5532 031242 FFER2:
5533 031242 012737 031340 001240 MOV #FFP3,48TMP3
5534, 031250 Q012737 031330 001242 MOV AFFP2.3NSTMPL
5535 031256 012737 031300 001244 MOV #EEDATO, NS TMPS
5536 031064 012737 031350 001246 MOV #FEPL , NS TMPE
5537 031272 104001 1$: ERROR 1
gggg 0%1274 000137 031360 JMP S4F FDONE
5540
5541 031300 000000 FFDATO: 0
5542 031302 000000 0
5543 031304 000000 0
ggzg 031306 000000 0

5546 031310 016000 FFPO: 16000
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12-MAR-80 15:26 136

CJKDCB.

5547
5548
5549

P

(elelolelololels]
WWU‘WUJWWWO

031346
031350
031352
031354
031356

031360

031360

000000
000000
000001
116000
000000

000500

000004

003200
031412 001236
033142

NORMAL IZE ALGORITHM TEST

0
?
FFE1: 116000
0
0
0
FFP2: 500
0
0
0
FFP3: 800400
8
FFP4: 200 sFFP4=FFPO+FFPI
8 . =FFP3+FFP4
0
FFDONE :
TST37:

:tttttttttttttttttttttttttttttltlttttttQttttttltttttttttttttt'tt."tttttt
22282 dtcat Rt dttssstadtatAl ittt ittt slisstttssd il il sdd ]
;FLOATING POINT SECOND PART

:tQtttttﬁt'ttttttttt'ﬁttt'tttt.ttt'ttt'ﬁttttttittttttttttttttttttttt.tttt
:QtlttttQ'Qt*tt"ﬁt'tﬁtt"ttt'ﬁttt‘ttlQttQtQttttttttt"'ttttt.tittttttttt

t'tlttﬁltttttt"ttttQtttttttttttttttt.ltlQtltttttttlttttttttttt

'TEST 37 ROUND\TRUNK TEST

:x THIS IS A TEST OF THE ROUND\TRUNK

i+ FLOWS. IN PARTICULAR TWO THINGS ARE TESTED:
;* FIRST A CONDITION IN WHICH ROUNDING

;% RESULTS IN THE NEED FOR RENORMALIZATION, AND
s+ SECOND THE PSW CONDITION CODES N AND

] Z BIT COMMBINATIONS

Q'tt*'.ttt‘tttttttl.'ttl.lt'tt*t'l't'tltt.'t'lllt.t".tttt'.tt.

5737 SCOPE
JROUND AND NORMALIZE TEST

HH1 :
LPERR :SET UP THE LOOP ON ERROR ADDRESS.
MOV #3200 ,R4 SSET FIU, FIV, AND ED
LDFPS  R&
« MOV AHH2 ,ANSTMP?
MOV #HHPO , RO ;SET ACO OPERAND
LDD (RO) ,ACO

SEQ 011/

|
|




CJxp(Bs.PM
031406

031504
031504
031506

031512
031514
031522
031530
031534
031536
031542
031544
031546

031612
031612

031614

012700
172010
170205
012700
174010
012701
012702

104414
012704

170104

000137

104414
012704

033152
033132
033162
000004

033132
033172
000004

032152

032220

032246

043200

031542
033062
033212

033222
033132
033202
000004

032334
100004

032402

043200

001236
000244

8 10
[ (JrD(B~A XEF11-A FP DJAG PART 1 MACY1Y 30A(1052. 12-MAR-80 15:31 PAGE 104
12-MAR-80 15:26 137

ROUND\TRUNK TEST

MOV HP1 RO
HH2: ADDD (RO) ,ACO

STFPS RS

MOV FHHDATO RO

STD ACO, (ROS

MOV MP2 R

MOV #4 R2

HH3: P RO+, (R1)+
BEQ HH6
MOV MHHDATO, RO
MOV #HP3 RI
MOV 25 R2

HHG - P (RO +. (R1)+
BEQ HHS
JMP a#HHERO

HHS : soB R2 ,HH4

HH6: so8 R2,HH3

:THIS IS A TEST OF THE ABILITY

;OF NORMALIZE TO PRODUCE A ZERO EXP. AND

FSPC :
STEST 'NSTRUCTION
£ps

GET
;GET THE RESWT
IS IT CORRECT

;DID FLOMW GO
;FROM STATE 663
;TO 313 INSTEAD
;0f TO 353

;FPS CORRECT?

;OF THE R\T ALGORITHM TO PROPERLY SET THE FPS

HH7 :
LPERR
MOV #043200, R4
LDFPS R4
MOV AHHE , NS TMP?
MOV AHHTRAP ,a#F PVECT
MOV #HHPS RO
LDD (RO) ,ACO
MOV #HHP6 RO
HH8:  ADDD (RO) ,ACO
STFPS RS
MOV AHHDATO, RO
STD ACO, (RO)
MoV #HHPS LR
MOV 24 P2
HH : ™MP <R6)+ (R1)+
8EQ HH10
JMP SH#HHER?
HH10:  SOB R2 ,HHY
BIS #100004 R4
MP R4 RS
BEQ HH11

JMP SMHHERS
sJTHIS IS A TEST OF THE R\T ALGORITHM'S

;SET UP THE LOOP ON ERROR ADDRESS.
:??g FIU.FIV,AND FD

;IN CASE UNDERFLOW
; TRAP OCCURS
;SET ACO OPERAND

;JFSPC

JTEST INSTRUCTION
;GET FPS

JGET THE RESULT

;IS IT CORRECT

JFPS CORRECT?

;ABILITY TO SET BOTH N AND Z ON A - 0 RESULT.

HH11
LPERR

MoV #0463200,R4

;SET UP THE LOOP ON ERROR ADDRES>.
JSET Flv,

FIV, AND FD

SEQ 0118




(JKD(B-A KEF11-A FP DIAG PART 1 MACY11 3
12-MAR-80 15:26

(JxDCB.P1

031706
031710
031714
031716
031722
031724
031730
031732
031734

031740
031740
031742
031746
031750
031756
031764
031770
031772
031776
032000
032002
032006
032010
832014

032

032050
032054
032056

170104

001402
000137

104414

012737

031642 001236
033242
033252

033132
033232 -
000004

033132
033202
000004
032450
032516

100014

032564

000200
031776 001236
062524 000244
033242

033242
033132
033262
000004
032632
000000
032700

003200
032076 001236

C 10
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137 ROUND\TRUNK TEST

;SET ACO OPERAND

LDD (RO) ,ACO
MOV #HPS RO :FSPC
HH12:  ADDD (RO) ,ACO STEST INSTRUCTION
STFPS RS . -GET FPS
MOV AHHDATO,RO *GET THE RESULT
STD ACO, (RO)
MOV #HHP7 R ;IS IT CORRECT
MOV #4 R2
HH13:  CMP (ROY+, (R1)+
BEQ HH16
MOV #HHDATO,RO
MOV #HHPG R1
MOV 24 R2
HH14:  CMP (RO)+.(R1)+
BEQ HH15
JMP SMHHERS
HH1S: soB R2.HH14
N3 SMHERS
HH16:  SOB R2,HH13
BIS #100014 R4 :FPS CORRECT?
c™P R4 RS
BEQ HH17
JMP SMHHERG
;ngr THAT CC ARE CLEARED BY R\T
HH17:
LPERR :SET UP THE LOOP ON ERROR ADDRESS.
MOV #00200,R4 SSET FIV, FIV, AND €D
LDFPS R&

MOV #HH18, a8 TMP2
MOV #FPSPUR ,a#FPVECT

MOV P8 RO :SET ACO OPERAND

sFSPC
HH18:  ADDD (RO) ,ACO :TEST INSTRUCTION

STFPS RS ‘GET €PS
MOV #HHDATO RO “GET THE RESULT
STD ACO, (RO}
MOV #4P10.R1 ;1S IT CORRECT
MOV #4 ,R2

HH19:  (MP RO+, (R1)+
BEQ HH20

20 éGS RS7HH19

HH20 :
BIS #00000. R4 ;FPS CORRECT?
P R4 RS
B8EQ HH1
M NHHERS

QLS?T THAT N IS SET BY R\T
LPERR :SET UP THE LOOP ON ERROR ADDRESS.

MOV #3200 ,R4 JSET FIV, FIV, AND FD
LDFPS R4

MOV W#HH22 NS TMP?

SEQ 0119

I
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CJKDCB.

5715
5716
5717

P11

032064
032070
032072
032076
032100

032402

12-MAR-80 15:26

012700 033212
172410
012700 033212
172010
170205
012700 033132

174010
012701 033272
012702 000006
022021
001402

000137 032746
052704 000010
000137 033014
000137 03330¢
010537 001252
010437 001254
012737 033152
012737 033142
012737 033132
012737 033162

000137 033302

012737 033162
000137 033302

010437 001254

012737 033162
000137 033302

012737 033202
000137 033302
010537 001252

001240
001242
001244
001246

001240
001242
001244
001246

001240
001242
001244
001246

001240
001242
001244
001246

HH2Z:

HH23:

HH24 :

HH2S :
HHERO:

1%:
MHER1:

1%:

HHEROO:

1%:
HHERZ:

1%:
HHER3:

D 10
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ROUND\TRUNK TEST

MOV #HHPS RO
LDD (RO) ACO
MOV PS5 RO
ADDD (RO) ,ACO
STFPS RS

MOV #HHDATO RO
STD ACO, (RO)
MOV #HHP11 R
MOV #4 R2

CMP (Rb>+ (R1)+
8€Q HH24

JMP SHHHERS
S08 R2 ,HH23
BIS #10,R4

CMP R4 RS

8EQ HHOS

JMP SMHHER10
WP a#HHDONE

MOV RS ,a#8TMP10

MOV MHDATO, 348 TMPS
MOV gHHPZ , SNSTMPE

JMP a¥HHDONE

MOV RS, a/8TMP10
MOV R4 ,FSTMP11

MOV P, IS THP3
MOV MHPO , IS TP,
MOV MHDATO, 3¥S TMPS
MOV 5HHP2.3’$ MP6

JMP SVHHDONE
MOV RS.,a#STMP10

MOV RG , FSTMP1 1
MOV NP1, N8 THPS

MOV PO NS TP,
MOV mHOATO, arsTMPS
MOV P2 ,ansT
ERROR 2

HP6,
MOV NHPS | arSTMPL
MOV mHDATO, NS TMPS
MOV guupa LArSTMPS
P a#HHDONE

MOV RS,ansTMP10

:SET ACO OPERAND

FSPC
TtST INSTRUCTION
SGET FPS

JGET THE RESULT

;IS IT CORRECT

;FPS CORRECT?

SEG C' .




CIKDCB-A KEF11-A FP D]IAG PART 1

CJkDCB

5771
5772

PN

032406
0326412
032420
032426
032434
032442
032444
032450
032450
032454
032460
032466
032474
032502

032756

12-MAR-80 15:26

737 033202
000137 033302

012737 033232
2003137 033302

010537 001252
010437 001254
012737 033252
012737 033242
012737 033132
012737 033232
104002

000137 033302

010537 001252
010437 001254
012737 033252
012737 033242
012737 033132
012737 033232

000137 033302

012737 033262
000137 033302

010537 001252
010437 001254
012737 033242
012737 033242
012737 033132
012737 033262

000137 033302
010537 001252

010437 001254
012737 033212

MACY11 30A(1052)
137

001240
001242
001264
001246

1%:

HHERS :

001240
001242
001244
001246

1%:

HHFRS :

001240
001242
001264
001246

1%:

HHERG:

001240

1%:
HHER7:

001240
001242
001244
001246

1$:

HHERS:
001240
001242
001244
001246
18:

HHERD:

001240

E 10
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ROUND\TRUNK TEST

MOV R4, aNSTMPI ]

MOV #HHPG ,3H#STMP3
MOV #HHPS , 3N S TMP4
MOV #HHDATO ,a# S TMPS
MOV gunp4.axsrnpo

JMP a#HHDONE

MOV R5,34%TMP10
MOV R4, aN$TMP1 1

MoV #HHPO 3N TMP3
MOV #HHPB , 3#% TMP4
MOV #HHDATO, a¥$TMPS
MOV NHHP7 ,3H$TMPG

2
JMP aWHHDONE

MoV R5,a#S$TMP10
MOV R4, aNSTMP11

MOV #HHPO ,QFSTMP3
MOV #HHPB , NS TMPS
MOV #HHDATO , 348 TMPS
MOV #HHPT7 , QNS TMP6
ERROR 2

JWP NHHDONE

2
JwP NHHDONE

Mov RS,a¥s$TMP10
MOV R4, a¥STMP11
MOV WHHPS , ¥ TMP3

SEQ 0121




LJKDLB-A KEF 1~-A FP D]AG PART 1 MACYN 30?(105()

cJxD(B.

5827
5828
5829
5830
5831

5832
5833

P11
032764

032772
033000

033102
033106

033110
033112

033220

12-MAR-80 15:26

012737 033212
012737 033132
012737 033272

000137 033302

010537 001252
010437 001254
012737 033212
012737 033212
012737 033132
012737 033272

000137 033302
013703 001236
062703 000002

000137 062524
011637 001236

022626
170201
010137 001240
170301
010137 001242

000137 033302

001242
001244
001246

001240
001242
001244
001240

1$:

HHER10:

1%:

HHTRAR:

2%:

HHDATO:

HHP1 :

HHP?:

HHP3:

HHPG :

HHPS :

F 10
17-MAR-80 15:31 PAGE 108

ROUND\TRUNK TEST

MOV MHHPS , aNSTMPS
MOV #HHDATO, 308 TMPS
MOV NHHP1 1, 34STMPG
ERROR 2

JMP aW#HHDONE

MOV RS,a¥$TMP10

MOV R4, INSTMP1 1

MOV #HHPS , NS TMP3
MOV NHHPS NS TMPS
MOV #HHDATO ,a¥S TMPS
MOV #HHP1 1, 3¥STMPG
ERROR 2

JMP SNHHDONE

MOV NSTMP2  R3

ADD #2,R3
W R3, (SP)
BEQ 1%

JMP a#F PSPUR
MOV (SP) ,aN$TMP?

cw (SP)+,(SP)+
STFPS  R1

MOV g}.alSTHPS
MOV g1.alSTHP4

JMP SNHHDONE

[« LV, ST, W11 N1 NT,N1V. |

00200

[

JWAS THE TRAP TO 244
;ON THE INSTRUCTION
JBEING TESTED?

;FAILURE OF FPS INTERRUPT
;DISABLE BIT (FID=1)
;TO INHIBIT TRAP,

HHPO + HHP1 WITH
PROPER NORMAL I ZATION

JHHPO + HHP1 WITH
;BAD NORMAL JZATION

SEQ 0122
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(uxD(CB.

P11
033222

033302

033332

12-MAR-80 15:26

000300
000000
000000
000000
100000
000000
000000
000200

000000

104413

000004

292523
NNNO"\)?
~ =N
SYRRRR

000200

033344
034376
036150

001236
000244

HHPG : 300
0
0
0
HHP7 : 8000@0
0
0
HHPS : 200
0
0
0
HHPO : 100300
0o °
0
0
HHP10: 400
0
0
0
HHP11: 800400
0
C
HHDONE :
RSETUP

610
12-MAR-80 15:31 PAGE 109
ROUND\TRUNK TEST

JHHPZ = HHPE8 + HHP9
M = HHPS + HHP6

JHHP10 = HHPS8 + HHPS

JHHP11 = HHPS + HHPS

;GO INITIALIZE THE FPS AND STACK; AND
;SEE [F THE USER HAS EXPRESSED

s THE DESIRE TO (HANGE THE SOF TWARE
sVIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

SRR R A AR RN A AR AR AR NN N AN AR N RAR AR RAR A AN NNNANNAN AN RRRARRNNRAR

tTEST 40

OVER\UNDER TEST

tTHIS IS A PARTIAL TEST OF THE OVER\UNDER
:*FLOWS. ONE OVERFLOW AND TWO UNDERFLOW
:*CONDITIONS ARE CHECKED. THE REMAINING

S*UNDERFLOW COND.

AND THE REMAINING OVERFLOW

;*COND. WILL BE CHECKED LATER USING THE

J*XXX INSTRUCTION. HERE EACH CONDITION TESTED
;*1S (HECKED BOTH WITH TRAPS ENABLED

;*(FIU=1 OR FIv=1) AND ALSO WITH TRAPS
:‘DISABLED (F1u=0 OR FIV=0).

W EAASARARARLARARRAR Rttt T SRR AT)

YSTI.O SCOPE

éé?ST OVERFLOW (ONDITION WITH TRAP DISABLER FIv=0

LPERR
MO

;SET UP THE LOOP ON ERROR ADDRESS.
;EOOJM sJCLEAR Flu, FlV, AND SET FD
#GG2,ansTMP?
#GGERO,a#FPVECT
#GGP5,RO JSET ACO OPERAND

SEQ 0123




(JRD(B-A xKEF11~A FP D!AG PART 1 MA(CY11 30A(1052)
12-MAR-80 15:26 140

C.kDCB.P1"

033564

033570
033572

172410

036150

036100
036160
000004
034474
000006

034542

001200
033452
033470
036150

036150

036100
034610

001236
000002

062524
001236
036100
036160
000004
034656
100006

034726
000010

001236
000244

MOV #GGPS RO FSRC
GG2:  ADDD (RO) ,ACO TEST INSTRUCTION
STFPS RS ‘GET FPS
MOV #GGDATC,RO ‘GET THE RESULT
STD ACO, (RO)
MOV 0GGP6 R1 2IS 1T CORRECT
MCV #6 R2
GG3: P RO+, (R1)+
BEQ 6G4
WP MGGER?
GG : So8 R2.GG3
8IS #6 R4 :FPS CORRECT?
P R4 ‘RS
BEQ 6GS
JMP HGGER?
}?S' 0¥ERFLOU WITH TRAPS ENABLED
v
GG5:
LPERR sSET UP THE LOOP ON ERROR ADDRESS.
MOV #1200 R4 *CLEAR FIU. SET FIV. AND FD
LDFPS R4
MOV #GGO, INSTMP?
MOV #GG7 . a#FPVECT
MOV #GGPS RO :SET ACO OPERAND
LDD (RO) ,ACO
MOV #GGPS5 RO SFSPC
GG6: ADDD (RO) LACO ‘TEST INSTRUCTION
CFCC *NO OVERFLOW TRAP OCCURED
MOV #GGDATO,RO
STD ACO, (RO)
P NGGER3
GG7: MOV SNSTMP2 ,R3
ADD #2,R3
P R3. (SP) :CHECK STACK DATA
BEQ 13
WP aNFPSPUR
1$: MOV (SP) ,aN$TMP2
P (SP)+, (SP)+
STFPS RS
MOV #GGDATO,RO ;GET THE RESULT
STD ACO, (RO)
MOV #GGPG,R1 :1S IT CORRECT
MOV #4 R2
GG8: (#y, o (R0)+ {R1)+
BEQ GG9
JMP aaccena
GG9: S08 R2,GG8
8IS #100006, R4 :EXACT ZERQ RESULTED IF OVERFLOW
P R4 RS “FPS CORRECT?, CHECK FER, FZ,
BEQ 13 .
NP MMGGERG
1%: MOV #10,R4
S CHECK FEC
STST RS
(M R4 ,RS

12-MAR-80 15: %1
OVER\UNDER TEST

LDD (RO) ,ACO

H 10
PAGE 110

SEQ 0124
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CJKDCB-A KEF11-A FP DIAG PART 1 MA(Y11 302(1052) 12-MAR-80 15:31 PAGE 11°

CJXDCB.P11 12-MAR=80 15:26 140 OVER\UNDER TEST SEQ 0125
5995 033574 001402 BEQ G610
$996 033576 000137 034660 ™ NGGERS
5997 ;CHECK UNDER FLOW CONDITION WITH
5998 *TRAPS DISABLED (FIU = 0)
5999 033602 6G10:
6000 033602 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
6001 033604 012704 000200 MOV #0200, R4 “SET FIU, FIV, AND FD \
6002 033610 170104 LDFPS  Ré
6003 033612 012737 033640 001236 MOV #GG11,348TMP?
6004 033620 012737 034776 000244 MOV #GGER? ,3#FPVECT
6005 033626 012700 036120 MOV #GGP2 RO ;SET ACO OPERAND
6006 033632 172410 LDD (RO) ,LACO JFSRC
60C7 033634 012700 036130 MoV #GGPS,RO 1
6008 033640 172010 GG11. ADDD  (RO),ACO STEST INSTRUCTION
6009 033642 170205 STFPS RS ‘GET FPS
6010 033644 012700 036100 MOV #GGDATO,RO *GET THE RESULT
6011 033650 174010 STD ACO, (RO)
6012 033652 012701 036140 MOV #GGP6,R1 ;1S 1T CORRECT
6013 033656 012702 000004 MOV ¥4 ,R2
6016 033662 022021 6G12: (MP (RO)+, (R +
6015 033664 001402 BEQ G613
6016 033666 000137 035072 JMP NGGERS
6017 033672 077205 G613:  SoB R2,G612
6018 033674 052704 000004 8IS #6 R4 ;FPS CORRECT?
6019 033700 020405 c™P R4 'RS
6020 033702 001402 BEQ 6614
6021 033704 000137 035140 WP ¥GGERS
6022 > CHECK UNDERFLOW CONDITION WITH
6023 *TRAP ENABLED (FIU = 1)
6024 033710 GG14:
6025 03371C 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
6026 035712 012704 002200 MOV #2200, R4 ‘SET FIU. FIV, AND FD
6027 633716 170104 LDFPS  R&
6028 033720 012737 033746 001236 MOV #GG15, NS TMP2
6029 033726 012737 033764 000244 MOV #GG16.HFPVECT
6030 033734 012700 036120 MOV #GGP2 R0 ;SET ACO OPERAND
6031 033740 172410 LDD (RO) ,ACO *FSPC
6032 033742 012700 036130 MOV #GGPS RO
6033 033746 172010 GG15: ADDD  (RO),ACO STEST INSTRUCTION
6034 033750 170000 CFCC
6035 033752 012700 036100 MOV #GGDATO,RO
6036 033756 174010 STD ACO, (RO)
6037 033760 000137 (35206 P MNGGER10
6038 033764 013703 001236 GG16: MOV STMP? R3
6039 033770 062703 000002 ADD #2 .R3
6040 033774 021603 cMP (SP).R3
6041 033776 001402 BEQ
6042 034000 000137 062524 P aNFPSPUR
6043 034004 011637 001236 18: MOV (SP), anSTMP2
6044 034010 022626 4 3 (SP)+,(SP)+
6045 034012 170205 STFPS RS ;GET FPS
6046 034014 012700 036100 MOV ¥GGDATO,RO ‘GET THE RESULT
6047 0346020 174010 STD ACO, (RO)
6048 034022 012701 036170 MOV #GGP7 ,R1 ;1S 1T CORRECT
6049 034026 012702 000004 MOV ¥4 R2

6050 034032 022021 6G17: (MP (ROY+,(R1)+




CJKDCB-A KEF11-A FP DIAG PART 1 MA(Y11 30A(()1052)

CJkDCB.P11

6106

12-MAR-B0 15:26

170305
020405
001402
000177

104414
012704
170104
012737

035254
100000

035322
000012

001272

000200
034134
035436
036120

036200
036100
036160
000004
035534

000004

035602

002200
034242

036100

035650
001236

001236
000244

001236
000244

GG18:

2$

12-MAR-80 15:31

OVER\UNDER TEST

8eq
JMP
s08
B8lS
U id
BEQ
JMP

MOV

CHECK FEC

STST
CMP
BEQ

GG18
MNGGER1 1
R2,GG17
#100000, R4
R4 ,RS

2
MNGGER12
#12,RG

RS

R<% RS

6619
3GGER13

J 10
PAGE 112

JFPS CORRECT?

s CHECK UNDERFLOU CONDITION WITH TRAPS

:DISABLED (FIU =
GG19:

6G20:

G6G21:

GG22:

GG23:

GG24:

GG25:

0

#0200,Ré
R4

;SET UP THE LOOP ON ERROR ADDRESS.
JSET FIU, FIV, AND fD

#GG20,a#S TMP?
lGGER14 oWFPVECT

#GGP2 R

(RO) ,ACO
#GGP8 RO
(R0) ,ACO
RS
#GGDATO,RO
ACO, (RO)
#GGP6 R

#4 R
(RG)+. (R1)+

NGGER16

;SET ACO OPERAND

;FSPC

:TEST INSTRUCTION
:GET FPS

:GET THE RESULT

;IS IT CORRECT

;FPS CORRE(CT?

;CHECK UNDERFLOW CONDITION WITH TRAP
SENABLED (FIU = 1)

#2200 ,R64

P
&~

;SET UP THE LOOP ON ERROR ADDRESS.
JSET FIU, FIV, AND fD

#GG24 , AN TMP?
#GG2S5 ,aNFPVECT

#GGP2 RO
(RO) ,ACO
#GGP8, RO
(R0) ,ACO

#GGDATO,RO
ACO, (RO)
MHGGERT7
NSTMP2 RO

;SET ACO OPERAND

SFSRC
sTEST INSTRUCTION

SEQ 0126
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cJxp({8.P11

6107
6108
6109

ooocoocooor
—t ok d o e e o o
_‘—l—l—l—‘—‘_‘_‘_‘_‘
Pele NTe SV J NUY Sy

034264

12-MAR-80 15:26

062700
020016

000002

062524
001236
036100
036210
000004
035716
100004

001456
000012

1%:

G6G26:

GG27:

1%:

K 10
12-MAR-80 15:31 PAGE
OVER\UNDER TEST

ADD #2,R0
cMP RO, (SP)
8EQ 18

JMP a#F PSPUR
MOV (SP) ,ansTMP?
M (SP)+,(SP)+
STFPS RS

MOV #GGDATQ,RO
STD ACO, (RO)

MOV #4 R2
P (Ré) +,(R1)+
BEQ 6G2?

cmP R4,

BEQ 18

JMP GGER20

MOV #12 R4
JCHECK FEC

113

;GET FPS
JGET THE RESULT

;IS IT CORRECT

;FPS CORRECT?

C ————————

SEQ 0127




CJKDCB=-A KEF11-A FP DJAG PART 1 MA(YN 30A61052)

CukD(B.

6128
6129
6130
6131

6132
6133
6134
6135
6136
613/
6138
6139
6140
6141

6142
6143
6144
6145

6146
6147
6148
6149
6150

P11

034360
034362
034364
034366

034372

034376
034402
034406
0344610
034412
034416
034416
034420
034424
034426
034430

034652

12-MAR-80 15:26

170305
020405
001402
000167

000137
013701

010537
010437

001372
036220
001236
000002
062524

000010

036100
036150

001240
001242
001244
001246

001240
001242
001244
0071246

001240
001242
001244
001246

001240
001242
001244
001246

$5G28:

GGERO:

5%:
10%:

1%:

GGER1 :

1%:

GGERZ:

1$:

GGER3:

1%:

L 10
12-MAR-80 15:31 PAGE 114
OVER\UNDER TEST

STST RS
™P R4 RS
B8EQ 6Go8

JMP GGER19
JWP a#GGDONE
MOV ars$TMP2 R

ADD #2.R
(WP R1. (SP)

B8EQ 10§

JMP a#FPSPUR
STST R1

MP R1,410

BNE 5$

c™P (SP)+,(SP)+

MOV #GGDATO,RO

MOV #GGDATO, 348 TMPS
MOV ?GGPb , NS TMPS

JMWP @#GGDONE

MOV RS,a¥8TMP10
MOV R4, a#$TMP1

MOV NGGPS , aNSTMP3
MoV #GGP5 ,aNFSTMPS
MOV #GGDATO ,3#$ TMPS
MOV #GGP6 , NS TMPS

2
JMP a#GGDONE

MOV RS .a¥$TMP10

MOV R4 ,aNSTMP11

MOV NGGPS , 3 TMP3
MOV #GGPS , NS TMPL
MOV #GGDATO, a8 TMPS
MOV #GGP6 , ars TMPG

2
JMP aN#GGDONE

MOV RS,a¥$TMP10
MOV RG . aFSTMP11

MOV #GGPS , aNSTMP3
MOV #GGPS | NS TMPS
MOV #GGDATO, arsTMPS
MOV #GGPG, NS TMPE

l
JMP S#GGDONE

SEQ 01728




CJKD(B~-A KEF11-A FP D]AG PART 1 MACYI BOA(1052)
CJKD(B. T40

6184
6185
6186
6187
6188
6189
6190
619N

6192
6193
6194
6195
€196
6197
6198
6199
6200
6201

6202
6203
6204
6205

6207

CRRRRRERESE

RRRRR
=0V~

6222

P11
034656

035072

035132
035134

035140
035140
035144
035150
035156

12-MAR-80 15:26

=2000000
— b b b b =D

g8
a8

010537
010437
012737
012737

001240
001242
001244
001246

001240
001242
001244
001246

001240
001242
001244
001246

001240
001262
001244
001246

001240
001242

GGER4 :
GGERS:

1%:

GGERG:

1%:

GGER?7:

5$:
108:

1%:

GGERS:

1%:

GGER9:

M0
12-MAR-B0 15:31 PAGE 115
OVER\UNDER TEST

BR GGER1

MOV RS ,a#$TMP10
MOV R4 ,a¥ST'4P11

MOV AGGP5, MSTMP3
MOV #GGPS ,aNsTMP4
MOV #GGDATO ,a¥STMP5
MOV NGGP6 ,aNS TMP6

JMP a#GGDONE

m
b+
P o]
g
n

MOV RS ,a¥3TMP10
MOV R4, a48TMP1Y

MOV #GGDATO, a¥$ TMPS
MOV #GGP6 , IFSTMPS

2
JMP a#GGDONE

P R1.(SP)
BEQ 108

™ NFPSPUR
STST  R1

C™P R1,412
BNE 58

cMP (SP)+,(SP)+
MOV #GGDATO, RO

STD ACO, (ROS

MOV #GGP3, NS TMP3
MOV #GGP2, NS TMPL
MOV #GGDATO, @48 TMPS
MOV #GGP6 , INSTMPE
ERROR 2

JMP NGGDONE

MOV R5,348$TMP10
MOV R4, aNSTMPT 1

Mov #GGP3 NS TMP3
MOV #GGP2 , aFSTMPS
MOV A#GGDATO, NS TMPS
MoV #GGP6 , NSTMPE

2
JMP a#GGDONE

MOV R5,a48TMP10
MOV R4, NSTMPT 1
MOV #GGP3, a#STMP3
MOV #GGP2 , NS TMPS

SEQ O
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CJkDCB.P11 12-MAR-B0 15:26 140 OVER\UNDER TEST SEQ 0130
62640 035164 012737 036100 001244 MOV #GGDATO ,34$TMPS
6241 035°72 012737 036160 001246 MOV #GGPG,an$TMP6
6262 035200 104002 1$: ERROR 2
g%zz 035202 000137 036220 JMP @#GGDONE
6245 035206 GGER10:

6246 035206 010537 001252 MOV R5.a#$TMP10
62647 035212 010437 001254 MOV R4, DNSTMP1 1
6248 035216 012737 036130 001240 MOV #GGP3, a4 TMP3
6249 035226 012737 036120 001242 MOV #GGP2 ,aNSTMPS
6250 035232 012737 036100 001244 MOV #GGDATO, 34 TMPS
6251 035240 012737 036170 001246 MOV AGGP7 ,aNSTMP6
6252 035246 104002 18: ERROR 2

gZZgz 035250 000137 036220 JMP S#GGDONE

6255 035254 GGER11:

6256 0352564 010537 001252 MOV R5,a#$TMP10
6257 035260 010437 001254 MOV R4 ,IN¥STMP1
6258 035264 012737 036130 001240 MOV #GGP3, NS TMP3
6259 035272 012737 036120 001242 MOV #GGP2 ,aNSTMPS
6260 035300 012737 036100 001244 MoV #GGDATO, 3NSTMPS
6261 035306 012737 036170 001246 MOV #GGP7 ,aNS$TMPE
6262 035314 104002 1%: ERROR 2

222(62 035316 000137 036220 JWP S#GGDONE

6265 035322 GGER12:

6266 035322 010537 001252 MOV RS,a#8TMP10
6267 035326 010437 001254 MoV R4 ,ANSTMPTT
6268 035332 012737 036130 001240 MOV #GGP3,arsTMP3
6269 035340 012737 036120 001242 MOV #GGP2 ,aNSTMPS
6270 035346 012737 036100 007244 MOV #GGDATO, a#STMPS
6271 035354 012737 036170 001246 MOV #GGP7 ,a¥STMPE
6272 035362 104002 18: ERROR 2

g;z 035364 000137 036220 JMP FGGDONE

6275 035370 GGER13:

6276 035370 010537 001252 MOV RS,a#8TMP10
6277 035374 010437 001254 MOV R4, aNSTMP11
6278 035400 012737 036130 001240 MOV #GGP3,arsTMP3
6279 035406 012737 036120 001242 MOV #GGP2 ,aNSTMPL
6280 035414 012737 036100 001244 MOV #GGDATO, 3#STMP5
6281 035422 012737 036170 001246 MOV #GGP7 ,aNSTMPG
6282 035630 104002 1%: ERROR 2

22232 035432 000137 036220 JWP a#GGDONE

6285 035436 013701 001236 GGER14: MOV aNSTMP2 R1
6286 035442 062701 000002 ADD #2,R1

6287 035446 020116 cwP R1,(SP)

6288 035450 001402 BEQ 108

6289 035452 000137 062524 5%: JP a#FPSPUR

6290 035456 108:

6291 035456 170301 STST R1

6292 035460. 020127 000012 CMP R1,.#12

6293 035464 001372 BNE 5%

629 035466 022626 P (SP)+,(SP)+

6295 03547C 012700 036100 Mov #GGDATO,RO
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fJKDCB.

P
035474
035476
035504

035576

035602
035602
606

035712

035716
035716

1¢-MAR-BC 1
174010
012737

010537
010437
012737

010537
010437

010537
010437

010537
010437

036160
036220

001252
001254
036120
036200
036100
036160

036220

036210
036220

001252
001256
036120
036200
036100
036210

001246

001240
001242
001244
001246

001246

001240
001242
001244
001246

001240
001242
001244
001246

1%:

GGER1S:

1%:

GGER16:

1%:

GGER17:

18:

GGER18:

1%:

GGER19:

12-MAR-80 15:31

8 1

OVER\UNDER TEST

ACO, (RO)

#GGP1 ,arsTMP3
#GGP3 , S TMPL
#GGDATO . aFs TMPS
#GGP6 , AFSTMPS

2
@¥GGDONE

RS ,a¥S$TMP10

RS, MSTMP1Y
#GGP2 ,aNsTMP3
#GGPB ,aNSTMPS
#GGDATO, 34 TMPS
#GGP6, INSTMPG

2
o#GGDONE

RS ,a¥$TMP10

R4, a¥STMP11
#GGP2 ,aNsTMP3
#GGP8 ,aNSTMP4
#GGDATO, a¥STMPS
#GGP6 ,aNSTMPE

2
@#GGDONE

RS,a#8TMP10

R4, a¥STMP11
#GGP2 ,aNsTMP3
#GGPB ,aNsTMPS
#GGDATO, a#S TMPS
#GGP9 3N TMPE

2
@#GGDONE

RS,aN#8TMP10

R4, a¥STMP1
#GGP2 ,aNsTMP3
#GGP8 , arSTMPS
#GGDATO NS TMPS
H#GGP9 , 3N TMPE

2
@#GGDONE

RS,a#8TMP10

R4, H¥STMP11
#GGP2, NS TMP3
#GGP8 , XS TMPS
#GGDATO ,a#$TMP5
AGGPS , a8 TMPE

PAGE 117

SEQ 01}
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CJxD(8.P1M

036024
036026

12-MAR-B0 15:26

036220

001252
001254

MACY11 30A(1052)
740

001240
001242
001244
001246

1$:

GGERZ20:

1$:

GGDATO:

GGP1:

GGP2:

GGP3:

GGP4 :

GGPS5:

GGP6:

GGP7 :

GGP8:

GGP9:

GGDONE :

cn
12-MAR-80 15:31 PAGE 118
OVER\UNDER TEST

ERROR
JWP

o
N
o
o

o
3

£ n
o £~
(=4
o

OOOSOOOWOOOO‘ QOO0O0O0OO0ONOOO =00
o

2
NGGDONE

RS,a#$TMP10

R4 ,2NSTMP11
#GGP2, 3N TMP3
#GGP8 , arSTMPL
#GGDATO,¥S$TMPS
5GGP9. INSTMPO
SN¥GGDONE

;OVER FLOW = GGPS + GGPS

sOVERFLOW RESULT
SUNDERFLOW RESULT
;GGP6 = GGP4_+ GGP5

GGP3 + GGP2 (FIU - O)

: = GGP3 + GGP
:GGP?7 = GGP3 + GGP2 (FIU

1D

SEQ 0132
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CJsxDCB.PN 12-MAR-B0 15:26

08 036220 104413

Pe2eRTERRRER
CBNVP NN =oB

RRLRRR
R

o

3

Y

6423 036224

6654 036356 001402
6455 036360 000137

6458 036364 104414
6459 036366 012704
6460 036372 170104

6462 036374 012700
6463 036400 172410

000200
037640

037650
036254

037654
037216

037630
037720
000004

037650
037630
000004

037256
037306
000200

037354

000200

037640

001236

140 OVER\UNDER TEST

RSETUP ;GO INITIALIZE THE FPS AND STACK; AND
cSEE ]F THE USER HAS EXPRESSED
;THE DESIRE TO CHANGE THE SOF TWARE
;VIRTUAL CONSOLE SWITCH REGISTER (HAS
;THE USER TYPED CONTROL G?).

MR LA ARl Rl il Y YY)

-TEST 41 LDCFD AND LDCDF TEST
-THIS IS A TEST OF LDCFD AND LDCDF.

* o
’

< LA RRRRRRRRRR AR R 2R 2 Rl sl e RERR]

TST41: SCOPE
;TEST FOR CORRECT AUTO INCREMENT CONSTANT.

HX1:
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #200,R4 *SET LONG INTEGER MODE
LDFPS R4
MOV #HXP1,RO
LDD (RO) ,ACO
MOV #HXP2 RO
MOV #HX2 , SFSTMP?
HX2: LDCFD (RO +,ACO
(™MP RO, #HXP2+4 :2S RO CORRECT
BEQ Hx3
JMP SHXER1
HX3:
STFPS RS :GET FPS
MOV #HXDATO, RO
STD ACO, (RO) ;GET ACO
MOV MXP7 R *SEE IF RESWLT IS
MOV #4 R2 :CORRECT
HX& : 0, o (R1)¢ (RO)+
BEG HX7
MOV :uxpz,n1 :DID FD GET
MOV #HXDATO, RO - COMPL IMENTED?
MOY #4 R2
HX5 : P (RT)+,(RO)+
8EQ HX6

JMP SMHXER?
HX6. S08 R2 ,HX5

P WMIXER3 :
HX7: so8 R2 HX4

MOV #2080 R4 :FPS CORRECT?

WP RG RS

BEQ HX8

JMP SNHXERS
SNOW TEST LDCDF

HX8:
LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MoV #200.R4
LDFPS R4

MOV #HXP1 RO
LDD (RO) ,ACO

SEQ 0133
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(JkD(B.P11 12-MAR-80 15:26 41 LDCFD AND LDCDF TEST

bbbk

64665 036402 012700 037650 MOV #HXP2 RO

ﬁgg 036406 012737 036416 001236 MOV #HXG , NS TMP2

&gg 036414 170001 SETF

gﬁ;? 036416 177420 HX9: LDCOF  (RO)+,ACO STEST INSTRUCTJON
6672 036420 020027 037660 (™P RO, #HXP2+10 ;WAS A GOOD
6473 036426 001402 BEQ Hxio *CONSTANT USED
&;45. 036426 000137 037236 JMP amxens *TO INCREMENT RO?
64676 036432 HX10:

6477 036432 170205 STFPS RS

6478 03643 012700 037630 MOV #HXDATO,RO

6479 036440 170011 SETD

6480 036442 174010 STD ACO, (RO) :GET RESULT
6681 036444 012701 037730 MOV #HXP8 R

6482 036450 012702 000004 MOV ¥4 ,R2

6483 036456 022120 HX11:  CMP (R1)+, (RO)+ ;IS 1T CORRECT?
&.gg 036456 001415 BEQ HX14

6486 036460 012701 037720 MOV MHXP7 R

6487 036464 012700 037630 MOV #HXDATO, RO

6488 036470 012702 000004 MOV #4 R2

6489 036474 022110 HX12:  CMP (R1)+, (RO) :DID FD FAIL TO GET
6490 036476 001402 BEQ HX13  COMPL IMENTED?
6491 036500 000137 037372 JMP SHXERG

6492 036504 077205 HX13:  SOB R2.HX12

&gz 036506 000137 037422 P SHXER7

2232 036512 077220 HX14:  SOB R2.HX11

6497 036514 012704 000000 MOV #0,R4 :FPS CORRECT?
6498 036520 020405 P R4 RS

6499 036522 001402 BEQ HX1S

228? 036524 000137 037354 N3 SFHXERS

ggg% sTEST GR7 IMMEDIATE MODE CONSTANT

6504 036530 HX15:

gggg 036530 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
6507 036532 012704 000200 MOV #200.R4

6508 036536 170104 LDFPS R4 SSET FD

6509 036540 012737 036556 001236 MOV #HX16, NSTMP?

6510 036546 012737 037452 000004 MOV mxené SFERRVECT

6511 036554 005001 CLR

6512 036556 177427 043243 HX16:  LDCrD cszomco

6513 036562 005201 HX165: INC R

6514 036564 005201 INC R1

6515 036566 005201 INC R1

6516 036570 012737 062556 000006 MOV #CPSPUR ,@#ERRVECT

6517 036576 020127 000003 WP R1 43 SSEE IF PC WAS
6518 036602 001402 BEQ Hxiz *CORRECT

6519 036604 000137 037506 P WMHXERT0
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12-MAR-80 15:26

{Jxb(B

P11

037010

1064614

177410

012700
174010
012701
012702
022021
001402
000137
077205

104414
012704
170104
012737
012700
172410
012700
177610

012700
174010

012701
012702
022120
001415

012701
012700
012702
022120

077220

000200

036646
037710

062556
037650
037630
037720
000004

037256

000200

036730
037710

037670

037630

037700
000004

037720
037630
000004
037540

037560

001236

000004

001236

141 LDCFD AND LDCDF TEST

HX17:
LPERR JSET UP THE LOOP ON ERROR ADDRESS.
MOV #200,R4
LDFPS R¢&

MOV #HX18, NS TMP?
MOV #HXP6 . RO
LDD (RO) ,ACO
MOV #CPSPUR ,@#ERRVECT
MOV xP2,RO
HX18: LDCFD (RO) ,ACO

MOV #HXDATO,RO

STD ACO. (RO} :GET RESULT.
MOV #MHXP7 R
MOV #4 R2

HX19:  (MP (RO)+, (R1)+ ;1S RESULT CORRECT?
BEQ HX20

JMP NHXER?
HX20:  SOB R2.HX19

A;S?T LDCFD WITH NEGATIVE OPERAND

LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
MOV #200,R4
LDFPS R4

MOV W#HX22 ,aNETMP?

MOV #HXP6 ,RO

LDD (RO) ,ACO

MOV #HXP4 RO
HX22: LDCFD  (RO),ACO

MOV #HXDATO,RO

STD ACO, (RO) sGET RESULT
MOV #HXPS5 ,R1
MOV #4 ,R2
HX23: (MP (R1)+,(ROS
BEQ HX26 \

MOV #HXP7 R1
MOV #HXDATO,RO

MOV #4 ,R2
HX24:  (MP (R1)+,(RO)+ JWAS SIGN INCORRE(T
BEQ HX25

JMP MHXERT
HX25: SoB R2,HX24

JMP SNMHXERT2
HX26: SOR R2,HX23
JTEST LDCFD 0

HX27:

SEQ 0135




JKD(B-A
CJkD(B.

6576
6577
6578
6579
6580
6581

6582
6583
6584
6585
6586
6587
6588
6589
6590
6591

6592
6593
6594
6595
6596
6597
6598
6599

P

037010
037012
037016

037020
037024
037026

037046
037052

037054

037074

037076
037102
037104
037106

037112
037112
037114
037120

037122
037126

037130
037136
037142

037144

037146
037152

037154
037160
037164
037166
037170
037174

037176

12-MAR-8D 15:26

104414
012704
170104

012700
172410
172010

012737
012700
177410

170205

012700
174010

012701
012702
022120
001402

000137

077205
012704
020405

001402
000137

104414
012704
170104

012700
172410

012737
012700
1774610
170205

012700
174010

012701
012702
022120
077205

012704

00020C

037640

037042

037640

037630

037640
000004

037610

000204

037336

000200

037710

037142

037640

037630

037640
000004

037610

000204

001236

001236

A KEF1'<~A FP DIAG PART 1 MA(Y1! 3OA(1052)
T41

HX28:

HX29:

HX30:

JTEST
HX31:

HX32:

HX33:

HX34 :

12-MAR-80 15:31
LDCFD AND LDCDF TEST
LPERR
MOV #200,Ré4
LDFPS R4
MOV #HXP1,R0
LDD (RO) ,ACO
ADDD (RO) ,ACO
MOV #HX28 , NS TMP2
MOV #HXP1 - RO
LDCFD  (RO),ACO
STFPS RS
MOV #HXDATG, RO
STD ACO, (RO)
MOV #HXP1 R
MOV #4 ,R2
c™P (R1)+,(RO)+
BEQ HX30
JMP SMHXERT 3
so8 R2 ,HX29
MOV #2064 R4
cmo R4 RS
BEQ HX$1
NP SMHXERG
LDCFD 0
LPERR
MOV #200,R4
LDFPS R4
MOV #HXP6 RO
LDD (RO) ,ACO
MOV #HX32 , NS TMP?
MOV #HXP1 _RO
LDCFD  (RO),ACO
STFPS RS
MOV #HXDATO, RO
STD ACO, (RO)
MOV #HXP1 R1
MOV »6 R2
c™P (R1)+, (RO)+
BEQ HX34
JMP SMHXERT3
SOR R2.HX33
MOV 2204 R4

G 11
PAGE 122

;SET UP THE LOOP ON ERROR ADDRESS.

sGET RESULT

;1S 1T 0?

JFPS CORRECT

sSET LUP THE LOOP ON ERROR ADDRESS.

JGET RESWLT

;1S 1T ZERG?

JFPS (ORRECT?

SEQ (136




(JKD(B~A KEF11-A FP D]AG PAR™ 1

(Jxd(B.P1

6632
6633

037202

037212

037216
037224
037230
037232

037236
037244
037250
037252

037256

300
037302

037306
037314
037322
037330
037332

037336
037342
037346
037350

037354
037360
037364
037366
037372
037400
037406
037414
037416

037422
037430

037436
037444
037446

037452
037456
037460
037464
037466

12-MAR-80 15:26

2
000137 037336
000137 037740

012737 037654
010037 001240

000137 037740

012737 037660
010037 001240

000137 037740
012737 037650
012737 037720
012737 037630
000137 037740
012737 037650
012737 037720
012737 037630
104002

000137 037740

010537 001240
010437 001242

000137 037740

010537 001240
010437 001242

000137 037740
012737 037650
012737 037730
012737 037630
000137 037740

012737 037650
012737 037730

012737 037630
104002

000137 037740
032716 000001
022716 036562

000737 062556

MACY11 30A(1052)
141

HX35:

H 11
12-MAR-80 15:31 PAGE 123
LDCFD AND LDCDF TEST

CMP R4 ,RS
BEQ Hx %S

P SNHXERS
M SMHXDONE

;RO INCORRE(T

001242 HXER1:
1%:

001242 HXERS:
1%:
;REPQRT

001244 HXER?:

001250
001246 ?éfR??:

001244 HXER3:

001250

001246  HXER33:
1%:
HXERG :

1%:

HXERS:

1%:
001244  HXERG:
001250

001246 ?ébeb:

001244  HXER7:
001250
001246

1%:

HXER9:

MoV HHXP2 +4 , NS TMPL
MOV RO, a#$TMP3
ERROR 2

Jw aFHXDONE

MOV WAHXP2+10, WS TMPL
MOV RO,a¥$TMP3

ERROR 2
JMP SAHXDONE
BAD DATA

MOV #HXP2 , QNS TMPS
MOV #HXP7 ,a#$TMP7
MOV #HXDATO,a¥$TMPO
ERROR 2

JmP SAHXDONE

MOV #HXP2 , 3#STMPS
MOV #HXP7 ,QNSTMP7
MOV #HXDATO,aNs TMPE
ERROR 2

JWP aMHXDONE

MOV RS ,3#STMP3
MOV RS, aN8TMPS
ERROR 2

JMP aHXDONE

MOV RS.aN8TMP3
MOV g4.acsrnp4

JMP aHXDONE

MOV WHXP2 , NS TMPS
MOV #HXPS ,aNS TMP7
MOV 5HXDATO,3'$THP6
JMP a#HXDONE

MOV #HXP2 , NS TMPS
MOV MHXPS , NS TMP7

MOV sHXDATO.alSTMPb
JMWP a#HXDONE

BIT #1,(SP) JSEE IF IT

BNE 1% ;AN ODD ADDRESS
P #HX165, (SP)

8EQ 1$

JMP a#(PSPUR

SEQ 0137




(JKDIB~A kKEF11=A FP D]AG PAR!
12-MAR-80 15:26

CJxD(R

P

037472

037502

037506
037512
037514
037520
037524
037526
037532
037534

037540

037610
037616
037624

037630

037650
037652
037654

037712

011637
022626
104002
000137

162701

012737
012737
000137
012737
012737

012737
012737
000137

000000
000000
000000
000000

000000
000000
000000
000000

000577
177776
177777
177776
005201
000000

000000

000000
100577
177776
177777
177776
100577
177776
000000

000000
000252
125252

001236

037740
000003

036562
001242

001240
037740

037670
037700
037272
037670
037700
03763C

037740
037640

037640
037272

1 MA(Y11 30A(1052)
141

001244
001250

001244
001250
001246

001244
001250

8
2%:

HXER10:

1%:

HXER11:

HXER12:

1%:

HXER13:

HXDATO:

HXP1:

HXP2:

HXP3:

HXP4 :

HXPS :

HXP6:

I 1
12-MAR-B80 15:31 PAGE 124

LDCFD AND LDCDF TEST SEQ 0’ 3¢
MOV (SP) ,a48TMP2
M (SP)+,(SP)+
ERROR 2

JMWP IMHXDONE

SuB #3,R1

ASL R1

MOV #HX165,R2

MOV R2.,aNSTMPL
SUB R1,R2

MC R2,.aN$TMP3
ERROR 2

N o SHHXDONE

MOV #HXP4 ,aNSTMPS
MOV AHXPS ,aWS TMP7
JMP SHXER22

MOV #HXPS , QNS TMPS
MOV AHXPS ,aN$TMP7
MOV AHXDATO, a#$ TMPS
ERROR 2

JMP a#HXDONE

MOV HHXP1,3#$TMP5
MOV AHXP1 , NS TMP7
JMWP HXERZ?2

0

0

0

0

0

0

0

0

577

177776

177777

177776

5201

0

0

0

100577

177776

177777

177776

100577

177776

0

0

252

125252
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CJKDCB~-A KEF11-A FP D]JAG PART 1 MA(CY11 30A(1052) ~MAR~

D AND LDCDF TEST SEQ 0139
52

52

CuxkD(B.P1N 12-MAR-80 15:26 LD

67664 037714 125252 1
6745 037716 125252 1
6746
6747 037720 000577 HXP?7: S
6748 037722 177776 1
6749 037724 000000 0
6750 037726 000000 g)
]
0
0

12
CF
252
252
77

77776

6751 037730 000577 HXP8:
6752 037732 177777
6753 037734 000000
6754 037736 000000

6756 037740 HXDONE :
6757 037740 104413 RSE TUP ;GO INITIALIZE THE FPS AND STACK; AND
6758 :SEE IF THE USER HAS EXPRESSED

6759 :THE DESIRE TO CHANGE THE SOF TWARE
6760 :VIRTUAL CONSOLE SWITCH REGISTER (HAS
6761 ;THF USER TYPED CONTROL G?).

77
77777

6766 R e e R  a

6767 'TEST 42 CMPD TEST

6769 'THIS IS A TEST OF THE CMPD INSTRUCTION. NOTE THAT A SUBROUTINE
6770 ."IS USED TO SET UP OPERANDS, EXECUTE THE INSTRUCTION AND CHECK THE
6771 S*RESULTS

X

.
6773 A L2222 20 RRRRRRdRRlRRRRRRR iRt RR2RRRRRRARdR R

6774 037742 000004 TST42: SCOPE
6776 A/TVE\?T THE CMPD INSTRUCTION WITH (FSRC=A(C=0)

6777 037744 :
6778 037744 104414 LPERR ;SET UP THt LOOP ON ERROR ADDRESS.
6779 037746 004737 040556 JSR PC,a#(MPSUB

0606000 000000 1%: .WORD 0.0.0.0 JACO

000000
000000
6782 037762 000000 000000 000000 2$: .WORD  0,0,0,0 ;FSRC
000000
000200
000204
200

1$: 200 ;FPS BEFORE EXECUTION
204 sFPS AFTER EXECUTION

000 200 ;ERROR FPS
6787 040000 104002 4% ERROR 2 ;FPS ERROR

6790 JTEST CMPD WITH (AC=0) AND FSRC POSITIVE.

6791 040002 AAA2 :

6792 040002 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
0004 040556 JSR PC,a#CMPSUB

000000 000000 1% .WORD 0,0.0.0 sAC

004737
000000
6796 040020 025252 2%: 25252 sFSRC
052525
5252
052525
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CJKDCB.P11 12-MAR-B0 15:26 T42 CMPD TEST SEQ 0140
6800 04003C 000200 3s: 200 ;FPS BEFORE EXECUTION
6801 040032 000200 200 JFPS AFTER EXECUTION
6802 040034 000210 210 ;ERROR FPS
%2 040036 104002 43: ERROR 2
6805 ;TEST (MPD WITH (AC=0) AND FSRC NEGATIVE
6806 040040 AAA3:

6807 0460040 104414 LPERR sSET UP THE LOOP ON ERROR ADDRESS.
6808 040042 004737 060556 JSR PC,a#CMPSUB

6809 060046 000000 000000 000000 1$: .WORD 0,0,0.,0 ;AC

6810 040054 000000

6811 040056 125252 28: 125252 ;FSRC

6812 040060 125252 125252

6813 040062 052525 52525

6814 040064 125252 125252

6815 040066 000200 3%: 200 ;FPS BEFORE EXECUTION
6816 040070 000210 210 ;FPS AFTER EXECUTION
6817 040072 000200 200 ;ERROR FPS

gg}g 040074 104002 08 ERROR 2

6820 :TEST CMPD WITH (FSRC=0) AND AC POSITIVE

6821 040076 AAAS :

6822 040076 104414 LPERR ;SET UP THE LOOP ON ERROR ADDRESS.
6823 040100 004737 040556 JSR PC. a#(MPSUB

6824 040104 025252 1%: 25252 ;AC

6825 040106 052525 52525

0826 040110 125252 125252

6827 040112 052525 52525

6828 040114 000000 0OCN000 000000 ©2%: .WORD 0,0.0.,0 sFSRC

6829 040122 000000

6830 040124 000200 3s: 200 ;FPS BEFORE EXECUTION
6831 040126 000210 210 ;FPS AFTER FXECUTION
6832 040130 000200 200 ;ERROR FPS

6833 040132 104002 4%: ERROR 2

6834

6835

6836 sTEST CMPD WITH (FSRC=0) AND AC NEGATIVE

6837 040134 AAAS :

6838 040134 104414 LPERR :SET UP THE LOOP ON ERROR ADDRESS.
6839 040136 004737 040556 JSR PC,a¥#C(MPSUB

6840 0460142 125252 1%: 125252 :AC

6841 0460144 125252 125252

6842 060146 052525 52525

6843 040150 125252 125252

6844 040152 000000 000000 000000 2%: .WORD  0.0,0,0 ;FSRC

6845 040160 000000

6846 040162 000200 3s: 200 JFPS BEFORE EXECUTION
6847 040164 000200 200 JFPS AFTER EXECUTION
6848 040166 000210 210 ;ERROR FPS

gglsog 040170 104002 6$: ERROR 2

6851 STJEST (MPD WITH AC POSITIVE AND FSRC NEGATIVE

6852 040172 AAAG :

6853 040172 104414 LPERR JSET UP THE LOOP ON ERROR ADDRES>.
6854 040174 004737 040556 JSR PC.,a#(MPSUB

6855 040200 052525 1%: 52525 JAC




L N
CJKD(B~A KEF11-A FP D]JAG PAR™ 1 MA(